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1 She’s 2 1t's 3 I'm 4 They're
1 JlE Hofl Utk 2 I HREOC
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1 His books are very funny.
2 My mother is a teacher.

3 These houses are very big.
4 Jack and Kim are friends,

0 <2= XIZ Hol=oi| Uk,
1 19 M52 012 xojUCk
» Z0{ His books7t 301& 20|22 areS £LC,
2 22| ok= Mot
» =01 My mother7t 321& 0|22 is& L),
3 0| &2 fe At
» Z0f These houses?t 321& 54022 areS £LL.
4 Jacka Kim2 zI50|Ct,
» Z0{ Jack and Kim0| 321& 240|122 areS L
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A

1 hopes 2 kisses 3 hits 4 throws 5 mixes

6 delays 7 reaches 8 applies 9 wishes

1 3Ystct 2 J|AGICH 3 x|t w2l
4 GX|ct 5 Aot 6 7|5t
7 SRS 8 =xasit 9 Hi2tt

B

1 drinks 2 worries 3 x 4 looks 5 buys

Lilye Mgg 22 7{IE DRk

» =0{ Lily7t 3213 ©==0122 SAt drink0ll -sS 2QlICt.

OFHHX|HAM = LEol CHaH Z4&SHICE

» 01 My father7t 3218 H4:0|22 SAt worry?| yS i2
HHLD -esE =CQICH

O ME2 20| EB2& o7t

CE) south &%

» =0 The birds7t 3213 80|22 SAHSES £01

JE9 A REe S HoICt,

» 201 Their new model0| 321 ©4=0|2.2 SAt lookoil
-sS =9It

O g @e Mg At

CE) a lot of &2 / every month Mg
» 0 HeZt 321 H~0|22 SA} buyol -s5 =QICt,
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A

1 was 2 were 3 were 4 was

Lhs O3 % Ol U
» 01 7} H=0121 249 Y(last night)2
ML}

LIEHHE 2 wasE

2 199000 RES! HiRS0|RAC.

» T(H TheyZt =011 1719] (in the 1990s)S LIEHHER
wereS 20

2= 29 Hofl 22 Stuwol| UUCE

» 30{ WeZt 24-0|1 142 U(two years ago)=
LIEFHEE wereE 2L

Linda= 01| =401 X|Z{34Lt,

7) be late for ~0fl £2, X|Z+5t

» 30 LindaZ} ©==0111 39| Y(yesterday)S LIEIHE R
wasE L

-

1 stayed 2 drew 3 began 4 wrote

C

Juliae= Xt 2ol Zofl UACE

CE) stay HE2LCt

» stayQ| A2 stayedOICt. (stay-stayed-stayed)
OlX R2l= &M Jgs I3

» draw@| HAEE drewo|Ct. (draw-drew-drawn)
=59 Alex= 58 80l 152 O3S AIZRICE

» begin? IAHHE beganOICh. (begin-began-begun)
MoAmOl= (20129 E2|)S ATt

» writeQ] IAHEE wroteO|Ct. (write-wrote-written)

1 went 2 got 3 paid 4 fell

J= of3iEr 11A] 30201 HXt2(0 SUC
CE) go to bed HXt2|0| ECt

» 272] Y(at 11:30 p.m. last night)S LIEHHEZ god

118 went?t HEsICE (go-went-gone)

L= 25 OFF 6AI0] OIRLCY,

get up O{LT, 7|ottt

» 14A19| Y(at 6 o'clock this morning)g LEIHEZ get
A got0| HHsIL (get-got-got[gotten])

Kate= XIt=0il 71 Mzfo2 134245 Wk

» 24749 Ullast week)S LEHHEE payo| A4 paid7t
Aol (pay-paid-paid)

A HPZE 2 20 LIRYS0| Ho 2 HoiKct

CE) ground & / heavy RH2; *2lst

» HAH9| Y(after the heavy rain)e LIEFHHEZ fall2] A3
fello] ZHstct. (fall-fell-fallen)
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1 Harry doesn't{[does not] need a rest.

2 They weren'tlwere not] in trouble,

3 Her decision wasn't{was not] wise,

4 Tigers don't{do not] eat grass,

5 You didn't[did not] look happy.

6 | didn't[did not] go to school yesterday.

Harry= §4/0] Q5. — Harry= 40| HQG6HA| 4Tt

&2

ZF0i(Harry)7t 3213 H==0| 10 UBtEAtS] SHAIH0|2 2

52 Z80 M. — 252 S0l Aot O*%Elih

o

3 T01(|'hey) 220110 beSAte BAY0IZZ 2HEHL
beZAt Holl notE 20 weren'tlwere not]S Lt
T AFE YL — 49| A™2 YK 4R
decision
Z0{(Her decision)7t 321 ©==0|11 beSAtS
IHH0|E2 B2 beSAt FHOil not2 £0{ wasn'tlwas

not]E #C

t

ZH [ wise SIESt

sH0l= ES ':'—.*t f. — 5Y0l= £ 9X| Y=Lt
F0i(Tigers)7t =4=0111 UBk=AtS] HANH0|B 2 BHH2
SAHAY 0l don'tldo not]E 2Lt
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2YY2 SAEY ?1‘01I didn‘t[did

6 Lt= OfF| SHmOj Zit — Lt OR| SH0j 7HX] eotc,
> UMSAO| PHHOIDR 2HHL SAAY U0 didn'tldid

not]E Lk,

1 didn‘t[did not] like 2 didn't[did not] keep
3 wasn‘t{was not] 4 don't{do not] sleep

1,2 carrot @2 / promise 2f%
P UUEZALS| IAHE0|DR 2HHL SAFEY A0 didn'tldid
not]S #Ct
3 EE) be afraid of ~2 F2{¥sICt / failure A4
> Z0{(He)7t 3013 H4=0|11 beSAtS| 20|22 BYEH2
besSAt F0ll notS
4 ow| S0
» Z0{(Owls)7t S4:0]10 ULtSALY] SHAHHO|Z2 &
SAHE ol don’ [do not]E L.

20 wasn'tlwas not]S #£Lt,

Y
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A

1 Was he at home, he was
2 Did Jane come here, she didn't
3 Did you find your wallet, | did

A: U g84 0r? B: ofL, 22t (L Hl 588 ZErh)
At 7Ol qAUL? B: S, Foll AU (2= Foll AAC)
> beESAt IZEL BeSAt + F0{ ~2,9] HEHO|CE
2 A:JaneO| 047101 2tAL?

B: OfL, X IU0I. (Jane 07| 2X| LQALL
3 At XIgs 2UL? B: 8, AU, (L= U XIES
2, 3 » YESAHIAAA)] Q222 Did + 0 + SAHHY
~7,9| HEHO|CE.

N

04 G-ZONE

1 No, I'm not. 2 No, they didn't. 3 Yes, it does,

1 A:y =01=X ¢44?
) thirsty S0M2
2 A:IS2 MZ 0|05 LA 242A4?
3 A: 1 JA7t RSSEK] 4L?
1~3 » 2HAZZ0I| THE THE2 SAS] HEHO SIF01 THEO|

not0| AU2SH NoZ, not0| O™ YesZ SiC}

06 2=wi3sozs
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A
1 Who 2 Where 3 When 4 Why 5 What 6 How

1 A £70 AIYOIA 01%L? B: MartinO] 012104,
» HLAS 5t ARI(EIHS 2= 0122 WhoE 20t I2A
Who= F0{0ICt.
2 A O BILILIS2 OTjOAM $HL? B: Ef=.
» Z20L)E E 20|22 WhereE £L1

3 AUz A O AAS SAU? B oA
> H(SH)E E= X0I22 WhenS £LC
4 A: U= 9f TEIO] K] 2UAL?

B: 0| €= ZX| 7| Z0|OF.
CE) feel well (12 HEI7H) 20t

1 Whose book is on the desk

2 Which do you prefer

3 What movie did you watch

4 How often do you wash your hands



1 =72 20| 24 (o] AL?
» whose + YAL £ ~
2 U DIPAERR IXt Z0IM Ol g O Z0fs6tL?
prefer Z0F5Lt, S5t
» which ~, A or B?: A%t B & 0= Z40|[%g] ~atL?
3 U= Amyet & F3HE ®L?
» what + AL 2& ~
4 U dOiLt X5 &5 MU?

» how often: L0t Xt
1~4 » 9|—'?-Af7f U= 222, beSAIRl AR TO2AL + beSAt
+ Z0f ~?,, YPHSAIR! HR O2AL + do[does/did] +

0
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A

1 He 2them 3 mine
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J&= Kate2t ™4

> 2HQ F0{0]

2 JlEs JASS MY
sale THOH; "M

> ZH FH0I2=2

3 QEX(| Q= Zo| Y
» ‘Lol s <fojot
(mine = my cup)
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1 Kim's 2 its 3 brothers’

C

1 her 2 your computer 3 It's[lt is] 4 His two sons

1 Ben2 149 £¥g
vase 28 / by accident 2215
» Flofl HAHvase)7t LREZ ‘{02t 9| ARA herS
AOF BTt
2 ORfsH. Lh7t Lol AREIE 1F WO,
» =0l BAHcomputer)7t LIRE 2 ‘149]'2}
yours MoF BtCt,
3 OJH0] L§ X Bim EFO[H]O] 0[O,
Taipei EFO[H|0](CHRIE] i)
> 2HO 02t SAUE HQGID2 [t AR Its THAL It's[lt is]
£ MOF StC},
4 719 % ot52 THstn Falstct,
» 2HO Foj0|22

015| HEL}
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inl

AR sons’ t4l =24 sonsE MOf
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A

1 girls 2 boys 3 videos 4 teeth 5 deer
6 matches 7 boxes 8 ladies 9 wolves 10 tomatoes

1 24 PARENT 3 Hge 4 0|, x|of
5 M5 6 77| 74X 8 =4
9 =qy 10 E0iE

1 » UEXOR E2HS OIS Tie 30| -s5 ECI0h

P TEF +y,2 Ells A= s 2010

> -02 Bl= AL -es T -sE 29It videos -s2
=Qlct,

» toothe] B2 teethO|C.

» deer= H23 Z
» -ch2 ELt= BAts -esS 2QUCL

> x2 BlL= SAE -esE 20IC

P S + YR Blie BAE yE IR B -esE 20ICE

> -fe)2 Bl HAtE -f(e)S -vesZ HIF/LE -sE 29ICt
wolfe -f£ -vesZ HHELY,
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10 » -02 Elt=
=2IC,

=QIC}. tomatoe= -esE

HAl= -es E= -s&

1 leaves 2 sheep 3 children 4 woman, men

1 7120l LHRUSO0| Wz L2 Hato
P 2R SAL SAEE(tu)0IE2 F0E 2450] 00
ot leafe] S22 leavesO|Ct,
2 22| SoHXlE 12 X0 12029 YS 7HRIT A Ao
> 0| £ 0|49 20| LI2E 2 HAts S470| =|0{0F 5tH

sheep2 H&1t 2430 Hel7t 2Lk
3 0|72 Mary2t J149| M| RHAS| AREIO|CE
> A0 & Ol 0| LIRD 2 YAt &

2
childel 2482 childrenO|Ct.
L.
I:I

4 StOJRIRt = EAPE HAON QT
» ot HO|ZE HAF woman2 SRR, 0| = 0149
0| LIRO 2 HAt man2 S5O 2 MO} St man2
£ men0lCh,

&
1[z] 2[iz] 31[z] 4s] 5 [iz] 6[z] 7 [z]

0,4 » PHS +-5, 0122 [5]2 Y3
1,3,6,7 » 'RY3 + -(e)s 0122 [z]2 LSFITL
2,5 » [s][2][6][{][ds] Sl w5o=2 BUBE [izZ]2 LS3int.
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A

1 Don't 2 Let's 3 Speak 4 was

X| OIA 2,
=2 Don't + SAHEE ~2 FH=Z 220}
foll Hat Haf TAL

i

~3HRY D BRE
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§OWr 4o Ho
ox Mo
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A=)

0= "Let's + SAHEE ~.2| HEHZ

06 G-ZONE

[w=)
» Z0{ an accident’t H4-HA0|22 was?}t HEo}C],

1 Don't be late for school

2 Were there any calls for me

3 Let’s not waste any more time
4 What lovely eyes he has

1 > beSAE 2 259 28 FHE2 Don't be ~2 HEIZ

2 » There areQ IAHAHE There were0|n, 9222 "Were
there ~?2,2 2L,

3 EE) waste ZH|otCt
> ~otK| YXF2h= 52 MLet's not + SAHYE ~ 2 LIEHACE

4 » Whato2 AXohs ZEE22 What + (a(n) + AL +
AL (+ 0 + SADLS HEHZ 201 E2HA0IEE a(n)E
MX| b=rt,
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A

1 entered 2 him an email 3 to win 4 strange 5 do

1 7oz S0zt
CE) enter ~0i| S0{7tCt
» =X{0{(the room)7t Q2B 2 SX0{2} & M= A
enter’} HESILE SA go= S0 Q10| A= SAHO|CH
2 Li= 207 o e 2Rt
» HH=SH0(an email)S ZHEZX0{(him) 20l M4
HR|IAP} 2B},
3 Ethan2 19| E0] 07|7|5 SSiCL,
> SAt want= FEZ HOZ toRTALS 20t
4 19 2A2|7} 0|MsH E&ICt
> LZEAF sounde 202 HEALS 2Lh £At strangely=
HOZ £ =+ gith



5 W7t Ut eH O Z2HEES St of F. CE) final 28T
b ASISA let 22 HOIZ SARES 4L, > Our(92I2)7t 249 £2 XISt 01 Our team(22]
o 391

g2 H0|22 |ose 1A T8 |osesS MOF STt

B 5 @z ®[s] ©I[s] @izl ® [iz] ® [z]
P S0 2= (e)sE RS FHOIM Y8 [ZI, R4S
1 She found the book interesting S 28 (2 2a e, (5110 [1)(6] 5o ggo=
2 | saw her talking 3 Mom makes us breakfast B oA Eo| _es B [i7]2 westt
4 The driver showed her license to the police
1 > 2N0IS 25 Moot BN B0t US T "SA + 6 - Ming L= OIROIC,
SX0{(the book) + 552 20{(interesting), YEAZ 2L » 012l Ming and = ‘We(R2l)2 22 1218 24022
2 > XZiSAlsee)s 2HZ HOZ HIEA EE SAtRIES areS £ht.
s - O] 7= O SEUCE
3 ) MRAP} QOOE r=A} + 7 R0|(us) + » 012l This hamburger7t 3213 &0|22 js& 2L,
XG9S M0](breakfast), HEHZ 0
4 @B license M5{[X1Z](3) 7 - U(3l)= 042 017|X0|RACH.
> FX|A to7t YCBE TEAF + HEH2X0](her license) + to €D sefish 0171421
+ P2 X{0](the police), HENR 2Lt » =017k Youd M= B =40 20| HAYLZ wereS
20

« OjLH= R|GZ0 =ofl ARALCE
Z0{Q1 MinaZt 321& ©40|1 19| YU(last week)S

LIEFHD QOB 2 wasS 2L}

v

REVIEW TEST 01

1@ 2@,@ 3work 4loses 56 6@ 7@ 8O

8 - Ok= Wi7F 207 a2Xl2E As S2MH

o yell D3It
9 Who 10 How long 11 (1)@ (2)® (3) @ (4) © b XIZIEA heards 257 H0j2 SAIYS T BHSAS
120 130 142 15@ 16 ©@,® 17 Q, ® srt
8 (1) d|dnt’w;>rk (2) o.loe’sn twork 19 @® 20 @ I U7h 0 MBI Bt
21 @ 22 Isn't he, No, isn't 23 D, ® 24 @, ® 25 ©@ @ apolog|ze AISICH

26 ® 27 (1) 49 2 (2) 2 714 Algo| MAEL 28 @
9 (1) Open the bag (2) Mix the ingredients (3) Cook
(4) Don't touch 30 @, @

> MASA make= SHA HOZ SAHEES 20
« JZR2 L= 227+ LA DIetsttal Ee|E

> A wante S84 HOZ toRYAME 2
1 OZIXC @ sttt @ (Bofl) 20t @ Utk ® FE5IT
b UHHEALO| 301X CHASIC HE MEALYS + (e )5J0|x|nr 9 A:f7tUE MBLA S
RS + YR Blis SAHS O y2 i2 HIRT -es2 2010} B: Natasha. 2= ?;é,* LS FAISH.
(bury - buries) ) annoy MEUA| SiCt / ignore FAISIC
P EIFEED 21 Qo0 92A WhoE L0
2 > MO ARAR HREE HA -'sE 2QI0} -s2 Elhe=
2450 -0 20]1, 52 UK Y S480E 55 10 A: IR0 7= O 20t 224 22|27
20Ut QIHMNHAF they2] ARAL their0| HAt shark2 B: ZO0IM 202 Z=R
A4S shark’sO|Ct CE) on foot ZUA, =22
» how long2 ‘0iLt @efet= S22 07|A howe E0HLt
3 Caryﬂ Luke= & st ~RHBIANO2tE o2 AL,
Z0 Cary and Luke= They(2E)2t 22 301
2A0|DE SAINES &0t 1 (1) » set-set-set (=L
(2) » come-came-come (2L})
4 93 ZS A HAHOIA Lt (3) » wear-wore-worn (RIC})
(4) » spend-spent-spent (4H|SHC)
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0x
i
g
gcl
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12

13

14

15

16

17

08

1742 SomerleyZH#)oll U0,
O MO oTiof AULI?
@ 71 OIS ARSHD ULI?

@ off #FIOPZI0| 25 ALY

@ QM| OO0 25 HL?

® U= OZH #HOEE AR5 =2AU?

CE) own AR5

» It(the supermarket)0l SomerleyZt0fl QUCHT A5t
ACBZ YX|(Where)E & 222 HEHZ & 4 AU,

» AEE2 TR ~olFUIRN= KC=, "What + (a(n) +
AL+ BAH (+ 01 + SAHL E= How + HEAHRAM]
(+ 301 + SANLO| HEi= 20t Ot E(beautifully)2t=
HAS ZZ5H ACEE Howz AlAfoh= UEES L0

@ L= =AM
@ JH= M=22 H
® Is2 00ls

@ 2HIE 55 ¢ds 20

mjo

® 1= &M Ao 2R HE XIZIC
protect 2&5}Lt XI7|CH/ stranger ‘£ ALY
Z0§(She)7t 321 =022 want2| 3213 TS0

wantsS MO 3T} (want — wants)

@ 4= 20| AFAHX| 4L,

CE) be proud of ~& AFA2{stCt

@ Ltz O 0f4 H=tX| QLot,

® JHSS J2 EQ6IK| YT

CE) important St

@ Jeaniex T3] HHTIILX| QIQLCY

® H SLUTIA| LU0, M=O0H

CE) brave 223t

> @ beSAb ame| EHHS
MX| =L (am

am not2Z, ami not2 &0
n't — am not)

SO0l Lt X|=H. At Sk2f ZERH

oL SHGHR| OF, & 012 LHY7EX] ELHOF 3,

0. HL XM & LOfLH
D URAO|, AUO. T MFEX| Ot

@ BH Y22 Don't + SAHEE ~,9 HEHOICH
(Don't disturbs — Don't disturb)

® besSAE & 29 23 P22 Don't be ~,2

SEHOICt (Not be — Don't be)

- XIFEH W ojo] 20|
(o]

v o rw>
"
O

@ A: 0| HF HIML|?
B: OfY, ZIEX| 20k

@ A = HOIA 7] AL?
B: 8, 1= 27| Ao

G-ZONE

18

19

20 ® =

21

@ A: L7t S3U?
B: 8 &R0 — 3 H ER0L.
» ESHE AtRfel UFOIME ()7 Hiyou)Z BFHHOOF Bt
(Yes, | am. — Yes, you are.)
@ A: Uz #ils 2MQRU?
B: 8, IR0,
® A: U= AE sig 2H0IAL?
B: OfY, JA4= OfLOF — OfL, JIld4= Ot 2{0].
president 2%, A%
> DA0f CHal 2SIl QB2 HEE MAHFL R GHof Si.

(No, she isn't. — No, she wasn't.)

(1) X2I0l= OfX| YSHK| IULCH
(2) Haileye @& 25X 4L
» (1) A9 Llyesterday)s Lt
SAHH™.Q FHIE L
(2) 01 Hailey7t 321% 0|0 &xH2| U(today)S
LIEHHEZ "doesn't{does not] + SAHRIE.2| HEHE
Ct.

EtHE 2 "didn'tldid not] +

rx

® 2} OFSCHR HOl7L
> It s EYUYL It'sO|Ct. Itse= It 2RZ0ICt (Its — It's)
® JARE2 Cf 4l 7ok
© 147} 71& £0f5hs ARXE= SIO|C)
Li= HA HRE *—Eﬂoﬂﬁ 1'—1% DHACE
> —Er’é*gl =50 X

(she — her)

[EY0)
=

2 |

(=
|

LIoiIA 22(0102 7|DE FtES HUfLt

» (a gift card me — me a gift card E£& a gift card to
me)

©® = LHIERR! HIO[o]] Lol 2& FRiCh

© 7t 322 LA HaS AL FUH.

-

» (lunch to me — me lunch E& lunch for me)
@ J= Z 9 SO LIofA B2 AHE 7I2RL0L

e

» (me to a lot of things — me a lot of things &= a lot
of things to me)

®, ©, @ » "FO| + ZAF+ 2HY

(~E)y EE O + SAF+ ZBFEO + XA+ HFEFHOL,

SEf7t Z|0{0F St give, send, teach 52| SAtE FXIAL

toE, buy 59 SAtE HRIAF fors Lt

HSX0(~0A) + HFFH0]

@ Lf 9_5 ¥_’_‘;*0f 2OoJL?
F

P UBESAPE Q= BFQ 222 IAAMY O Did + F
+ SALEE ~2,0|ck (Did they came — Did they come)
© 17} 49| FAE OfL[LRAL]?



22

23

24

25

26

> Z0{7t 3203 H heO|T URLEADL QlE 2X9
OI220|2Z Does + F0f + SAHYE ~?,
IAZRI Did + F0| + SAHY ~?, YEIE 7Hs3HC (Do
he know — Does he know =& Did he know)
@ OE0l= HIZ7t ZO| 2U?

> FO07F 32F H it0] L LESAPE U= 2H

Eff7

ogr
o

gt

SIZE0|22 Does + F0{ + SAHEY ~?, FE{7F HHSILL

(Does it rains — Does it rain)

GE) close (AtO|7h b1t

> BB RS SALS ENFHOR AIRSICE 0 heZt 301F
H40|22 beSAtE Isn'tS 201 EMOI220] st
Hofl= CHEO not0] A2™ NoZ, not0] 21CH Yesz

=Rl

<A 0|4 =39 ZEL? B: Lf Hof!

> =oIEH= QOj0|E 2 OJ2A Whoo| AR
=y

< A4 ofCio QLU01? B: L= ATE0H| QAU

» UL 27 U222 o|ZAF WhereS 2Lt

< Al O] X2 ZoriLmr B: 205 L

CE) wallet X1t

» HOFLED 210 QeB R Ol2A Hows £Lt howe
O] 20| &= “O1E |, O Yo ='0| 20|17t Tt

201 WhoseZE

U yo

- 52 3N B30 AX| =Lt

» S| At&(now)S LIEHHI 07} 3018 £4-0|122
don'tg 2Lt
« Katie= ®Of| =32 ASHA| ZUCL

» 2O SALLHA QU2 DEQN% MOF ST} pA9
AtH(before)S LIEHHL Z0{7} 3213 H4-0|22 wasn'tS
=y

LEada

> BEHO| ARk

HH|Al OFF A& ZSHX| o;roro,“
M(that day)@ LIEILHEZ didn'tS #Ct

_ Ewhun
aE BrELf?

@ Mok, L (2A) @ BRE
®

look, sound, taste, feel, smell 59| ZHZEAIE HEAS
7 HOZ £0 SYUE 25 dYots S84 2019
A2|ols HALLE HEAE F2 MOILE HAtE HOZ £ 2

oiC]

bl

@ A7 ALHL?
@ H2 EMS0| AU,
@ Holl A = 5H7F 20U

HEoltt.

28 O L= W Hefts
N

30 Alex=

@ Hs| 7t1&E2 2 FoJL?

® Lolli= S0l BAI KTt

» There islare] ~ T20M beSAt= Foll L= 3012
0] mat M5 @2 HHAa world map)7t 0{0|22
is, ORIz S+GAZt F0{0|122 areE MOF B

A
B: 3. Ul A2l XA 49| 0[Ok O] L HOF,
A

O] MAEF ZABH|! Z 2 AYo| MAEHCH "M O
HEoL,
B: AL Lt= 89 0] O £01 242 O %2 AT 50
UHE!
» (1) 20| =79 ZQIX| Lot QOB E ARUHA}L yours=
‘Yol ' 7taizict
(2) S HI U= MAEIRE 4 7 Ao MAES
WGt JOD 2 ARHHAL theirse & 714 AH9
IHAEFS 7t2)7ZIC)

@ J4= 74st

Q@ I52 ZUHE LoA =R

GE) invitation =CH(E

@ = 19| AE2 HES0H 2oL

® Lucy= 1149| SiZI Ot0|CI0IE SamOiiA| QAL

P "SAL+ AFFHO| + MM+ HHEX0],2] FEHE £
give, lend, send, show, teach, tell 52 SAt= TRIAL

| SAtE FXIA fors
TIXIAL toZt HHSHLt,

tog, buy, cook, make, find 5¢
20 @0l= XA forZt, LIHXl=

29 (1) SXIE AAMlL.

(2) MEE MoMa.

mix 41t / ingredient XM=

(3) 22014 202 S2t 22[5tMIR.

EE) cook Q25tCt / oven 22

(4) F9I: =72 B2t2LE PIX|X| DM L.

CE) caution 2| / brownie E2t2L|

P HHE2 30| Gl0| SAFHYQ R A|RBICE ~6iA| Of2f 2=

oj0jol £ HHEE Don't + SAHAE ~ 2= 2Lt

A2 020l
OtHXI= A, 3,
100219 45 2R

CE) town O+ /
Het

|

ooz
09 kI 32

ol

ry

_i
[e]

m =

2 / carrot g2
) 7120k £01 g2/Ct / hill o
hildrenO|tt. (childs — children)
-esE 292 potatoesO|Ct.

k.

0H‘| «Q
THo

-
243

raise *(A
» @ child2l

@ potatod =42

(potatos — potatoes)

rlo

\00

0x
i
g
%
X
o
0



T
'I'I AlA2f 7
SAMAIA, BpAAA |

EXERCISE

©00000000000000000000000000000000000000000000000000000 0

A

1 wash 2 walked 3 were 4 drink, helps

1 Le=od Dﬁl% Hert,
> BIERE= SEES LHEHEZ SAMAIXZE &
10 QOIDE SAIHAS 20
2 Franklin W= OfX| Z0{A S2ICH
> HE LEHLE Ylyesterday)dt SHH A0 22 &
LIEFHE = TEAARIZH M ESIT,
3 SWR 2016H0] 2R0M HHERAL, Lis IR0 UUCE
be held 71#/=|ct
> IAS LIEHHE Y(in 2016)2 BH A0 B2 dg
LIEHHE 2 EAARIZH REStCL,
Ct.

Hoftt 047t

o

4 L= Y OfF ALE ORMCE R LHE HUHJUESE ZoFELE
awake EOIA THO U=
> HIEEE= SE8E UEHEZ SIXAIKN7F HHESHH, 017

t
QIE th RO(HY T YBHSARR] REH0| -(e)sE 22ICE

1 They didn't agree 2 Is he 3 doesn't believe
4 Did, graduate

— IS U 4240 SOIBHR| UL,
b UUHSAZ} QU 20| REZEAANIE F01 + didn't
[did not] + SAE ~..2] SEfolct,

2 & 2Heh SOt — = 2HE SRE0IL?
GE) hardworking 225t 2X[2i5t

> beSAPt = BEO| QR E(EMAIM)S "Am/Are/ls +
Z0{ ~2,9| HEHOICE FO{(he)7t 321E HA0|22 beSAte
isO|Ct.

3 e AARIe EME YLt —
=L

CE) alien 272!

P UBLSADL Q= 29 EHZ(EMAIH)S =0 +
don'tldoesn’t] + SAtE ~ .| HEfOICE F01(She)7t
301% 40|22 doesn'tldoes not]S £Lt,

4 Emilye ZE0| ABC s ECL — Emilye ZHE0|

ABC Ofstul g E3L?

JEE QA9 EME BX

10 G-ZONE

C

1 eats 2 leaves 3 watched 4 is 5 visited

1 EE) eat out LAGICE / once &
> HIEE= AS LE = SJTAIME 20
2 > SYE DY Us LIEHE Of SIXHAIHIE £ = QT
3 » IM(yesterday)Ql AMMES LIEFE T TAAKIE L
4 (D) capital =
> HILE MBSk AMME LENE D= SXHAINIE 2L
5 » IA(last summer)2 AMMS LIEHE T AHAKE 2L

1® did ® went © fixed @ have ® watch
2 @ does ® gets © study @ doesn't © attends
@ eats

1 A: U= 8ol & iu?
B: L= &S AT U
A 9Y0il=?
B: Lt= ABE X0
A 2= & A& AY?
B: L= OHE 10201 H&tE &
2 A:Juliae Z Al0f LojLiL?
B:
A:
B:

=
F) attend &4lSIC}, EASICH / noon B2
SC= o, SHS LIE O SHAIRIE 20
J—Pﬁoﬂ XI'—f P HZ Q2 DA £2L

GRAMMAR IN READING

@is ® gets © was @ received
A H2|(FZ9| HlF)= A2|HL0F SF0i| RIS AP AF0|CE
AHE0] IR AXS| S2MT UM, TAR 377} (T 2fol)
L5 £, 0]20] A 228 TS0 Wit BlA H2(o) 7W
913E2] 56.7°CRiLCt. 9“E'-IE|-I0f BEHA S



29t

=35t 3t4
Sot 8t

=0 %’—Ig.:*.?_r O1HOIAL. Cl& W= 1 FM2

= 184901 UL} of Flof FESO0| OHEY I5°| 6ES

DfXIIF s & o 0| SO0, At AlZts IS0t 23ttt
erg, £29 AR

(Ga
02

'SELAL M2 EAE 5
18480 Z

TE22 AFHE0| SdEEs Ae=2
22 L0t S=SAIZE AIRE

® YEE AFHE LER T SMAIRIE A0 =0{(Death
o

Valley)7} 3218 H==0|2 2 is7} HHsiL,

© H7|XQ 2 ARl U LIEHE M= MAIKIS AT
Z0i(hot air)7t 321E H40|2 2 gets?t HHsICE

© o 2F0 0]0] 17| ZEAIE HHot= BHOIZE
DAMME MO, 047+ 321 HH(It)0|2 2 wast
}HJHarEt

@ 1Al Y(in 1849)2 HYst ACD 2 WAHE received?t
ZHoftt.

Death Valley is a desert valley [located in Eastern
Californial.

» [ = IHEA located?t 0|1 HEAMTE, BAta
desert valleyS AIStt

During the California Gold Rush, miners had to
cross the valley on their way to the gold mines.

» have to= ~5fl0f 3iCtat= 20| ZEAIR, BAHE had
toOlLt,

12 oiun

EXERCISE

©00000000000000000000000000000000000000000000000000000 0

A

1 are 2take 3 rains 4 is visiting 5 snow

U= 1| OJAF & HU?

CE) move SZI0|Ck *OJAF 7Tt

» be going to + SAFHE0IA =017t youO|22 besAt=
are’7h ME5IL.

Mickey= 1 9| AIZlS &g Zo|Ct,

» will CtS0lli= SAH |

LY HI7F 2F 22

rr
+0||

E’JKP‘*OHMb 84IH349§ OIHE LIEFLHD,

(i
2| 752 h: Z | oY e E‘-J—Er%* Zolct,
> IJIEH(next weekend)oll 57|12 A2EH U2 SxfTHEHS
MM LIERE 4 U
T A0 MEH @5 Hofl =0] 2
according to ~0il 2H
» be going to CHS30ll= SAFEE0| 240F

A0ICt,

ro
n

Luke: Ol&, Tinal O] F

1 is going to fall down 2 will go 3 are going to visit
4 will buy

Az OlE, BIE0] E52|21 U0, X|ZI0[0}!
B: 07IM LIZEAN O] AE2 RUE 7HoH
earthquake XIZ! / fall down SLXIC
» 2E HIEOR D[22 0i&st ACB 2 be going to +
SAHE S 20
At LtE W x|atof 710k ot L HE
B: 21 Of W7 W 20| 7HEA.
CE) see the dentist X|2H0f| 7IC} / scared F2ist=
P SEXOZ AYY M= "will + SAFYE,S 20
A: 4 o EQo| RS & AU?
B: Ui EHO| 7| O{HLIE B HOshM f2l=
7{0t,
» USH7| Foj| ojo] ZHSH H20|2& Tbe going to +
SAHE S 20
At Lewis! L= HIZH =20 YU SAUN. H=0]
2010]L1?
B: & M OMIES M7t 5hi=t, OF= 212401 Thah M2
Y= X 2L
CE) lottery 23

= AU ZEH02 Ay

FAR.

RIEELE

2o Tneez

1 am goingto go 2is 3 will tell

LU R A" AL?

IHE|O| 2 ZHOF,
20|22 be going to +

.I

3})}-”

-

m\l

S, 0f. L= Fzje
b 2L517| Hoj 0[] 23 7
Biof 42 S EICHD, 92 ol Ci2iCt 2Rk OtwolA| R

> ZUS UEHE FAEMUAME JMI22 0|2HE LHEFHCE

0x
o
g
%
[



3 THE(O]| CHaH LESO0l Ol0F7 (3l &1
» DJ2HOl| CHE! Of%- QXIS LIEHY M= "will + SAHEE.S

=8

1 He isn't[is not] going to sell his car,
&= He's not going to sell his car,

2 Until Jake finishes his part, we have to wait.

3 They won't be surprised at the news,

4 How much will it cost to the airport?

5 | don't know if they willlare going to] win tomorrow’s
match,

gl

1 = 39 X5 EX| &2 Aot
» be going to2] 2HHE beSAt Foll notS 2Lt
(He is going to not sell — He isn'tlis not] going to
sell == He's not going to sell)
2 JakeZt 19| HES Y WIX| R2l= 7|Ch0F B

ME LEtUE BAENME JMHe = D[2HE LIEHHD}, 301
JakeZt 321 ©0]22 SAt0l| -(e)sE =QICE (will finish
— finishes)
3 52 1 AN s2iK] ¢g Aol
> wille] 2H3E will not22 won't2 0 2Lt will

LE0ls SAHEEE 2O,
(won't are surprised — won't be surprised)
4 IEIK| 7t bl Lot EMR?
cost (HI80]) St
» will2 0183t DIAKIS| Q22 T(O2At +) will + Z0f +
SAHEE ~2,9] Hefo|ct. (will it costs — will it cost)
5 L= 250 I-H°'°| AEE 012X 2230}
P if7t RS LiEHHE= 2APE0] Ofd, SAF know?l SX0{2
MOl HAMES 0|81 QOB 2 will £ be going toS
MA DZHAIKIS LIEHACE (they win — they willlare
going to] win)

GRAMMAR IN READING

A ®is goingtouse ® are © will be
B 1 Mars 2 NASA

LIANASA, 0= &8 fF=)= 203040 SHHK| 340l ¢17ts
HEANFZIE BT IS HA2 XS B2 HEA7|7| sk
2GS 018 oo AHY2 EfYS == AL HR= &
SHO|C). RS2 5, U2, Ha5s H 7IEH 2458 EeoP|x
ST}, R HIMAIS2 3H4C = 7he B0l AH0| S8 ¢z 2

12 G-ZONE

JS9 M2 QX FAIS U OIS RASS JHHZ Z0[ 0122
RITOIN XS Bl =0 B O XY 2|0, P2l 23]
AYHS X170 QR ER OZICE SIXIP Dl2Hol= 23450
ex 9oz 57 XE RaC),

» A @ 0242 Ao tht Lh0|H, F0i(1t)7t 3218 Ha022
is going to use’} MEsiLt.
© ME LEE BAENME SO O0j2HS LIEH,
Z0{(astronauts)?t ==~0|22 are7t MESILL,
© DOj2H0i| 3t oI =0|122 DIZHAIR will be?t HESICE
B 1 HIYOREH U W M (= &)
2 2% A7 o= 0|29 F27|# (= NASA)

2

o2

It is going to use asteroids [to realize its dream].
P [ = RAXE X0 toRHAR ‘FH(~517| KiA)
oI,

o~
o2

., they will stop by an asteroid and take these
elements for fuel and their life-support systems.
» SAt stop byet take7t F&AL and2 ZESAF willofl LI2tS]
AZE QAL

13 =

EXERCISE

©00000000000000000000000000000000000000000000000000000 0

A

o2t

1 was feeding 2 is getting 3 will be studying
4 am, growing

1 A:O0EH Ly M3} of OF HI9r0f?
B: @, Do, ZHOIA| Brg F10 Q0.
CE) feed &2 9ot
> k7| Ol A0l ZIgY FO0|

2 A OFE FR0. J30 252 M 0 F4l.
B: oL EHMIZF T FHX|LD Q04

> 220 28 3 UE et rth HAHBHS 0t

B:Ot, = 7k U= ZEEH EM**OM SE5tl = Aok
> OJ2HO] M AJEON T SY A2 KiyE= &2
DTS 220



4 Al 258

H U MO 7170 AR
B: L= 0k J2|1 ot OFX= X2t Qlof!

20| T B LS LE M AMTAAS 20t

1 He was not watering the flowers
2 What were you doing

3 The dog is running after the cat
4 | will be working in Sydney

1 EE) water 22 FOt
> HTIEHO| 2HEL 'was/were + not + v-ing,2| EIZ
£204
2 (@E) notice &, 0|12
> QIEAPE QU= HAZIEHO| OZ 22 T2 + was/were +
20 + v-ing ~?7,9 HENZ 220
3 EB) run after ~9| FE Zrt
» SAHTIEHO0| 1 F0i(The dog)7t 321& H40|22 Tis +
v-ing.2| HE{2 L.
4 > DRI will be + v-ing,ol EEHZ 22LL
C

1 has 20 3 doesn'tlike 4 0 5 understood 6 O

1 = OfF 2T S22 7HI1 QUL
> ARE UEHHE SAthave)= TI#HOZ £ 4 @it
2 1JUE Xg gESHE UL?
CE) give a presentation ZHSICE
3 Thomas= 19| H|CE OIS ZOISHK| h=Lt.
> UH-MZtg L= SAHlke)= T#HOR £ 2 QiCt
4 OS2 AHF 0] Ao ZE met 210 QAL
5 Bellaz 1 t4E9| HHS OfsHFC
» UH - MZtg LiEHH = SAHunderstand)s MOz & 5
giCt.
6 Akiko= T 2Ol HAIZZ O3S Z 2107] WZ0)
AHQIE iR QUL
D

1 am sitting 2 am thinking 3 was having
4 will be waiting

1 L= Xz SO 20t ULt
» ok 0] =2H0i| Tl S LO|2 2 AMTAHS 2
2 LE 0] 320 O A 2= A 125k ALY

3

» think7t 12siCiet= S [[HE I.J%“?é% = 5 QU

X|2=0] OF5 o2 AE7t U & =

QAL

CE) pass by ¥ XLt

P IA O AEO| T F0IE &

OfOF CHS S0l o JEE 7021 Qlg Z0Ict

CE) perhaps OfOt=

> O[2§9f Ol Aol T3 BY A2 Oldels Yol22
OIS A0t

GRAMMAR IN READING

©00000000000000000000000000000000000000000000000000000 0

® are ® were fishing © will be

I
<2
2al
ra
—LI
O_..

JeA 252 FEE SR 2L B
4

Tz S0 Aotk 252 FOIM 78 Z2=20/H
oA 2AZIRAC OfEA O] ol &

of Hijoll 2HI7H d2is W 17I1E H=

I—r277|.

ot
<

2
(]

O
BoluSL, 412 9, 758 7

@ 71712 D29 OIIE 20|22 ATYTIRYA0] HEoILt,
® when 0[5t9] MZ LIE= SAPE0] IAAIHQ] 22
2 O, 24 o= AEo| T3l SO0IAE Y2 UEEZ

TATIRNH0| HHoit,
© A2 Z(very soon)2| AEHO CHal
OJ2HEIRES40] X EHTY,

They were found in a lifeboat, 7000 kilometers from
home.

» were founde +SEHZ "UAZUCY2H= S20|T

3 They ate fish [to stay alive].

0=
SSOIC,

SAXY MO0 toRFAITE FH(~517| 2lcHM) 2

13
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i
g
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rr
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=

t71(in 2000)0122

1 4 ilﬂ%l'ﬂ%' J;'—VV;\WI%;&JE, v':-:'._mH —E—Q;% IAHRE T’jiHUW 71|;-’—‘\T
A=0t Az s of A0 et LHZ0|E2 Sl =dS
L.
2 >3 EXNOM Ft=E M e 238 1A(n February
2015)0|22 MAAKE A1, = i 252 A0
EXERCISE FHLITHO 71 SEXHO = FHLICHO) QUCh= LHEO0|2=
Snjeimss Ar
A 3 > X EXOA EILIAS AR 2 2FS I (five years
1 has been 2 has bought 3 have studied agoj0|=22 E}71A|I1|§ 2l T U 22 WRH
TR O KT MR ZZCh= WE0I2E =S
1 J4= 29 © L20| UCE J4E= XF eF=0] UL, Mo
= U= o Y20l 72 0| QUCt
> IAHRH AMIKIS FHS LHEHHEZ Sifiteds 2Ot
have been to: ~0 7tz 0| QICt (AE) D
have gone to: ~0f 7t BIZICH (Zat)
2 = 201440 X202 2SS AT = OfFlE 2SS ALt 1 for 2 since 3 for 4 since

R 1 1= 9z SO OFRLY
> Iat'E SR AL E =S LIEHHD Z SEsS =
io;4 SE| 337} | HALE HES LIEHY fetess 2 1% olE= A 0| 9X| AT
= . . o 3 1 7f= DA S0 IR0 QUL
ISyIERPS = o-E| XH5HT1 QKR e DHELT ==
3 L—||‘|_I‘ 4:‘ |_-IO'|| OO1E o—rol'7| A|ﬁMJ— OI'—|E 3= SFotdl 4 |——|'E 1%% O'Ian_l |X‘“:'E'| °'0f9”:f.
olCt .
_Mu_ 4t 2ot stoi Bt 1~4 » since= ~0|3 X, ~0|2H2 AH£0[at= =02 SHojl 7|20
T e AdusC SIS 5T M El= AHS LIEHHE 20| 0, fors ~ SO0|2t= S0
b 45 MEE MK AL E BES LEHIDR SHARSS
iq TSR e T . Hofl 717ke] 20|12 LIEHL= 20| 2L
E
B
1 for, 0]l 7|7t9| ZI0|Z LIEFLH= L(several years)o|
1 has broken 2 Have, finished 3 have ridden '
‘ ’ QloB& '~ ZQH0|ats =0 MR|A} fors 2Lt
1 A: JHOIH S22 Q0| AZiL? 2 went, II4Z UEtL = Z(a month ago)o| 210
T O M ) g
B: 19| C2)7t HaiRo., HNATHS & 4 QOO WHAHE 2Lt
b SABHS AFRSI0] T SE SMIK| AL AE|(Cr2|7t 3 had, XIZ2 LOMCH= 20| Qlo82 IHAIHS 20t
Ho{XN\Z o5t o)C]
, A-TJ jljj"fw“ - 0 Lis XIZ0| 28 HEHmolA BTt
L - ;EXD A 201 8 0 1 Cindy: 2 & S0t 2301 Attt
B: OHLIQ. BHXISH K AlAF S0f| & Hojl2. 2 S=e B o M| AP0 ZUt
} 31I g|.§349 Q_; I_E = AI = J:LLH::X = 27 OIE_
IBEES BN AR OFENS SASELI 3 U weol =w, xi3e Lo

CE) have a stomachache H{Et0| LtCt

E) IEH i 2ol 'Ef

GRAMMAR IN READING

C
@® painted ® have inspired

1 got, have been 2 left, have gone ) _
J2|A st KoM, RE= 28 ot

Jon

fdE0 g = 989

rir
Ho

3 started, hasn'tlhas not] won

14 G-ZONE



O[0F710f RAUIA K[| HTO|RULH.
LHE oDIE #=th REE UIs7h 271
S — ME*OIEh HE S0, o2 =0
E REU=H, 2= 2YE)= 19080
FIA)E O HIZ51H, & EH*”QI AT 27} et
WL =Y 27t UA HEAEE M20|A FEALL FALS
S50, gt 0 25 = H&71S0] BAs US0UE o Eds

EOfol 2L

>

» @ in 19080|2k= AAHE LiEt= YOI ABZ AR
= & gl MAAINIZE M=ot
® ‘Throughout history'2t= BE&0| AH1T 0|0X|=
LHE0| DARE] M| ALE AHLO0IEZ, SRRt 0|
M|

48 A muse is a person [who inspires an artist, writer, or
musician).
» [ J= M#AL a personS AlGhs F4 BAEAPROICE,
58 For instance, Emilie Louise Flége was the muse of
Gustav Klimt, [who painted The Kiss in 1908].
» 20K,) Foll 001Xl [ Ji= M&At Gustav Klimtol| CHst

7t HHE HMSot= ASH SO HAUHSAEOI,

-I 5 AR,
}7eA2S, O|eA=S

EXERCISE

©00000000000000000000000000000000000000000000000000000 0

A

1 She has been talking on the phone for an hour
2 He will not have left home

3 How long have you been studying English

4 Ken had not cleaned the house

1> 240 AR LO| ST ASEL A5E X8

SR TISS Arf

2 > O] Ol AIETIA| 2E 202 Mdkls Y8 LEHE O
D=3 s L0t 2HEE will Fol notS MA SHELE,
Q

3> 20l AR 0| BAMIKIE ASTT USS YT 1
ARG 4Lt

4 » A9 AlE(the guests arrived)=CH O HX Yo E CH2

A9 Us UE Of UHATAS L0 WHARHY BYE2

had 0l not2 MAj PH=LCE

1 were drawing 2 had cleaned 3 had done

rx

Mde YoYU OF 8A| 500 WA S0{R4C,

1 70 Sue®t Peggyl= 0| T2 T2/1 UL
b MAIHO| TAV| SHRMS T(EHH) AT U AE0[Z2
IHZISHS0| M AGICY,

2 JM7HR Janiss HIES CF "ASH ST

CE) by that time 2W7tX|
» HMEHO| WA S0127|(2A) Fof ojo] B SE0|22
DHAZ0| HHBICY
3 Sam2 19 £HE Ct F| [[HTOH ﬁ*—l% Fotd AACY
> FAIS Fo17](2A) Hof 0j0] B SEO0|S2 WAHARHO
sl

1 have been arguing 2 has hated 3 hadn't eaten =
didn't eat 4 will have read

1 argue SIatCH

b DRAO AIRHE 20| BSOS Ha FUS 2xE 1

2 > IARH IR AL ~off 2TtetE ALY QIS
PS

MG AOB2 HNAREHS L. dEiSAthate)? 42
B%‘%@E = & gl
H

SEUE HEOIRAE BX|
. AR A2l 0] Lotz

AN
O Y& LoIEZ
Dli2t=gs 20

D

1 Have people been playing chess for hundreds of
years? 2 She won't[will not] have finished her project
by December. 3 The coffee shop hadn'tlhad not]
served teas for several months.

1 ANZELS 4 1 SOt HAS &l AT — ARAES 4 1 SO
HAZ 3 2H?
b SXHRAZ TS| Q222 Z0{2 have/has?l X[2|S HITLO|
ot=Ct
Hgdad 15



2 JEE 12€71X] OHe T2MEES 8 J0|C), — JH= © AHRE SMIK| HLE L(since last month)g
oo

12€X] T4 Z2HES ZUR| §Rt2 2|0 LIEHHE 2 iRt E TISH0| ZHSITt,
> D2HARHO 2HEL will FOl notS WAl BHELE © 0|22 0= AH(by the time we get there)7tX| A2E
3 702 F HUAS MESAACL — T AmEe F gt 0|22 D]2AAZH0| HHE5ICt

XS MSotA AL
> AAREO| HHE2 had FOll notS WA CHELL

E
1 had, passed, will have met [ = =.
passec, i nave I SE—'1 =5 7f—*"°| ZSA
2 has been advertising, will have become
1 Tom2 2 1MAl0 =7 Z717t URACE SHXITH T= JAS
EZE 10A 30201 THEQLL, HAE 0]0] X|LZLCL 27+ L3HLt EXERCISE
HEON L7t CHE HAS B 1MAI7IK= EfiEs S oL
realize 7HZIC}, YL} / teammate A A
> A9l Ui+ A717 JAAS S MES AL o 0[HQ
UHATE XILIZE H)g LIEHS O DtAtade 2ot 1 may 2can't 3 must

Dj2ol A2E A2 OMEE UEMUES DL A2
D2HLZFHO 2 LIEHALCT
2 Lukes 7t AR MEES 220102 sl STt B2
SAERE 19| Z10f 2AE JTEK|LL U ZE E 20| J=
74y 2Yst 22101 #1901 & szt =of ol Z0ICt
CE) advertise Z1I6ICH® advertisement &1 /
® advertiser 102!, 11X / product MIE, &Z /
company 2|At
IIARE M| A% D3 201 ARt HES F1dt=
)2 LEE M= SXAZTIYSHS 01 0f2Ho 0|$71I =
U(RYS Z1010| Hl= X)2 D|2HAFHOZ LIEFHTE

E('IT - O

1 2= otFo| 7 EE EUCt 2= =0| SX|: ZEL,
2 X|20| =8 7+ 2 E0ICt & =0| 2 27} gtk
3 AEHE0| AR MAS Y1 UCE 80 =0] L2 AS0]
STt
snow i=; =0| 2rCt
» may: ~UX|E ZEL}, can't: ~Y 27} 8iCf, must: ~I0]
St

4

sl

1 couldn't 2 can't 3 can 4 could

1 Ue Zlds AT, 2HEH Algs SHok| 23U
Q J Q

GRAMMAR IN READING 2 N 247t Joand 2 Yk

(o]
HA
3 = HITOIM MBS 4 U = AT 0|0

. CEB) surf MEstct
@ had ® have been © will have 4 Li= 2040/42 O ORHES € 4 UL BIXIZE XIZ2 5HX|

Anne : Harry! U 0{t| QIQiL? REH.
Harry : DIStsl, Anne. BIA0 &1 JIRIOF FOiXatS R0l 1 @I marathon Of2HE

QUCH= 2 QAORIRO0], 1. 3,4 » ZSA cang MM ~& & QUC¥Els SHS LIEHHCE
Anne : LU0L. OIHE MFEX}, L= L7L XIH2RE 0] Fst 24742 5342 could® LIEHACY,

1 7|0 A UROH 2 »can'ts ~Y 27} gitfete iR 4ot 28N £52
Harry : X[, 2210 L A4zl @27} T8 120 G317t o|0] LIEFHACS,.

AZ3E 7ok
Anne : #TOt GAOIE &S AU,

C
» @ UM YFEUMSE F11 2 A2 Lo L of 01X ) )
UBHFEE £ @ H)2 UEIDE B7ei2s0| ® may be ® must be © can'tfcannot] be @ will be
Mt able to

16 G-ZONE



101 OfOt= L&Y HOL
2 OfLf! 0|2 HICH7} = o]
AbY, 32 7t2el S30101L.
DO A 2 o)
AU JM7E O sPAER] Hedls o U2 288 I
OIEZ 71@|C

Q>QUJJ>

n

CE) sunrise ¥ / landscape 24

®, ® » ZSA Fols SAHRHES 20t

© » EYER2 XASAFHIE FHoil notg £L0h can? 2YIY2 25
can'tfcannot]2 £t

@ » 54 ZSAE HO0|H £ = gl2E2 will cang will be
able toZ HHO{ AL

D

1 He may[might / could] apologize to you
2 was able to catch the bus 3 Can he be serious

1 » EAS 28 UER D= may, might £ couldE 2Lt
2 » 19| SES LIEHH W= was[were] able toE Lt
3 > AZZ0IM ot oals LEE M= cang 20

1 must love 2 are able to 3 can't[cannot] be
4 wasn't able to

1 Us 07t DS MRIBICHT SAEIT, = O 0148 Malste
A S,
CE) sure 2ok

» can2 be able toZ HHY £ 4= ULt =07t YouO|22

.
3 4= SERIO0| FHUTEeI0] OfULt = JlE= FHUTHIY 2|7}
Oi[f

> 9] SHES Was[were] able to2 LIEHHT}, =017} 10|12
DHAKO|EZ beSAHE wasE M0, 2HZ0|22 beSAt

Fofl notg £LCt

GRAMMAR IN READING

©00000000000000000000000000000000000000000000000000000 0

A ® you can see an amazing sight
® the color may come from bacteria
B 1F2F

IO A2 CHE BT 3710 B2 $47 UL, BHRI2t 254
B42 2 H0| YT HEO| BhE YA AEHAROE(H

S olot 22X 0 ALE O7IM G2 =2t Hds =

QUEH), B 284 S40[CH G2 7300] UBX0| T 20|
SEM FAL BZORIT M2EXIE B2, SRI2 12

2AT| KAFOICHRIAEO.2 74t S40I0H] T2iL, 220 o
SEMQIXIE OFRE O3HE 4 QICh SRS 1 Mz0| 249
SIEI2I0fO1N & HUXIE BECID MZSiCt 1211 222 MAOIA
QUBH EE S47} OILILE, ZIEB} S5 Al ot st
oA EEHOICH]

» A can, may 59 ZSAtE LESAS 0 204 Tt 'R0

X
completely naturall)? M5t UCt
2 2|0} 3= MM RUSH 2EM S4:0]C

> ORX|2 2FOIM E T2 224 &40 MUlZ 512

dEHt 245 A6t UL

6

02

However, nobody can understand [why it is pink].
» [ & SAt understand? SXOHZ MOl 7|2 202

OIZAL + 01 + SALS| M2 2L,

~
gt

Scientists think [that the color may come from
bacteria in the water].

» 2% HAMQ| SAtE thinkZ, [ 1E thinke SE0Z M0
YAPHOIC that2 HAEES 0|Tl= F&ALO|CH
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EXERCISE

©00000000000000000000000000000000000000000000000000000 0

A

1you, (c) 21 (f) 3 we, (a) 4you, (b) 5you, (e)
6 you, (d)

1 Ul 1Y0IE SHFA?
look after ~2 E=LCt
» Will you ~?: ~8f ZHLI?
2 A2 ST LY
» may= cantCt AAlS AP 5{7t9| 555 LIERHIC)
3 R JES BEMQ?
» Shall we ~?: 22| ~&7I?
4 X3 Az & HUFHAL?
» couldi= can&Ct S48 29| S5 LIEHHCE
5 HX fZE ASHHLIIR
mushroom HA
» "Would you like ~?;= Do you want ~?,=Lt Z&5
HAH0|H ~2 |SHYLI7I?'2t= S LIEHACE
6 Lol He Af Aleks HOIE 4 QUL?
» Can you ~7: ~aff & &= QULI?

1 Would 2 shall 3 May

1 A:Z O 3H URHZAHALQ?
B: 1%,
) louder & O 2 2212 (loud?| HWF)
> YTLOIH &5 23 U= ZEA WouldsS 20
2 A2 F Ao 278
B: CH Al Of{?
» 'Shall we ~?,/= ‘Q2| ~8717°2t= S0\,
3 A N7 EtEETIIR?
B: 4. XM= EIMXZ 371 90{Q.
» "May | help you?,= ‘RAUS EJAEZNQ2h= SO2 X5
MOl TS0|CH

18 G-ZONE

C

1 ® can — can't 2 ® Could — Would

o

1 AU ot T4 2 QloM?
B : DIQtsEX|TE OF EZi=H
» I'm afraid &30l —‘?'—’é!
ESESTl e

fo

_m

21 0| 204, M2kM can't7t

2 A UlE HMAE K5 AL
B: £20|X|, 5} 4!
4 ‘N% 5t Alck2ts H32 "'would like to-v,0lCt,

1 May | speak to Patty

2 Shall we book tickets for Dallas

3 | would like to introduce my friends
4 You can't use the elevator

1 > AMS X2 FSoM o7t ot ACE=Z MayE 2L
2 > YUEOA FRA7IS SHARL Mt o} o2 2 Shallg #L0t,
3 »~2 ot HOfek= S LIERHOF S22 "would like

4 > ~5}H O ECfEH= 2 LIEHHOL 522 cant2 2Lt

GRAMMAR IN READING

® Can | help ® Would you like © May | have

TspHo| ST
2 6EML, NE IAUN f3S Z/ASSNR7
DUl SRR AR S] MMz TiX; & HE FEOIL ML,
D YABUC, O B Ot RV HSIAILIR?
| Ok, HMESUL
DU gE 4 F LHFARNNL?
J==210]12, MainZt 447HX|0 2.
c 2|0 MetHS E LHFAINNK?
C2E0IE. 2014-7114%HE 522 AMSHE ELL?
DU, gU 302 Bk 22 Ao, NE DAtz HaF FANM
AL,

pS|
(=]

.I
In

oot oo oo
Lo 2o 2o 2
Pl
rr
oN

oA
rio

» @ "Can[May] | help you?,= R3S =A=2NQ? 2=
50|c
® "Would you like ~2,= '~& fletiUN?2tE SO 2,
ZOS kS [ M= HH0|C)

TIE= &

© "May | have ~?,= ~& LHFAIUQ?'2H= S0|Ck

r

njo



48 All right. Would you like anything to drink with that?
» to drinkis HEAIKZ! M1 toRGALZ A0l L2 CHHAL
anythingS $=AI3HCE

138 Thank you for calling NE Pizza.

» HX|AH(for) HO| 2& SAte SHAHcalling)2l HE =
2Lt

EXERCISE

©00000000000000000000000000000000000000000000000000000 0

A

1 You shouldn't[should not] drive fast.
2 He had better not tell her the truth,
3 We didn't have to wait for lunch for an hour,

1 U= 2| 2T6H0F &t — He el 2&oHH ¢ =it

» shouldQ EXSL shouldn't[should not]o|Ct.
2 = JH0IA AMAS LSHE A ECE — & JUE0A AMAE

ad better2| 282 had better not0|Cf.
oF H £ 7|ch2of 3t — 22l §t
ALS 7ICH eIt giict,
» had to= have to2 BAYO|H 2532 didn't have
toO|Ct,

1 ought to 2 need to

1 Y= & +{0foF Sttt
» should = ought to (~a0F StCt, ~sh= 2| £0H)
2 UsTVE 2 271 gtk

» don't have to = don't need to (~& ZR7} giCh)

C

1 have to take 2 should apologize, had better listen
3 have to come, don't have to

1 A:0lA Kd 7IXR1I7127?
B: OrgULCt Ch2 7IAtE EfMOF & ALich
» LIS 7|AHE EfOFCH SL22 Dj2e) 9|25 LEH = will have
toE 2L
2 A O S0l CHai JI0iH| AfzksHor SH.

B: =t O™ st X Q2oL
Al 22 S5 A £ 70k JFX| QoW H e FH & o
"s Y 2 Aok

€E) apologize AIIBICH / behavior #5, 39l / lose SACH

» should: ~afiof &tCt, ~oh= 7l ECt
had bettere ~ot= A LY, '~otX| 2o £0/2s HE
Ao|cfeks F, fIEel £8 LIEHHC

3 At HZE9AlOl 017] 2f0F SHLIR?

B: o, I8 HR SlEUL A7 SEd..

CE) enough &5t

» have to: ~aHOF BTt
don't have to: ~& 7t QiCt

-

1 | had to stay at home
2 You must not park here
3 You had better get to class

1 » ~8l{0f SiC2t= S22 have to2 LIEILHT, 1}7H9| 92 S
LIEHH T o8 2 I1Y had toE Lt

2 » ~5lH o Fffet= 2X2 552 must notQ 2 LIEtH &
UL

3 EB) on time HAZto|

» ~ot= A ECfets 2 should & had better2
LIEFHCE £5], SHX| M 2HEQI Aupyt o &= ol
Ct.

had betters £

GRAMMAR IN READING

1F 2F 3T
S0l= LOtHAETE AR g0 AF2|E it ofX|Zh 1800 ALk
01, DOtLAESE 53] St e AZE AEAMH. SA7HE0]
oftd G0 GiFotH, S22 50| SHUHM 55 LSO
L2 QT W25t S 2 XS SO0teHA| U 152



LOHIAESO| 0j2] QS ZH|5H0F SITKT AZERHCE, 134

Ac

Lt

19417] HT7401K} LOILIAEQ! TRtR 2|AET} BE 2 HiT0]

SUTL D %S (3) WA AN SFUC, TNRE, BE

ARIS0| 87k TS 9URI0F 51T, HRYS 201 7| 243 o=
ni

0| AZ=oHOF ST HZSHCE. TIOIHAE (0,

E?ﬂ
Bl
JH
dn
A
A

b1 19417] OJX0l, TOIIAES AAZ3I2 95} BS2 U7IaH0f
e,
— XTI} 2AET SHEP| H, 5 1947] 0[F0)
OfE% )\l-Q_BHE}_
2 250 TOIAEE ¢ixs
— O[Rl= WOILAE, BFT S3 BF 22l 550}

)

rir
93

St
3 R5E H¥FS S5 IS 20F7| sl o= gl0]
HZ6HOF BT
— 2AE SF 0%, ARE2 & 30| ¢ixst= AS
TEES B0FE AR MASH| =L Ol
MOHLIAE 2 OfL2} ¥ SFXI0l2 E sHEBict
224
83 ..., everyone thought [that musicians should

memorize music and play without scores

{to show their professionalism}].

» 2% A SAH= thought0l1, [ J= thought

SHOZ MOl BAPE0IT SRS and7t SA

memorize@ playS GZSICE { }= SAXZ 22
toRFAITR ‘FEH(~51] flaiM) S8 LIEHHICY,

lonr
'|9 g2 - HEje] XSAL
ZZ A} + have v-ed

EXERCISE

©00000000000000000000000000000000000000000000000000000 0

A

1 should 2 can't 3 must 4 may 5 Did, use(d) to

1 > &lioF 3oLt Ar2E
have v-edE 2Lt
2 @E) understand O[al5tCt (understand-understood-
understood) / sentence 2%

P74 Ardol| oigt 2EEel =5[HE]S

S| 42 Y2 352 M= should

LIEHE D= can't

20 G-ZONE

I'Ii

have v-ed2
3 > I ARAOI CHEE i“é'i* FE[CH]S LIENY = must
have v-edS £Lt.
4 EE) invent 2E3ICH / machine 714
> D7| AHHO| CHEH S5 255 LIEN Th= may have
v-edES 2L,
5 » 3o MElE LIEHY = used toS 2L used to2)
9|22 Did + F0{ + use(d) to ~2.,0|Ck.

1 would 2 should have met 3 used to
4 must 5 used to stay

» SHOF FHOLt MM|2= SHX| 22 Us F3lotal YLD 2
should have v-ed7t MEs|Ct.
3 A0 M2EO| QAU
CE) bakery 87, M1
> I MBS LIEHHE 2 would7t OHH used to
4 L= YETH SUS WUALH M-It AAS0| QUL
GE] item éi% / mistake &=

Hér st 2508

tt.

i
rs

LIEFHE 2 must have

v
e
)
>
m>

5 U= A I101| 2e M PRI O 0ld2 22{X| 2=t
CE) stay up (RFA| 2211) 7HOY Ut / not any more H Ol
~7} ord
» Z&SAHused to) FlOI= SAFEIHS 220 used to= ~ot&
iCtat= SolLt.

C

1 must have passed 2 shouldn't have used
3 may have lost 4 can't have won 5 used to

1 L= 247t O uids SOt shlsltt,
=197t 1 bjs sus0| S8,

CE) audition 2C|M
> D7 AHAOf| CHEH EHAISH = E[HE]E U
have v-edE 2Lt
2 Lis 22 S0 W Mt AESt e F3I5i
= L= Y S0 T3S ARSSIA| LRL0{0F 3Lt
GE) I'm sorry (that) ~siA RZOICH F3|5HCt
> Dt7O] YOl THaH ~SHR| LRUACI0F HCH 2L JHEH =

3|E HEr tHE= shouldn't[should not] have v-ed2

{0



&EI—
3 Otf= Marcuse 19| 7tEE U0HFCE
= Marcus= 12 7t QIOHHSA | ZELL
CE) perhaps Ofat=
» Dt AHROl| CHSH S2tA5H 255 LER D= may have
v-edS 2L
4 1 20| Z7|0lM 0]ZiChe A2 =7+t
=11 90| Z7I0IM 0242 27t &
» 2t ARROl| Ot 2EAOI =E[TE]S LIEHE = can't
have v-edE 2Lt
5 20| = 19 JPIE YLt FUCE XF IR Y
ALt

J= Y0t 19| 7S 22 it
> IO SHOILE HEHS LIEHY M= used toS 2L

D

@ | shouldn't have parked
® may have seen a car thief
© You can't have parked here

John8l ISA7E AT = 0, W A =S 017/0)
ZRIOIA| SRUACIOF JHOI'2fT WZIHCE T= ZHIHA Z207tM

"YUL NEX ESS HS

"GAI0] O17|0f RS MRS 2t goie. "Bt T LIgRLY, "LtE o
F9 017]0) YUCKDLL 1 John THE SHM, Z TN
9l Atg ot

CE) steal EXICt (steal-stole-stolen) / security guard ZH|H
/ thief =% / across ~2 7iL4A
> @ DAL WSO Tl ~GhA| LUACIOF RCH L FCh 2=

£3|2 LErd = shouldn't[should not] have v-edE
® l’f71 ARMO| CHSE 28tASt 258 LIEH TH= may have

© I Ateol Cht 2Rl 2E[HY]S LEE e can't

1 Did you use(d) to drink coffee after lunch?
2 | may have left my wallet at school.
3 She used to have a big scar on her arm,

1 U ™A AA 20| ALE ORAIE FHL?
» used toe UMY - MEIE LIEHHER o222 &Y
Did + 0 + use(d) to ~2,2| YEHZ MO S (Do you

used to — Did you use(d) to)

oo
i

b Dt7O] AtHO]| CHSH S2HASH 258 LIEN Th= may have
may have left)
3 4=
scar 5E1
> ItAHQ| AEFE LIEFE Ti= wouldZt OFH used toS £2Lt,

(would have — used to have)

GRAMMAR IN READING

©00000000000000000000000000000000000000000000000000000 0

® used to ® must © should

Zed @ OL Li= 21 ool THol M25h= S EE 4= Qlof. (2L of
o1

Y22 FHHE 47} 8

Owen : 5012 S&3212] 1 0{Xt0f L0I0f? A0 Hafot= 7|
ofy?

Zed :$EE JNIT QIS U 4240 T 0} HSS bR
2o,

Owen : OFOF A M

Zed 0= MAOIAM MY FIESH AZO|OF,

Owen : 1% 11 0§StE| CIOIES AIZGHOFK.

Zed ' OlHlE U2 =2X= g2t Lhe WIHOEA L7leX O
OHBHE ZEHO{O0F

Owen : S XtHGHA] Of,

» @ used to: ~oH ZUCH (DAl &2 AEH)
® must have v-ed: ~0|A30| EGICH (T A0 CHSE

© should have v-ed: ~310{0F giCt (147 = 0f oy

o
Hoh
ton

1

02

Ah, | can't stop thinking about h

» fcan't stop + SHALE ~ole A BE + Y=
so|o,

108 | should have told her [how | felt].

» [ J= SAtold2 ZHEH0|Z M0l 2HHO|RRO R
OIZAL + 0 + SALE| &=MOICY,

i

0x
i
g
%
X
N
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20 +=eeima  zey

EXERCISE

©00000000000000000000000000000000000000000000000000000 0

A

1 was hit 2 be repaired 3 Was, chased

1 A A0 2& Lol URAL?
B: Jld= Ao R0,
01(She)7t &2l(hit)2l CHal0|2 2 +~SHIE
AlHI2t Z0] B IAHAIHIS MO, 017t 3218 H0/22
"was + v-ed,2| HEHOIC},
2 A S0 of™ Lol Mz
B: Iz f21g 7ok
repair UX|C}, 2|5t
Z0{(It)7t Hl(repain)el HA0|2 2 +FEHS LLCE A
AlHIet Z0] B O]2§AIKIS M0F SI22 "will + be v-ed.2
SEHOILCH,
3 A OdU4eE I Mol 23U
B: &, a0
chase ZCt
=0{(she)7t &?l(chase)2! LHA0|2 2 +SEIS £L} B
AlHIQH Z0] AR IAAIRIS MO, 3017} 3018 H0l
Q220|122 Was + 0| + v-ed (+ by + #2IX) ~2,2|
HEfO|CY,

1 should be kept 2 will be picked in fall
3 was introduced to Europe by Marco Polo
4 A song is being played on the radio

1 Sf&2 XFAMOF St

P RSALE HEE +FE= TASA + be v-ed 2| HEHOICE,

» O[2HAIK| 2=SEhE "will + be v-ed,2l HEHOICE
3 MAEN= 023 220 ofoh F ATHEACL,

» >SEICO| = TbeSAt + v-ed + by + #IXLOICE
4 5ot 2T QoM RS QT
T3S eS| HE= beSAt + being v-ed.OICk

v

22 G-ZONE

C

1 O 2 should be finished 3 was rejected
4 was put off

1 4= 200220 EYof=iY?
2 0| BOM= =QUNK| ELI0F i,
Z01(This report)7t &@|(finish)el Ci40I22 S~SEIS
Z&M(should)S Z3fet +SEI0|22 beSAH| H
be— MA TESAL + be v-ed,2 2L,
3 49| XAME HEZUCE
CE) application XM, LA / reject 71Z5IC, 7HESIC
» =SHQ 712 HEl= e + v-ed,0ICh
4 ZMEE o 2 3¢ A=,
CE) put off ~2 7|5t
» SA(put of )7t +SEHOIA AU T, SAt EES beSAt
+v-ed,Z HHI LIHA| 222 02 20,

1 has, been solved 2 will be published
3 was turned on by 4 is being interviewed
5 may be announced

—r
v

srjet2s =SH= havelhas] been + v-ed,2 L1,
DI2HAIK| 2=SERQ! "will + be v-ed,S 2L,

Eie SAt 228 beSAt + v-ed,2
JIOHE 20 #RAX= by MA

N
v

w
v
i
>
41
— U
Ho
ool
rﬂ
AL >
rlo o

[Eal=s!
ol
ro

o

4 » A +SHE beSA + being v-ed,2| HENZ £L}
5 » ZEAES TS +5EE TREA + be v-ed,Q HEHZ A0}

GRAMMAR IN READING

A @ was carried out ® was discovered @© believe
B 1T 2F

g = 1904258 19067 =0 1,0207H2]
ge YEIUL 1 M= Sl Yol 72 5= Aol Al
0= MIAIRZE E0] UAT DR2 0EA,
L0l 1 HOo| HZU=R(0f et BEE 2FIUL R
Ho| & Lol (H22) SORACY. Wath, 11 &3z O 0182

0l zislx| 21 ZdQE ML, T2 T s

0%

I
-
~



» A @ F0{(The experiment)7t &2l(carry out)2| ChA0|22
SSE7H MESI, SAtT(carry out)7t a~SE0|A
Ml [[Hi SA 22E 'beSAt + v-ed,E HHL LIHX]

= Itz 2

01(a bottle from that experiment)7t

(discover)| H&40|22 SEf7H MMatCE

0{(Many people)7t &¢l(believe)o| FH0|22

EH7H MHSICL,

2 19000 =0 HWEFAUCL

04ERE 1906E7K| HEL AU Z 1900EH

oI,

®
02 4o
H

4_10

©
Ir 4

- -]
Y 4o
- o

o Of
nJ|n

b

ol
Ty
o
o
=
mE
]
mn
3Q
in]

o
b=

N
vy B
Ee

Iz
I
10

Mo oF o
0.
T
foh
ne
ua
jles

M Hr
=
0% rlo

e

oy

m

Pl

52

$Q

[m]

oo
r
=
inl
H
rin
ol
=}
mE
™
m
3Q
nr -
Ral

28 The experiment was carried out [to study the flow
of the North Sea’s deep sea currents].
> [ = RARE 40 toRFATR "FH(~517] sl
ol

ul
02

It asked for information about [how and where the
bottle was found].

» [ J= ®XIAL aboute] SHOZ MOl ZHYO|ERO R,
OIZAL+ 0| + AL FEIO|CE

D1 zostorz s

EXERCISE

©00000000000000000000000000000000000000000000000000000 0

A

1 to smoke 2 filled with 3 to me 4 with 5 to study
6 to ring

1 152 5% TN HHE Ieas ¥s ST
> 22| HO{(to smokel7} toR BAIS! 2F2 45
SHUME 252 208 IR 2ot

2 072 AMSHEERAZ RN QT
» be filled with: ~2 YA QACt

3 U9 OfE SAHE2 LHYEX| Lo HL§XO0F Sht,
passport B / copy SAL SARE

» SAZ} send0| 2 ZIHZX0{(Your passport copy)S

=l
FO0I2 5t ~SH 2H0|BE ZHEX0{(me) oIl TRIAL

toS MOF Bk,
4 Jamiexs 11 SEO| MH|AO]| MY DHEAMCE
» be satisfied with: ~0f 2r&3atCt
5 & Yt 30| O SE5H=S AFARLCEL
> AIEEA makeZt Qe ENE SSHZ HHE O, SN
A to

H0oj= SAFAYOIM toFHALZ HHPICE
6 1 MaptoiE 3Y 22l= 40| SMCL
CE) all day long 5% &Y
P XIZtSALS] S 20{(ring)7t SAHAEY ZR, +SH

ZHUA toFYALZ HHHCE

1 was made famous by a photograph
2 was heard moving 3 were made to clean
4 was told to wake

JHE oM UEUL. — e B

MReZE &
P 2MZ HHZ MOl HZAF famousEe S 2HUMT
T2 MoICt

3 Norris JUL| Ij—I01|7| S|
Norris M0il 2[3H 2tEas FASHES AARL
> ASSA make?t Qs 22 SSEIZ HIE I, 247

20z SAHEY0A toR A= HHEIL

5
z

mITJ

i

O\'

\r
oHW

i

|-E§ A|94|:|— |i

4 L= J01A T Ao HEetl 2t — J= Lo A oA

Alofl eigEts e SUT

CE) wake ~ up ~2 Lt

> SEZA B0V} toR YA = +SE 2YOIAME 2=
oA 2O,

C

1 was made for 2 was given to, was given
3 are taught, is taught to

1 A7) Z|0iA 4L #H0|2E 250 TH?

B: OfL. 22 &lIRI0|S fla 2FE0IR0L.
» SA buy= H=EX0i(@ birthday cake)tts F0I2 4

SEH

2N £ 2 oo, 0| ZFHEX0i(Hyein) Y0l fors ALk,

2 A:Billo] JackieOllAl X17| SHS FAL?

0x
o
g
glz
[



B: OtL. 2% AmyoiAl ALIEOL
= OfLJ, Amy7t 9] 24 wig}
> EAPL give?l HS S JHX| 2SEf x|
his notebook(= I)0] Z0{2 401 £5Ef 2x2 ZFE= o]
Amy Y0l toS £C} & #I| 23S 7HISH0 Amy7t

FU =2 A0 ~SH 20|,

S
or
el
o
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1
1
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(oA 7IEXMAML.

u

= U, Stot., £t 1140 25 ?

> SAP} teach?! ER =
you(= We)7t 0{2 A&
math7t 02 A0l S5 EF0|CH MYEH0IE =02 &

M= ZIESH0 2ol toS 20

Hu

D

1 ® He was elected chairman
® elected him chairman
2 ® A ring was bought for her
® bought her a ring &= bought a ring for her
3 ® He was seen stealing someone’s purse
® saw him stealing someone’s purse
4 ® | was told to wait in the car
® told me to wait in the car
5 @ was made to take care of her little brother
® made Tina take care of her little brother

1~5 » @= =SHi, o= s3H ZZH0ICt
1 ©2R2e I MELE S0
CE) elect &Lt / chairman 2J&, AHY
> © FEZ H0{7t HAHchairman)?! sSH 2
>SH ZHM=E S HHE J0= 20t
2 ® 19| OfHX|= IO BEX| SHAE AF FRUCE
» © 7FH=EX0i(her)2t =0 ring)7t U= SSH
230k

0zl

Otk

H0i(a ring)E 012 3t +SE 2HOICL SAt

> © =54 20{7t SMEAHstealing)2! SSE £XO0|C
® >SH EM0ME SE5Z H0ig O 20t
4 ©® d= LA XHollM 7|Cr2f2 il 2Rt
> © =54 20{7t toFHAHto wait)2l SSE 20T
® >SH EM0ME SE5Z H0ig O 20
5 ® Tina2Q 0t= TinalllA 284S 27 3ich
> © AHSAL makel] SEZ HOZ SAHE(take care

ofig & sst 2FoItt.
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GRAMMAR IN READING

©00000000000000000000000000000000000000000000000000000 0

@ interested in ® satisfied with
© worried about @ known for

Tom : &, U4 2F g2t 22I0} Sharon.
Sharon: 171 L7t (2F) 25 6t UNA I = 04,
Tom :Of HL? Q7 22 A= of7| AIR3H0?

iy

e

Sharon:

Tom X|CH (XIZ7HR) & disi=d?

Sharon: OIH| FAZ|E & 4= U0, HS0l= EfEE L= 2
AERE=, AL AHEE TR0 252 AtHE2 0
SAOIM Z1Of A= G{AX|LL QA0

Tom L} 20 &2A & A Z20H 22 Bk 7|&2

FEOIAIEE

» @ be interested in: ~0fl 0|7} Q/Ct
® be satisfied with: ~0f 2t=atCt
© be worried about: ~0f s Z4A5tCt
@ be known for: ~2 QE5ICt

38 Oh, really? Did you start doing yoga or something?
P start= SE0IZ STAI} toRHAME BF £ £ QU=
SA0|H, 0]2t 22 SAIZE like, love, hate, begin,
continue 0| Uk

83 Choi Seung-li is considered the best teacher in the

city.
» "be considered (to be) + BAh= ~2 O{HX|CHEt=
50|,

| think [(that) | know {who she is}]!

» [ J= SAL thinke X012 MO HAPERE FH&AL
that0] M0} QUCE { }= SAF know?| SX0IE2 M

UHOARECZ, TOIZAL + 0 + SALS| HEHO|CE

—

o
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=



REVIEW TEST 02

1@ 2® 3@ 4 You ought not to take off your shoes
here. 5@ 6@ 7® 8® 9 10@ N1® 120
13@ 14 ® 15 (1) was sent a skirt (2) A skirt, to

16 @, ®, @ 17 was doing 18 had, left 19 will have
been married 20 ® 21to 22 @ 23 must be some
mistake 24 @ 25 (1) should not (2) must not 26 ®
27 @ 281 29 300, @
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= 2271 gt Wot 010 SAREE
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» don't need to= ~& =R}t gitfets =02 don't have

too} HHY 2 4 9Tt

<Lt R4 AN S0) 12 DR 3k X1 ofR s
DAIR 2C,
2t AREFHS 24T QIMCE BHRIRH XIZ U= Wt
= AN
> IO ST MEHS LIEIHD, ‘KIF2 X Qiyets ojnis
= ASAE used toOICk T4 MEHS LIERS T

@ L= M AREIE A Z0ICt

@ L= Xz =AMl 712 QUCt

@ Lb= & AlZh 2tof 0] 21145 2 20|t
@ Le ®MH AMZ F45 98 200t

CE) noodle =24

® L& WY JHE 2 Ao

e

@9 be going to= ~0fl 7t QUCF2t= S22 SAF gol
STHTIAHO| L, LA ~g AO|Lfet= 2= O)2S
LYEFEHCE

e 07IA MEE He 2 -’;EEL
— UE 071N M HX| o= A S0
» ought to= ~alioF Bt ~6h= A ECFeh= 0|, 2HE2

ought not toO|ct.

Qlofl UAL? H7IM HE = 201,
last Friday)2 0l0F7|5t1 QleB 2

L X% 32 3
&
AR 24

Joe, 22| & EUF. Lt Az AFZED M2 0[017] SO|HE.

12
turn down £2|Z Z0ICt / boss AR, AA
Lotz 0 &=7t0f T E21 Y02 = HITIYAS 20t

N

Cg & 220 Sam AE0]

)

CEBAIR, o 12 2 olo}

10

n

12

13

) hug =8
> IS LIEIL= 2APEOIME SIS MM D21l YS LIEHHTY,

X Qsh= W7t 7H Z0tste
100|LE £Hod,

so far XIZ7X|

> UAHRE SIS BEe YT M= FMAZTHS 201

HOH o IS XK

Tomo| OEIE &S kD QLI US 47+ ¢
X Qi S0l0f,
> IIRE SR DYED U U2 YT B

AMARTIAHS 2O

rz

® Chad7t @Cj49] &Y ZH0]Ct,
@ Chad7t C|H9] 25X 2] glof,
® Chad7t 2C|H9| LEAILR|E 22,

@ Chade 2049 2&XH2/0] EERI0].
® Chad?t 2O L&t OFEX| = S2t,
» ZSAF can'tlcannot]2 ~Y 27} giCfets SO =2 IR &$t

HYM =
To T

£5 LfEHHC

@ JEEe J0A O3 Ao UsisSX: Z20t

@ J4e J0A O3 Aoz U}HS0| SEelCt

@ J4e J0A I3 Aoz Uig 27t QiCt

@ 4= 201 O3 Ao =2 2300k KL

® JHe J01A I Ao ZSIX| LQL0{0F FC

» 'TZZAL + have v-ed; HEHZ D140 THEE F=0|L AES

LIEtd 4 QUCt "shouldnt[should not] have v-ed.=
‘~GIX| LUQA{OF SHCH L} L) 2t= SO =2 1}71 S0

Al LE ORIEE HOI7 2 HOILE TSHHRI0].
0jotsl, L7t Lol SHEES QIOHRO. Lis LI A
#MEZS A Aok
CE) several 222
b D749 UO| HIIK| &
20}, ORIRE XI27tK(since yesterday) Mai3itHs g
LIEILHE 2 have called”7t ZHaICt,
» 27 AE(on Monday)g LEH = L0| LI 22 BAAIK]|
lost7t &&atCt

los)

FEHS DRl ZLO| BRARHS

» Oj2f(tomorrow)S LEHHE 2 Twill + SAHS S £L0t

@ U= 7120] £0t.

> SAt feel% 7I20] ~oltfets K22 MAYS U= HlHo 2
2+ AL

@ YOz =t A Lt

> AZtS LIEE SAHsmellls TR £ 4 gict

(are smelling — smell)
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@ IS8 F U AHE 74X QCt,

> ARE LIEHEE SAHown)= TIHEHOR £ 4 QiCh
(They're owning — They own)

@ J4He Uf MeHsE YAC

P AN M2S LIEHE SAHknow)= TR £ 4 QiCt,
(was knowing — knew)

® J= Rosalt ZEZ5l|E Sl §HCE

> AN MZtS LIEHE SAHwant)e TR £ 4 Qirt,

(He's wanting — He wants)

® Hansz JHE QIEFE
» be able to: ~& 4= QUCH

= AN
@ Rz HHIIE E & ©

UE

A
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—

= was able — was able to)

= QAL
CE) board (HiLt HIZYZ|0f]) EFCH
> F07t 540|122 beSAY] LHHS wereS 2L
(wasn't — weren't)
@ o0l IR0l S 4= S A0,

g0
o =

» 0|22 will be able to2 LtEHHLY,
(will able to — will be able to)
@ Iz A=0iE & 2 ALe?

foreign language 21204

» be able to Foli= SAIEAS 2L (speaks — speak)
® 152 1 20| g + Uit
OS2 Ul ME2 X|0tE 2R
(1) Lhs 2S00 X0tE 22 AT
> HESHOIE FOHZ 01 ~FE 20| +~SEC| 712
HElE ToeSAL + v-ed,0ICt. TAHAIR0| 12 047} [0]22

beSAt= wasS 2Lt
) JE0] ofah Lo ME=2 =LA
» AESHNE FOE ot +SH 242 UE U=

Cf A sendQ| AR MX|AtoS

2o

Ef.

rx

O U= 159 g OE Aol.
CE) policy B4, &
@ = 25 0470 RX|

P ZSAS LESAL A0 A

g

UASK= ZEL

S23E UEUE=
HF2 F0fl 2Lt (hot may come — may not come)

@ L9 o= & L2 Aojd = Qo

> ZSAL FHOilE SAHERHO0] 20,

not2 ZSAt

(can stands up — can stand up)

@ U= U ZHEE 7tM4etoret & Zio|ck,

40104 £ £ @128 2 mustZ have to2
HHEEL (will must bring — will have to bring)

® Lucy= 11 EHIE E0{0F & Z0|Ct,

» ZEA 5 S

4 Fagrrdez 2o s0i3)
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v-ing.2IEl, 017t [0]22 beSAl= wassS 2Lt
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Aot £ 2
WHAZSHL Thad + v-ed,2 2204,

» 0212 Of= AJZE(20209)0f 2tmE A
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2 7tE2 FEO0Il Z Zolct,

2 @ Ug 0 @ X[HaH0| @ st S0 ® O[F 2o

CE) at the end of ~2| Z0j|[Z0]]

» O[2H0i| 317 |= 7|25 LS ATIAHCZ LIE 4= QT
Q2 UHE HEIHEE A 2 = it

« 0 A2 O[] AV ZE MRS L& AO|,
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» be known to: ~0f7 L2{X QUCt
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(2) 24E FHHEHE 7FM7EME oF EiCt,

=) make a noise £8& UL At D|RC} 22 |;|;|AI_
= F— | — = °
» should not2 "~6tX| 2= A ZECtete 9F-E1UE, must

not2 ~oliAl= 2t ELfets SAIE LEFHICE

=

26 4= FHls 77t Al EO. 2ef T2 X| E=0H, dlE=
HEE QoI O SAE 78 =~ gi2 AT EXERCISE
12 o160 AI0| gitin HOD2 KAS 25| o8
SAE 7 £ Q2 AOl2ts 11 = Z119| Q0|7+ E0{0f A
ST}, 0249 522 will be able toZ LIEILD, 2HSS 1C2U 3U4U5U 6C7U 8C9U 10U
will not be able to0|Ct 11C 12C
27 152 UE HoIM 3 AIZH 59 7|02 3Tk, 1 R 2 Mw 3w
> 20| me7t +SEf 25| 017} O FZHOI B M, 3 5 7t 6
AAIHS] BH0IDE beSAHE wasS 201 AISSAL 7 28 8 =X 9 EE
make| 2xZ RO|(SAH)= SSH SHUA toR AR 10 71 n o= 12 2
HEEICE 2,4, 9 »freedom, friendship, chaosi= F&HAOICE
3,7 » Paris, Februarye I2HALO|CE
280 =1 °*'01I 2= 5, 10 » furniture, gas= SEYALOICE,
@ 0] 7 A= ZeAEA AHBE0{0F BiC,
CE) with care 4_.:!_%17“(: carefully)
© 149 2 Johnson £Q10] 9Jsf SLO0EIC B
@ 1 tf2|= HDAO| ofs 7441l Tk
® Willy7} Caroloii7 0[0F7 |51 Qi 20| 2HZIC, 1-1 two spiders 2 one ghost 3-1 five candles
> @ SAHT take care of= £SE|Z HIFICIEE FMEIAt ofS 4-1 two photos

JCHZ MOF BLL. (is taken care — is taken care of)

29 @ 1 HX|= Lindaofl oJai AQiCH,
@ L= WY stuolM 325t Qe Aol
@ Judy= 22 & U= A0 B0,
@ O] AFZI2 LH7F sHRlof N SEe o 2! 20Ict,
abroad 3i2/0] A, 322 1 cake 2 glasses 3 sheet 4 two 5 cans of 6 were
® 1 Z71g2 524 EIMZE Y2 AEER MAN AU 7 arms

o1 A
» @ had better 20l SAHEEE 2L} (had better

1 Us 5 2200 (038 B2uM =3t
stays — had better stay) T =
P A 2 Qe HAs TRIS MM THR + of + HALR 25

r
m
=
o
<2

) I HAFS SHAL CEAB O 2 ML
30 7I%: 24 & B2, Charles? 1B !

_ 2 I B FE HO| S RO 9fole oAl
Charles: A= X-game M4:012! A B7|S 5t%. M= ce T N ) = o1 ojat o
M A Of= TYALO| QFS }EFL = CHO| O|ANO|H THo 2
DY O SAI0] LojLIM SISEILITE Ao 5 Jjo| S > BhS BAS ES LR T, T O9 0101 HIS
j ) =2 Faisi)
0|21 20| X-game M43 THEI CHS Z0) UALIC ] ]
L= 2i0] Ad ZO0|S 3 & 7p240F BiCt

athlete @34 / trick 27|, £~ / practice

of

31Tt [ win (27]01M) ~2 Tt » paper= "sheetlpiece] of ~2 S BHSICY,

= JHO| HIZHE EHAF BFO 2 JHLH =AILI?
b @ HIEES o &7 S2 HXANIE BT (woke up — 4 7 IHS HIAHS HE o= A =
pillow HI7 / out of ~o| &2 / closet HZ

wake Up) M Aol L crol= MX| ot=
@ T2 Y(Last year)oll Thsh 010PI5HD U2 SAtl >l % GIE BMUE URS M2 MK e,
TS WOF BT (win — won) 5 Ronaldo= Al 72| BHMZEE HIMFICE

o= — .

» sodats "can[bottle] of ~2 Y8 EHSITE,

27
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i
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6 ZEHO| =20 M UAC Ellen Church@C. 2= HEZAAT H2AO] ZESAIRQ!

2 T

» police= 1 MHZ S430|Ck £ HI7I0A st Ao Mo HE S 20, Ellene OFELY
7 SAs2 U RIS 7KL 2 4 QiCh 193001 HUSPRO0| HRACE T E6t 7HO| T2 ZISALES
CE) passenger 32 / carry LI2L} *7EX|1 CHCH WS IS EH URLE 1SS OXIE 0] Y & 2 QlLt=
» an arm2 (AAH2) T'E, armsE RIS Sl NS HOFUCL OS2 BE oty HIY F0i| S2EE MS3HC
JE2 T35t oty 2MQIGle SAES SHEUCL 052 E8S!
MHIAE T2 C2 SZAM0| Qde FUCH J2|10 22/= ||
D OICIALL 04Xt SR BES & + UCh
1| need three pairs of shoes, b ©@ 2z STAUS B BOIT, F0| T4 SAHwas)7t Y202
2 She put her scissors on the table. Chasioz Mr)

3 He took out his passport to go through customs,

' © A0l sevenll2t=E AP} LIREZ 54 30 = 20
4 Bellia pointed out Grey’s bad manners and © 0| S LIEHS a7t 21T, Slof 24 SAwere)}
selfishness, 9loOZ EASOR ML}
5 Economics is his favorite subject, @ 824} ill and terrified 20l S42 LEILES ano|
6 My mother is brushing her hair. gloo2 =AsOR M}
7 Salt is used in almost every food.
1 U= M Zejol o] Test
b F i7t HOR O|ZO0fR BAHS ©9| pairg MA TS 18 Do you know [who the first female flight attendant
LIEFLDH, =40 225 LIERE W= pair0l -s5 2040F SHCt, was]?

(pair — pairs) » [ JE SAFknow?| SHOZ MOl ZHIOIREOZ TO|2A
2 O XS0 DUl J19IE SUC A0 BALS EME 20,
b = JH7F WO B 0|20JTl HALS SHA EASO R AL} 78  They showed [that women were also capable of this
(scissor — scissors) job].
3 D= Mus S0s| s dEes e » 23 HH|2 SAHE showedZ, [ J= showed2 £%0{2

» a custom &% / customs Mg Al 221 BAFHOIE. that2 BAFES 0171 HAALO[C,

(custom — customs)
4 Bella= GreyQ| L 01} 0]7|8S X|IXACL,
point out XIZ5ICE / selfishness 017|154

» a manner: 24 / manners: 0|& (manner — manners) _
5 ZHs2 17t 7k E0tske H=olt
economics ZASH 23 I-AI-
SRHO =350 i

> SHEYHE 52 BLIGEIE H FFSIC (are — is)
6 L9 oLz H2|E i QUCt
> S MRS 8l RJACHe 0I0|2Z hairs H4ZE ARSSICE
haire & £ Q= 42 "2719| M2|712f'0j2t= S20|Ct, EXERC'SE
(hairs — hair)
7 AF2 79 ZE SA0| AHEELCL A

P salte & & gl SEPA0|IEZZ S FZSITL (are — is)

[iC

Ta 2an 3an 4a 5x 6an 7x 8x 9x 10an

1Ma l12a
1 M4 2 o] 3 F=¢ ad
GRAMMAR IN READING s i . s
tececcceccteecttcsercserccecsctrecerccesscessssescrcsens ; = - -
@ attendant ® nurses © women @ passengers 10 =I5t Al 11 X 12 2o
=9 A+ sRHEH0| =TA| OF=71? RELAU? g, J1H9| 0152 > LSO AHS22 AESts 2O Y0l aE &4, T30 2322

28 G-ZONE



1 A text message is more convenient than a postcard.
2 He spends his time with a sheep every day.

3 Ms, Murphy teaches my child.

4 Lisa made an egg sandwich with her uncle.

0 L= 2Aote] AISS YRHH.
— Lt= HA0t9] gt EAIE HE3
1 EXHAXIE2 GMSEH O Helsi
— 22X HAIXlE SARCH O Helsict
CE) text message 2At HIAIX| / convenient B2/t /
postcard GAM
FOUL 7t HRUCOE SME HRYOR HRRLL

o

(are — is)
2 = Y LS} A AIZHE 2L
— J= Y & 3t Of2|<t SA Al7he EHHC

» sheep2 Hh31 f%#aol SEf7E 2T,
3 Murphy M= L2l 0t0|E2 7t

— Murphy M= Lol 0f0|§ =R,

» children2| ©~&2 childolct.

4 Llsa._ JHOI *:é%ﬂ S EE MELIXISS TSIUCL

0~4 » 4 —1‘— UE HAL| HE Y0ll= a(n)E A0, an)2t

1The 2 x 3the 4the 5x 6 x 7 x

1 2H2 M2 d= 712
» Li2t OIF 0= HALS M| BRI 02 7HO] 4O ofLte
=I5 0|2 HR= theS E0ICH.
2 OMHX|= L0 M| 2 HHERIES SHUCE
P ARX O|F Y0l BAME MX| b=t
3 YUE SHols /1Y £2 UE2 FAIL?
> ZYE0| BME FHE e STt A5 UEUHEZ &0
theE 20t

4 0| 0|37t OE 25t RYst MS0|C)
» onlyZt HALS T Mot Ag LEER 2o
theS #£LCt.
5 Lt= E{AIS EfD 047]0fl RiCE

MU
rir

» oy + LESTH 0= BAIS MX| oh=Lt,

6 U= 28 w7t e MYs YL

> AAH OIS ROI= BALE AX| Y=t
7 7hd TEO0f Sfid 7EK| Rot= B2 0f0|S0] U,

CE) poverty 7t

P YATL E 8RR M Th= 0| BAE KX Y=t
D

1 She's following the dog. &= She's following her do
2 That's a good idea, 3 I'm a fan of yours,

g.

4 The sun gives us light. 5 Doctors take care of the sick.

1 JUE J[ad] HE w2l A
» the@t ARZ2 A £ 2 QICL. (the her dog — the dog
EE her dog)
2 A2 E2 4|t
P AL + EEAL + FALO| HENOIT, idealt M & QU=
H=HAIO| L goodQ| LZ0| A2 2 AIAGIER a5 0.
(good an idea — a good idea)
3 Lb= gdlel mojct,
P a(n)2t ARAS & & 2 QiCh tal fa(n) + HAL + of +
AR, HE2 £ (a your fan — a fan of yours)
4 EHY2 2017 €S FO
» sunit 20| RUF0IE Holli= A theS Lt
(A sun — The sun)
5 2ASE OFE AIMES S2C0L
> YEAL| theE 20T "the + HEALIt H0] ~5t ARE
0]2h= 50| =Lt (sick — the sick)
E
1@, 97| 0|2 0j theE 2
2 ®, EX3t 2S LEHE L(only) 0f thesS 2¢
3 ©, RYUR0IH A A0| theE 2
4 ®, YN Lt S ChA| 2B317| 2UsH thert 4
5 @, "the + HBALE ~3t ARIE0|2HE =8 '-fEf:'.*

[27]] @ 2t HoH7t A= AHES 252 £92 0[0[7|& 4= U
® JamieZt OFX2f £HO|ACE.

© 2= A=HE AI70F Bt

@ Jd= 7|EtE aAFstt,

© L= SME0 ULy 11 EMEE MOIUACE

0

W N -~

JUE= HiZ T 2ol SORT.

[=F] o+|;|r0| 7

l_l OI')\ EEO

0x
i
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GRAMMAR IN READING

® x ®a © The © the

ASA? HE?

H=9| 5t STt EHQI & TS UHUDL Aquadazid
=0 1 28 +U2 U2 NSX0|1 22 BEO[L. |X0M=
K7 A% 150kmof ZEHCE I0HS0l, X HE SHig =2
Aquada= 114 BEEEZ BE £ QITh 2 2I0M= 72 Al%
55kmofl £E8 2 QICh 1 A= Aquada’t W& 2HE

fon

AN 71 Heet wES4+H0| E 4 WIS sldettt. 2HaHM
Le|E dUs Ao AF—ES2 2 I 20 4+ Vi 2Rk

HEn

» @ LiZ} 0|5 A= AIS MX| Oh=LCt
® Mg AHFote= vehicleO|E2 aE 2L
© 0]0] ¢ZE vehicleO|2Z TheS 2L
@ Z|&Z(most convenient) A0E theS 2Lt

48 ... just by pushing a button, ....

78 Instead of driving across a bridge, ...
» HX|AKby / Instead of) Flofl 2= SAl= S AHpushing
/ driving) SE{2 2Ct.

58 The company hopes [(that) the Aquada can reduce
traffic problems and become ...].
» 2% HHQ SA= hopesZ [ = hopes? SX0{2 X0l
YAPHO|H, &AL that0] M2E(0] AUCE AP QtoflA] SAt

reduce®t become0| SITSA andZ Li2to| HZE UL

30 G-ZONE

N
24 CHEA2] 7H,
AMCHEAL, HHEHE AL

EXERCISE

©00000000000000000000000000000000000000000000000000000 0

A
1them 21t 3 They 4 Her

1 A4 Paul®t 12| 0154 EH-I?

> SAb saw9| %E‘OW gestez the o] EX221 thems&
2ot
2 LiH| StOp2(7t otei2 g1 O IR OtEEL
3 LU= 2ME A0|0 5t Z0fettt. RS2 MU,
EE) romantic comedy 2 F0|C| Fst
2,3 » 30| X20|22 FAHS 20
4 Anniec M2 LIojA M2S 2HCE J49 HE2 LIS
HE=SIA| B
> HAL A0l M0f ~O'2h= S22 LIEHHOF 5122 She9)
A0740| HerE &[_l»_

1x 20 30 4x%x 5x

1 U RS s
B) take a look at ~S ECt
> XAt SHOZ M0|0f BHEO 204 F0{2l yoult 22
AEE JH)7|0 e 82 M2ke 4 girt
2 L= &2 O IM0|E PS40
3 U7t E0tete 242 1 I3 AXoIC
2, 3 » ZZ57| ot 401 THHNE A= Meret 4= QIO
4 Lk= H=20] GiIck
CE) burn st YsICH / stove HZE
> SAL burn2 SEOZ M0|H F0 19 22 AIFE 7t2)7|1
QloOE Mzkst

5 =2uej=<2 Bez
CE) earn O
» by oneseIfE EXECREHE SOE MOl HE

HEH0|D2 M2 4 g,



C
@ This ® this[that] © this @ that

Joshua: (HEM2. Lt JoshuaOf. ChenO|L|?

Chen : 38, Li0Of 22 20[0F, Joshua?

Joshua: 4 1 44 EQILI? Cindy7t AQHOZ O[AL Z Az,

Chen : 21t 32 230f. LA O olop7|ah 2t

move to ~2 O|A} 7tk

@~© » M3} S35 & [ MetE 71 AR this, BH2 A this

E= thatQ & 7H2J7ICt

@ » ol LSt HES AR O thatg £CF 047|A] thatO|

Jt2)7le g2 o 2% MA(Cindy ... Sweden.)o|Ck

D

1 himself 2 by myself 3 her 4 yourselves

1 > F0oi()et SHOIR)7F 22 AFRI0I22 THHHBAE M=
20| HHs|Tt,
2 > by oneself: ZXtAM (= alone)
3 > OO} SX0|(2 KXNT7 CTHE AFH0IZZ MBS
MX| =,
4 respect Z&0ottt, ZZotCt
> FO{(H3))2t SHOYAAR)TE 22 AIZO0|2 2 KHUEAS

M= 0] HHolLt,

1 | can't memorize these words because they are too
difficult.

2 We ourselves designed the building.
£= They themselves designed the building.

3 This medicine is bitter, so | took it with candy.

4 Did Alberto bring those boxes?
£= Did Alberto bring that box?

5 She stared at her reflection in the window,

1 0] HOIS2 UT 07| H20 U= 2ASS 71g + gl
» H&Ahbecause) FI0fl 0[01Xl= Ho| =0f Xi2jol= F2S

MOF BtCE (them — they)

2 RtAF I HES UK. / 250] AF T HES
CIXFQIZR04.

» 01 WeE ZZ517| 2lol 421 THHBAZ, 2

P
mn
rr
ng

o tl
HiZ FlLt 29| W 20| A0, 40| 7s5iH F= WeS
They2 HHEL}. (themselves — ourselves = We —

They)
3 0] %42 M7 R0 Li= XS AT 8H HIUC

CE) bitter (30]) 2
» 20l L2 This medicine0l2te H+BAIS HAGIER itg
2Lt (them — it)
4 Alberto7t X 4XHES 7HK|1 ULI? / AlbertoZt X XIS
ZERI gL?
» that2 H2YAL thoses S4YARL SIH| A0{0F SHT,
(that boxes — those boxes L= that box)
5 s ZE0| HE Ao BES Hi2tEQACt
stare at ~2 H{2H=L} / reflection (712, 2 S0il) HIZ!
2%
> 2RO SN0z TIHY BE0|22 THHCHZAL CHAl HAL
reflectiong #=4lot= 282 herg 20 (herself
reflection — her reflection)

GRAMMAR IN READING

©00000000000000000000000000000000000000000000000000000 0

A @ female orangutans ® males © flanges
B 1F 2T

g=ot £2 LYPHA Qs SUXEL =2i= AL =
MEE= YA QRO tHHX0|C,, 252 B8 (27

o= ASEHAS)E0h= 2UAVL s +RES T Z01EH
JAs 7|2E = 9 200 H0| 22 4= QU0 SHX|S] o
e DIRlE A2 LOtE7| 2fol, 2efitE2 QEURE Hids
oto] 2 2& XIS SHOIYC. OS2 SHAPt U= +RE0] =2
TR HAEAHES 7ML H HYotts AS LHU SR
SURPL Y= #AS2 O K2 X9 HAEAHES 7L 2N
Cf ZQAC

v

A ® & 20| Lk2 HAL female orangutansS HAIGHA]
CHEAF TheyS 4Lt
® (EHX7H A=K GU=K)) Bl U males?] BH=S
[5t7| i3 HHA thoseS 4T
© ol L2 YAt flangesS CHAIGHH, SAF grow?
S0 HQotE 2 SXA0! themS 4Tt
B 1 flange= 2 QEREOIA2 U= 0|22, HAXIES
= QYRLEO| HIESS TARICE
2 flange7t Q= $%E0
7

/tRt=E B20M F

28 They usually like males with flanges more than
those without.
» = iA(males with flanges®t males without
flanges)2 Bluot= g 2¥22, Tike A more than
B9 HEHZ M0f ‘BECH AS O Z0I6ICH2t= 528 LIEMHICE

0x
i
g
gI:
X

31



48 It can take about 20 years to grow them. GE) regularly #=E2

» "It takes + AlZH + toRHALE ~6h= Ol (AIZHO] Z2|CHe 4 19 A0|M HOISEE A AL NI
oI, CE) in front of ~ Y0llA / embarrassing F11212
48 To find out [what affects the growth of flanges], ... 1~4 » toRHAIL} thatE0| FH(XIF0)Y O, 0|SS 2X9| HZ
» To find out2 BEAME MOI toBHMZ 'SX(~17| BT 01 Xp2jofl 7101 [ts 2Lk

2faiel Zoict, [ ]= EAt find oute] 2E0|= Mol
HAPHO|D, what2 ZAHBARR ~5Hs Z00[2k sHAGIC

d

C

1it 2ones 3 One

onr _________IRESECUEELE T

ite] Ctafst 2, B: Lk= 1248 RHmo| FxtsH S101.
2 5 @ mOtorcycle QEH}0| / garage bl
one, another, other > AOIM ATHE S5 LEB0|(your motorcycle)2

AEots AOIER its 220
2 A: X HIIZ Y0 2HHQ7

EXERCISE B: O S UMSAIS 7HE?

> S4FAF pantsS LIS H0|22 onesS L.
A 3 A: Lay M= OtS0|Lt HO| JUELIMN?
B: E0| & A0, Bf H2 SH40|1, LIMA| & HE
1220 3@ 40 50 60 76 SIAOlIL.
1 7t o1 Hpeto] 2ot CE) office worker 2|AH
b LME LIEFS HIOIA) 01 tO[C » £ 71212 I, Stte one, LIHX| StLbE the others
2 A TS B2 L 7H22 =t
B: Rebecca®LICt.
» M2O| B&0| HO|X| ¢be mf AIMES B5l= ito|Ch
3 A2 30t =™ U0, D
> 71RIS HEHHE Bl 201 0], 1 The others 2 others 3 the other
4 OfZH X|LHL?
) OIHLZ 22 [f OloISH ASLS X|ElGHe it0|Ch 1 9A Ol Qe E7| P22 SHOMMO|CE L= Z2M0]Ct,
5 2= MS2{0f 3. ©A 5A] 4050|0F, » 02| T Z0IM LR (some)S ¥ LIX| MRS Ji2)7|22
» AlZte LIEHHE HIQIAIZEN itO|C, The othersZ #Ct.
6 DHPA HEZFRI0]) 2 0| ZHoi| OtSCHR ZE0| UL F &0|= #W0|U CE F
» toRHAITL(to meet you)7t TIF0{0|1, it TF0S &0|= ¥ojo|c,.
CHAISH= 7F=0{0]Ct, > 02 CHAF 0N YR (some)S i LIHX| B9 YRS
7 =2 19 320|C} 7t2]7|2 2 othersE Lt
b SHTME LIEH= H|QIRI =0 jtO|C}, 3 M F9 AH0| 28 B0ICh F AFS FEVIE E 5 UK,

LITA| ot B2 SHX| Zett.
CE) jump rope EE7(5tCt
B » 012 T S0IM L=(two boys)E M LIHX| SHIS

712)7|122 the others £C1.
1 It was, that 2 Itis, that 3 Itis, to exercise

4 It was, to play

1 147t ofF| §|°|% FATH NS EX| 42 O, E
AGH SX| o2
GED cancel FA5t0 / unusual 221 &2 @ one another — another one
E 15 AFHES == 2 ALAO|C
2 1:17} XI’T |' n_)\I'ElEE HL AT )\I'Eol |' @Others—'The Other
3 TANCE 2E5tE A2 I B3I,

32 G-ZONE



0f: OF, O] Y2 Ot 2=Q. L2 0| ALL?

B AR, T OHO] YO HAl USUCE CHE Y2 0|A=EH o
A0te.

0f: 1243 O] S0 oHE 2250 ALHR?

g 070 = 4 2 FEYUUCL LA Stbt= Hi2 2 Ot
AL,

tiny Ot 2=

» @ one another= ‘MZ(= each other)2t= 20|0|Ct ‘T2
goj2t= 20|S LEH ST another oneQ 2 L,

»© FHO 3= T LIHX| &t 7HE Lot= HO0|2Z the otherZ
220t

GRAMMAR IN READING

@ it ® The other

2T OJHEQISO| A M| ZH[0 Q01M, CAIKIS] M)YE AF8st=
A2 £30 OS2 0I-E R Hol| IS 40k 1 Mo £
0[0F7| & St 11 ARl 21t OITHE A, OFFH| A0 2t
0|, OfFHIAE 1 FE0| AR MAZ 2 4= A=K ARSI
floil M2S 0183t A2l SHZol= EfEo| 0| ATt LA
SR I M dEEs S QUCE I ARl HY0] AR
O 7HECHE, D22 171 22 HS HUTE A2 20ED 2
JEOHE, O A2 HE MY2R 015 + QU
MAHBEE)S M(E): 20 OHES| BojM RYF22 UAF,
A= A tEt 20t =2 Ko ol it 7122
» @ YHOIM LBt the Book of the Dead2 XIZGHE 2 it0]
HHoIC
® YOI Xz &= B Stlt(one)’t HBEUL, LHA| 3HZRS
7t2|7|22 The other?} HHstCt,
2234
18 ..., it was important [to use the Book of the Deadl.

> oRBATA [ 7
its M.

ZIZF=0{0]H, =047+ AH A2(0fl= 7150

38 Anubis uses a scale to test [whether the spirit can
go to the afterlife].
» to test= £ SE(~517| 2latiM) e
SOk [ J= SAt testo] HE012 MO BAHOIH, H&AL
whetheri= ~QIX| OtX[2t= SO 2 HAPES OlZLL

|. .IE:l MO| tOHX‘IA

26 1 9| CHHALe] of2f A

EXERCISE

©00000000000000000000000000000000000000000000000000000 0

A

1 some 2any 3 some 4any 5some

1 L= $718 93t dio)

= T

[ng

Ze Hos.

vacation §7}

J4EE O R A HQTt Qi

A & EAZNR?

o SR7F USLIN

S0|E{0f 22 010|50] ULk

CE) playground =0]&

1~5 » 95t 222 LR I 3FZ20M= =2 somes,
BEEE0 ||—f EZE0ME F=2 anys 2Lt AZ 20

SEXRI UES 7|5t 20 I someS Lk

o A WD

B
1 None 2 Both 3 All 4 Every 5no

1 »'none of + E4FALE OFF ~& (OHLCH2H= 20|k

2 > bothe 'E Of (~oiCh)ate S0]Ck,

3 »allttevery Ot ‘ZEO|2H= SOIX|2H FHOl =+FAKthe
chairs)7t Mo D2 3|[0| 2f0F i,

4 »every Fl0l= H=BADE QO S Ha FF T

5 » Mo + FAhe OFF ~& (OfL|CH2h= SE0|Ck

C
152D 354555

1 J4E 5 298 & o A EX| LACt
» not ~ either = neither
2 @ 1™Ms S 0L A L Z0| OpLCt,
© 11 ME D= LY Z40|Ct,
3 EE YX%0| 2F S/
CE) busy (=20) X7+ g
» 49| AZ(Both sides)tt 22| Z(Each side)2 2|04
Zo
4 = CF X QUX| 2ULt,

0x
o
g
%
[
w
(2]



» both (of) + EYAL & Tt (~otLh)
neither of + S4%AL S Ct ~ OfL|CH
5 SE80| 520 otz gick
» no = not ~ any

D
1 None 2 any 3 Some 4 All

1 O 2N Q40 ¥ 0[5H7t OfLCH,
million 1002t

» ‘Ot ~& (OfLICH)2h= 20|17} =/010F S22 Noneo|

HHSILY,
2 CIHOZE O AA0[2tx &7 2 0ot FOiE & QUCE
purchase *OiGHCt

> 329 any Ol ~2tE Cr2te ojojc,
3 29 HIELA B2 FA2 QUBER0| BEC,
> IHSOA IS TS SomeQE HHBILY,

4 DYARSEZ i BE IS wEt 20| Per,
> BEO[2HE 2jnj9] All0] BESiCt

GRAMMAR IN READING

A @ every — all
B (1) every (2) some (3) others

2 MO HO|X| YoM HE Ibaty| HOICt SHX[T
4717 11 @S ZHHASICE Sigle 2XJHel RE M 2t QIrt

=5
=
=E0| O2f SXE HEA %I'-}Eflf. 20| EX0f E=

B 29 2,

rlo
ok
&
5&
o
a
Tl
1=
un
rlo
rE

=2 E
r n
o
o X
° =
0 Ao
=2
-IO =
m
[
=
il
4
o
r
inl
o
N
o MO
k=
Fis
ofm

» A © every Flol= HHADE 20 FHo| S
LIRQBZ all0] =|0{0F BiCt.

4o 2749l (1) 2E(every) A4S HEI5IX[R 2 |

FZH(some)2 4511 (3) CH2 ZS(others)

=0 EHot MO= LIEFHHATY,

HAt colors7t

o -
FE
Oh Al

48 ... the object then absorbs some colors and reflects
others.
» O3] hY & RS LIEHE M= someS X1, LIHX| E9
YLES LIER M= othersS 2Lk

[

34 G-ZONE

83 This is [why water usually looks blue].
P [ J= ZEQYREOR MOIZAL + 0 + SALY &ME L}

27 zsu

EXERCISE

©00000000000000000000000000000000000000000000000000000 0

A

1 some 2 Different, different 3 small, alive
4 active 5 awake

1 7t ofztel «kels 7bME Aot
> At wine HOIM 2 AE L= SEAO0|CE
2 r Q Z

NS T2 ARZ 260 90t

» 22t HAF peoplelt stylesS F0F= HEALO|CY,
3 A2 0Y0|= HoF AAUCL,
» small2 BAt cats FHEL, aliveE £ The small catg
HE HYsts F8A0IT
4 52 FEHQ ARS T8I0
» LiZAF someoneS FOHFE= SBAM0ICE -thing, -body

[-one]i Jé'—fE HEAE "EAPE FHOIM RHELL
|

1 fashionable 2 dangerous 3 careful 4 friendly
5 foolish 6 childish 7 colorful 8 monthly 9 beautiful
10 famous

1 8% - | 2 98 - e
3 52 - zyAe 4 17 - 23Xl

5 i - ofise 6 Of2iot0| - of2lof 2
7 M - M ERS 8 2 g - oo

9 OiECIE - osLe 10 o) - |

C

1 careful 2 terrible 3 slow 4 nice 5 lovely black



2 1 ool K= M7 O
4

Sandras ZAlAZ2 2HXt0|Ct.

» BAF drivers RHE= SAUL XHGIC

» F0i(The pie)s 25 HYot= =2 20|12 APt
HESICH, HAHE E0{2 MX| =Lt

3 Christine2 L2 ZXto|C},

» HAL runners FHF= FEAPL 2A0F SiCf

4 22 RRE2 gy LA ol 40t

» Z0{(My parents)E &5 ’2%'6 = 74 202 8t
HESIL fAE HO{Z MX

5 X AlEAZR d2M ENES B
lovely AFZAR R
» 02| YEAME LGS I "X|A|AHthose) + 27 (lovely)
MZ(black), £0ICt,
D
16 455t @ 022 20 &2 © REZRY

1 ® 0] HPli= US HESIE ® 1 20| 0lsish= A2 Ot
CGE) meaning 2/0]

2 @22 H2 RAUYUUI? © 2E0|0M REHGHHIL.
corner 20|

3 @4 I Z=A0| HMAL? © T FATE UYL

E

F

3@ N3 ® Aol

1 much 2 alittle 3 few 4 many 5 something strange

AlZHO| BER| 4Tt

»time2 £ gl= YAOIZZ muchZ S LIEHHICY,
ZERLCHE M7E 2210] & HRHIR.

» advice= & = Gl= JAOIER a little2 & LIEFHCE,
HA0 AFHES0] Ol I,

» people2 & £ QU= A2 Z fewZ 5 LIEHHCY,

4

O 7 EL?

» fr|endst A 2 Qe YAO|EE manyZ 5 LEFHCE

Lh= L HS0IM 0145 ROUUHE L2t

> —thing, -body[-one]2 BLt= A= &AL FOIA
TOHEC,

1 How much money do you have now
2 They saw little hope

3 Few friends came to my party
4 The star received a lot of questions about his album

1 » 4 % Sl YAmoney)= much2 Y& LIERHC]
2 >4 2 gle YAhope)oll A9 Gi=0l2t= 289 0jS
LIEHS T littleS Lk

3 A 2 = YAHfriends)oll ‘A9 gl=0l2ke £¥9| 9njg
LIETE Ti= FewS 2L
4 »alotofs B202t= £O2 4 4 = FARtd £ Q=

AL A0 25 & 5 Tk

GRAMMAR IN READING

©00000000000000000000000000000000000000000000000000000 0

@ a little ® any © many

OB : AESNR, SHURE. £ EEMR?

Susan : X& 7O § &S OREAR

OB LASLCE O 20| RRE EEMR?

Susan : U, ZZTQ

O3YH &S FAS EAANL?

Haeun @ Xz 233 27t S0 HUQ. =337H0|=2 §t &2
FAHOIR?

03 H 2 E2lnl

Haeun : 1102, Qtof= 1 BO|E0] Of HOl=H2. g0l 0|88
& Ae ZA0| JLIR?

OB : U, o= EI0IE0] Hote, X K22 Yoz LIVINE,

3

;
rr
nz
N
gQ
rir
0%

@ AOIEZ 3 littleZ2 Y2 I—tErL_HEh
® SIHEr 22S LIENS [ Y20\ Q220 =

=
© table2 4 4 A= HAOIZZ many?t HHEs|CL

68 | want something sweet [to eat].
» -thing, -body[-one]2 ZlLt= HHAL= HEATL FHOIA
AT [ = FEAAME MOl toRFALZ A0l L2 THFAL

somethingS A/t

o)
0]

Do you have any seating available outside?
> GRS RS LIEHE O Q2 20| EEE0AME =

anyS £LCf H&At available2 BAt seatingS FHOIA

0x
i
g
%
X
w
(3]



28 w

EXERCISE

©00000000000000000000000000000000000000000000000000000 0

A

1 well 2 hard 3 the concert tour ended last week

4 speaks 5 has

J%2 FUZ o2 ZH[o|C,
» 24t really’t E8At hardS A5t
ST, O +3Fe X0 R,
CE) unluckily 285|= / concert tour &3l3 ¢
» 2AHUnluckily?t Hoil 2= 2% MAE 4610 QIO

HEE 205

e o LSt
» £A perfectly?t SAF speaksS 4]
= EE Ol-xlo 7A|O-|| D‘lhl:l-

» BIZEAL usuallyZt SAFhasE SAISHTL

ol

Ict,

r

1 can always enter the museum for free

2 am often tired

3 rarely goes to school by bus

4 never listen to their parents

0

36

A Ue #=5t?

B: & t mm= =al,

Al HPEEIEHO| REE ARE £ AY
DU, 2l dEIL RER URE o~ ASLICH

» Bl=E A always)= Z&SAHcan) H

A4 Tzst?

B: 8, L= A5 mzdl,

» SI=E A often)= beSAHam) FHojl £Lt,

A: Oliviag 0| BS HAS EfT JHL?

B: Of, Jl4= stuo HV\E 7{9| Ef1l 74X| gLt

» BI=EAKrarely)= &

Al dse Bnd ugs ¥ EL?

B:OiL, O52 Mo B2 Y&s =X

| &
» HI=EAHnever)E YRS AHlisten) 0i| 2Lt

27

w
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rx
o

G-ZONE

1228324258 63 7% 8%

1 Castle M= OFEI0] 2 oLt

» SA early7t SAF wakes upS F=AlBICE
2 0|9 B2 AMEHAZRCE

» &AL lovelyZt 01 The baby's smileg £& HHSIC)
3 U=19 iEIE el sg =+ 3191&.

4 1 AHOE *J#E Of< %E‘ﬁl ASAC.
> 2AbveryQ| AlIS HI2 h
LIS}
5 Naokoe= 1 02 MES EQICL
» &AL hard7t BAF puzzleS
6 L= 55| ZX2EQ 27| HFES 06

r

CE) especially 53l / work Z&
> HEAt early?t YA worksS AT
7 A

3R QL01.
» SAL pretty?t EEAL coldS SAIBITE
8 1= ZXY YEHE 22 JHK| e

» BI=RAF seldomO| LEFSAF goesS 4|3t

always, severely, outside

Nancy : Lt X4 AAL 20| 5 AHE 6. Mike, LI+ &7 E24?
Mike @ 124, Z0t,
Rl JEX|0F st QIE7F TQSHK| T S2), Hi2:
BAl B7E.
severely A5HH|
» HIZEAL always7t LHEEAL take S QOIA 441
A severelyZt E2At coldS $AIBHTL,
HAt outside?t SAF is2 Al

ro

Nancy :

ro

Ct.

r&"

1 Edwin usually played the piano and sometimes
played the guitar.

2 It is too hot here, so I'm going to take it off.

3 He tied it very tightly.

4 Brian was careless, He didn't bring my shoes back
today,

5 Would you please take them out for me?

6 She held the baby very carefully.

1 Edwin2 28 Iot-E X1 M2 7|EtS FCh



P HIE AR YUBkEAL 0l 2Lt (played sometimes —
sometimes played)
2 O7l= UR H¥AM L O%8 3e Aol
P ISA+ RALE O|R0IT SAS SHO7F MY B2,
BIEA] HALS S0 o 2L, (take off it — take it off)
3 = IS8 0 HH3| [ACL
CE) tie R/ tightly SE6HA
> SAb veryZt T2 2At tightlyS 0llA f=AlSHTE
(tightly very — very tightly)
4 Brian2 EFYCL O 25 Lo Aldg Z2FX
» F0{(Brian)E 25 HI5ts £4 E0Z HBAE
(was carelessly — was careless)
5 UE flsil 2xss My 22
P ISAL+ 2ALE OIR0IT SAS SHOI7F MY E2,
BIEAl 2AIE 5201 Fof 2204 (take out them — take
them out)
6 U= 07| iR ZAAEA QUL
» 0|4 SAkheld)E =Aloh= BADL HQGICE

(very careful — very carefully)

52
39
o

s
in}

GRAMMAR IN READING

@ late ® slowly © quietly @ heavily

ﬂ
il

lo
oL
>
N
Lis
Mlr
-l
oA
njo

210 AU d= a2 XNEH RE

OIS H2 &8 7IES FHHo| 2 AU,

o
-
=
.
=
>
rir
tob
o i

>
o
[0)

=
b
o
Rl
2
o
4

o> o
e
m
>
>
O
()
=
F
Il
Ral
Pl
n]
S
e
B

Y
lbert. ZIHaHOFX|, Albert."2t11 &3]
2§ =0|X| LQUCE 2 HAE Hoi| UE
OIXP7t &t 2 RACT. “O|ZA X! OFHX|S FLiL Of=d
Albert= Y 20| ZU|R." I GXts JHE EOL, 73 stas
2|0 Yo 221, M7t AlbertlHL.)”

QAL =

X

Hu
J0

CH

|
MU
;m

0
0
=
2

o

fo

» @ =ARE 9 BAL= lateOICh lately= ‘2120)'2H= S0ICk
® &At was pushings $=45t= £AL slowly7t X5,
© Bt kepts Alot= BAF quietly?t ZEsHCt,
@ At sighedS s=Alsk= RAt heavily7H ZHsC

18 He was slowly pushing a cart [that contained a
screaming, crying baby].
» [ J= G8AL a carts A5t &2 BACIEAREO|CE
63 "Your son Albert is so lucky [to have such a
wonderful father].”
> [ = SARE MO0 toRFAITE, 0| L2 AL

luckyS AIStt,

29 ua

EXERCISE

©00000000000000000000000000000000000000000000000000000 0

A

@ bigger ® easier © more difficult @ most difficult
® happiest @ little @ less ® bad/badly © worst

»P@EZ ®H M2 ©CH 02 @ 7H 032
® 71y A=t O (o) M2 @ O A2 @ LiE/Liws
O 71 L2/71 LA

1 (1) heavier (2) lighter
2 (1) more crowded (2) cloudier[more cloudy]

1 (1) 32280 § 24t (2) 22 20 o 71
» heavy@t light2l Hlwg2 22t heavier, lighterO|Ct.
2 (1) Me2 dEE0 O =36, (2) 8E2 Me20 O S0
crowded E%3l Hle / cloudy (2M71) S&
» crowded?| HIWZ2 more crowded0|1 cloudy®
HIWE2 cloudier == more cloudyOlCt,

C

1 very 2far 3 much 4 sooner 5 darker 6 more

1 Finn2 OFF AIFAZR HSH0| QT

> HEA(ovely)E SAE 2 U= EA veryZt HEGICL
2 Marvin2 19| GSMELH 20 O &5t

> HIZS ZXSIEE far/t ZESICT
3 I=J4ectJ8g g g E O

> HIFS ZESEZ much?t HASICY,
4 Ytz do 2202

» the + H|WZ, the + HluZ: ~&42 L --5iCt
5 A O OFHX|T ULt

» HlWg + and + Hlug: MF O ~sHoA]
6 C2 ZM M20, 252 EH o XX

» "HIWE + and + HWE, 20X FSA[RANL L=

SEH7t 'more + #1521 A 'more and more + 2,22

=

0x
o
g
gllz
[
W
N



D

1 faster and faster 2 better and better
3 less difficult than 4 busier than
5 more comfortable than 6 farther than

1,2 »HUZ + and + HWZ,S M85t ™ O
~&HEtA] 02t =g BHEICL

3 »"Aless + ¥F + than B;= ‘A7t BELH & ~5H5HAJ0[2H=
g B

4 > busy?| HWZ2 busier0lth.

5 » comfortablegl H/wZ2 more comfortableO|Ct.

6 »farc HUSY ZAZ0| 277 Halots HEAIZ, H2l7t
HUCh= S22 LER 9] H|WZ2 fartheroO|Ch

GRAMMAR IN READING

@ more, happier ® much(far] faster

Kate: 4 &

=
Irine : 24 MM

.
o
Al
ol

t22 QU7 X0 KIEO!

g Y Y A WY HZEH0F &,
Kate : &0{ 4450[4 & Mdd HO|0F? I2 Lot 22 TE
Al

Irine : L 20 2 & Mz SHE O B0l WE+S, o

2oL,

Kate : 9t0L 0] M0 L 7I2XAVIE, (AM=CH o S|
BB HS YOL L Yt Hop?

Irine : 2201, AIZH0| SOIE4E, T 20| AT 0

Kate : Lh 42400l Li= 247 SMZ F6/0 of. 11 LIRS
B O we| BY 4 US ot

b @ ~BAE G -olfets 29 fthe + HID, the + BIZE,
u=ae
==

20| XAUCE muchel HIWE2 more, happy?l I

happierOlLCt.
® fasto| H|WZL faster0|0, much, far S92 HUZS
AxE £ Ut
33 He's tougher than the other teachers.
» "H|WZ + than + H|ul CHALO| HEHZ, 2O} O
~5HGIA0l2h= S=0|c,
98 It seems that the more homework he gives, the

happier he is.
» "t seems that ~2 ~Ql Zi ZC¥at= S20|Ch 67|
that2 A4arst 2 QIcf.
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EXERCISE

©00000000000000000000000000000000000000000000000000000 0

A
1(b) 2(a) 3()

1 RichardE 20| %L}, J= H0HE b
2

2 Tinas I 2742 O3 7teg 50 S30h J4= 243
10] AMlCt,
CE) suitcase 08 714} / ox &4

3 Lozl o7t st ote| Qlot J7e 22 =0E 3ot

CH fur &
1~3 »as+ AZ + as A: ATt ~5H51A|]

1 the tallest 2 as 3 more 4 largest
5 most 6 at most

1 Katez 5 25 S0|M 7+& 7|7+ 20t
» 24T + of + 2FAL - FOIM IHE ~FH
2 A= 520|912 W2 K| QO
» not as + ¥ + as Ar AZFE ~5IX| L[]
3 e CH2 ofF AMefIRCt O H0| AHS SR
» HIWF + than any other + T=FAL CH2 0T 2L} O
~5ICt
4 EAMEAAE OFOM 7HY 2 EA
» one of the + 24T + S4TAL 7HE ~5t Zi[AH]
5 (20re FY)e Wt XIZNK| & Gst S0lM 74 JeHEel
o540\t
» Z|4F + (that) + 0 + havelhas] ever v-ed: (F0{)7t
XIZ7X| -5t DAZ]E S0IM THE ~&t
6 1 gste XIZRCH 25 Qo ARIE0| 7174610k 30 UKL,
» at most: 7|Zi5H0F, ©0t0

mun
. O
_O'E
-
IS
m)

—_

C

1 the largest, in 2 the youngest, of 3 the smartest, in

0 Nancy 0|27} L9 M| 0|2 SO0IA 7 SAMIZH AL,
1 Siisgi= JAM 7HE 2 SS0I0



G blue whale %l'iﬁﬂaﬂ GRAMMAR IN READING

2 Harry= W &HIE & 71 O2(C
3 Seang2 IE WOIM 71 ZE5ICE
2 "the + 2452 HEHIZ X0, B Fof Tof +

©00000000000000000000000000000000000000000000000000000 0

® greatest = great ® comfortably © hard

0~3 » Zd3 S
, R @ more scientific
S8, Nin + BEALSH 20| W HRIE SFEeFE
2o A Melrt, MEthg2 (7Hy) ltiet st=el X=AE & o Aol J=
Heh SXIXOIX}; Eot LHIIUC, T dfeit 289 YHs
AL = 0| 7hsEt o HoSH 42 Mot & IS
D MO 27t et=2 ffoh ot 219 25 & stie o2 FHlR
£

at 2
) Z0IRACt. B2 2t=0] 12 2At
1 more 2 as, as 3 soon, can 4 the most fashionable »

.
0| PYS 7 UL MES 57| 243 7

St & Dalsl
1 292 0210 AF0|EDFE H{D|QUK| QLTH Uit =Y, A0 TRIHE2 ot=20] MIMQ| CHE O ALt
= QIRIQIAA|0|ET} 4Rt O MO e N
» B not as + &5 + as A = A H|ZIZ + than B
2 7 OXp= T AIMSCH S MHOSICH » @ Tone of the + Z|&g + E4HAL FEOR &8Al great?
= 7 OJRH= 1 ATPHES HOtSIK| QT M2 greatestO|Ct, ‘~Z0 dtLf2t= 52| Tone of +
» B less + 22 + than A = B not as + 22 + as A Z24FAL SEZ 2H Korean leadersE #=4l5tH= HEAL
3 Jhsdt o wel Lo U Z2HS ZohF. great= 7HsdiCt,
mas possible = as + ¥ + as + Z0{ + can ® "as + &3 + as possible; TR Z £At comfortably©l
4 1 U2to) ot BUET DU LIS GRS ot 252 comfortably0It.
= JE7F O LierolA] 7R THALE s DRio|c) © "as + ¥1& + as possible, TR E £A hard2 #52
@B fashionable R3ig m2E= hardo|&t.
» No ~ as + &2 + as = the + FAl2 @ "H|WF + than any other + H4HAL 2O Z HEAt
scientific®l H|WE2 more scientificOlCt,
E
58 One of the best things [(that) he did for Korea] was
1 Jupiter is the largest planet to create Hangul.
2 He is not as diligent as his wife » [ 1= M3AL thingsS $Al5HE 287 BAUHAER
3 Violet studied three times longer than me ZHCHEAL thatO| AHEFE|01 QICH 2 MH| SAH= wasO|H,
4 No violinist can play more passionately than her to creates =0/2 HE Moist= =7 H0{o|C},
5 the smallest house that | have ever lived in 781 He worked as hard as possible [to help his people
6 She was one of the best race drivers read and write Korean easilyl.
1 @D Jupiter 24 / solar system Efer LIS SAE 261 to=s Ay SHESP] Hoi) S
b EAID 4+ in + CHBUAR —ZOIA JFE ~3t LIEHACE, Thelp + SX01(his people) + SXZ 20{(read
2 »notas+ ®F +as At ARIE ~HK| 2[4 and write Korean easiy).= "7t - S=5 Brfets
st so|ct,

3 > AL+ HIWE + than A: ARCHZ b ~3H5 71|]
4 @) violinist HIOIZ2Z X} / passionately SEHC 2
» No ~ + g + than: +7{0{H A= 2O O ~5LX| QiCt
5 » z43 + (that) + £ + havelhas] ever v-ed: (F01)7t
KSR -3t ZAAREIE S0M 7+ ~&t
6 (@E) race driver (RFSX}) 2|04 M4

» one of the + Z4E + E4FAL 7HY ~& AME & 6t
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EXERCISE

©00000000000000000000000000000000000000000000000000000 0

A

Y4E LIEfLHE HAA

1in 2toward 3 at 4 across 5among

1 Blair M= 0] Atk
> EAIXE HIWX ZAVE A= S e UEHE = in0)

pSESEIInS

3 L w7k MS0A HEoF St
traffic light 4188
SiLto| XIMe LI Ti= at0] MEstC.
4 = =2E 7IEH FHUCL
> ~2 Jt2dEe et S0t X8 717 MX|AL across7t
HESILL,
5 TI= 2 Ol0IS MO0l M UACH.
a crowd of &2
> K1 042l AIZI[ALE] AtOIE LIEME M= amongOl MAEGHC

1 between 2 by 3 in front of 4 over 5in 6 to

1 11 010l= ZHEARE =21 ALO[O|A Le2hstar %Uif
(T AIRHALE]) ~ Mojol2ts =8 718 MR|AH=
betweenO|LCt,
2 oA AL Fof QIC,

P~ Hol'2s 55 71 FXIA= byO|Ck
3 Anneg tt TS 20| M UCk

b~ A2t =2 7HE ™RIAE in front of 0|k
4 = 04 92 24s S0L

hold ZCt, ECt (hold-held-held)

» (FHZ Qlo)) ~ flol'2t= 2 71 MRIA= overO|Ch.
5 Joe= EE QHof QICh

b~ Qfol2t= 2 T MRS inO|Ct,
6 L= LAZ XSRS UL

P ~QEEH= 2 TR TX|ARE toOltt,

40 G-ZONE

C

1into 2 around 3 out of 4 through 5 down

»into: ~ 2122

» around: ~ {0

» out of: ~ o2

» through: ~& #55}0]
CE) stairs A

» down: ~ Of2(2

O h WON -

1is a bird F=isan eagle 2isacat 3is an ant
4 are (three) rabbits 5 are (two) ducks

m

g 2ol M(E= =<2) §t of2|7t Ut
{0f] 20[ B OF2{7F QALY

9IS ALOIOf ZHO| B OF2(7F QUCt.

5 2000 £77] (M| 0f2))7t AT,

R0 22| (5 0f2))7+ QL.

=
=]
=)

Rl

nﬂo

I

L N
i

re Oof fob

GRAMMAR IN READING

@ under ® at © between

22|t U= Jules?] 210 254t
HICH 2 SUX|0IA S11 HUS X0
QEF0| SHEMR! XSl 2Hef
oHZEY MS Higo] AL f
6OIHE ATHICHO|YSHMOF B

oM 2117150 SXl= Ag &

2H|2 %!i = Af0|01| FIRIEE 244

;_o
[0
;>

iLte? Jules?| 2101

2 702tn Mo
7t3H, 20 off=
11 LEN, Ao Bh
57I)HIo HY7F A,
2[otof 7HE AL,

A 2T QB Gl

oot Ao Ll

=
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o
4n
_|E|

mn
2

bl

WX o
Oy

g

=
H
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=)
HR
2
r
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o
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I
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)
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HI
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52
M
0

» @ under: ~ 20l / behind: ~ Fol
® at the bottom of: ~2| HIZ0|| / over: (FZ §10]) ~ 2o
© between A and B: A2t B AL0[0]|
T AHHAFE] OOl betweenS M11, HE Al 0|42
AHE[AFE] AOJOIl= amongS £LC

43 After you unpack your bags, enjoy watching the
fish swim by your room.
P HAS2S SARS(enjoy)22 ARt SAF enjoyE



=012 SHAHwatching)S £LCF "X|ZHE AHwatch) +
SX0{(the fish) + SXZ 20i(swim),= (X0t --dte
Ag Boyeh= ol

ul
02

When you're hungry, check out our 24-hour cafeteria
[located between the lobby and gym]
» [ [= YA our 24-hour cafeteria®
TP7ALOIC,

AokeE

Oh
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EXERCISE

©00000000000000000000000000000000000000000000000000000 0

A
Ton 2in 3at 4in 5in 6 on 7in 8on

s 2 220 3 2% 7A 3020 4 19900
57420 6 22 Ol 7 8ol 8 92 110
»at + AlZH H O Bt Al

in+ 2™ 2% & AN dx
on + QY UM, EX3 9| OIF[F / M)

1 The movie will end in an hour

2 We are going to live here until next year
3 you hand in your homework by tomorrow
4 has been waiting for them for two hours

1 »in2 Hots AEE 7IE2R ~ 202hs & UEHL

2 > until2 ~IIReks £O2 EF AFMA| O HEL &0
ALEE LEHHD

3 > by= M2t S22 o Yol A= E0{0F ot= 7|5
LHEFEHCE

4 »forz "~ S0tz SO 2 O 20| X&E 7|2 LIEHHD,

THIERI 712t ZOIE HAloh= 2k 2 Motk

1 (1) Lucia= I8 2QUIX| g2 Zo|ct
(2) Lucias 0212 €290 g2 Zolct

2 (1) JuE MUARE SO LIA LS SHX| UL
(2) D= FAAIZE 0| WH LS SHX| 2LUTH
3 (1) 22 ottth= 0| S HA|Z0| B{L2A ZH0|Ct
(2) 22| ottitt= 0|5 S0 HAIZO| A4 Z0|C
4 (1) U 32 0|20 7 SOl 7H1ARLI?
(2) Hi 3ol = 2”0l 7HL U2
1 »by: ~7X| (~2CF SX| %7) / on + Q¥ ~0f
2 » during: ~ &2t / before: ~ Fof|
3 »for~ &2/ in: (Yot= TS 7IECE) ~ 50|
4 »after: ~ 20 / in + & ~0f

D

1020 3at40on 50 60 70 8for

0 11 Wiz 2T A0l AJZFSHCY,
> A= fEf”‘ = MXIAL atg 220
1 L= 52Y 0212 7% Dang EX| K3
> ~O[2HZ AL0l2k= 20| LIEM D= TX|AL sinceE 2L
2 S0z Z£0| #oy,
> AES LEHE moll= XA
3 Ris EE 0| FHes o
> Ol SHAJES LIEHS
4 O Z7|= i EQYO
»fon + QUS| =4 2
5 4= of=Z2|7t o3l =S50 HO| £
» EX5H 7|2t her trip)S LIER Of
6 39= 302 FO0il AZHE Aol
»in: (Yst= AES 7IECE) ~ &0

o M
E:E

e

rir =

ch
XA atS 2L
Ct.

=
=

Hh:

ra

[
[e:]
=

H

r

=1

P

~0QaQl
e =a=

1o

n
Ew
O

ERE)

=X
= L_

™1

[At duringS £Lt,

7 ZEAN R0 O BHE MEBOMS £2 Ao
» after: ~ S0
8 152 1 2A0f tistol T AlZt S2t 0[0F7|5h= E0IC,
> LRIMQI 717ke] Z0|(five hours)E LIEHH [[H'— HX|A for2

=)

GRAMMAR IN READING

A @ before ® from © on

B 1F 2F
SHOITH Y2} ME]
B ORISHALS Y H, HorE WK M) S2AICIE
OIS M Tf B714 4 U2 ALICH T MEf= 1481719} 15417}
ALOIOf QUALICE UZUO 79, O 7A| 302LE| 25 AR L
QBT MEIS 12 1947} 128 2520 22 Tl 20144



7St O 2, M22 MAIES0] AEH| FIH=USLIL SHE2

0180t =+ UKL AZ0|Lt 25 BEtA= 08t 4 = ol

FoStMIL.

» A @ before: ~ H0j
® from A to B: ARE{ B7IX|

© on + 8Y, L, SHF Yol OpF[F / K]
B 1 HOIT WRK: MES HOfR otof UL,
b SHOIPH WD} MELS 1481712} 15817 AfOlofl QUCk
2 WSHSS ME| Ofe| SAT NS ABE 4 ULt
> MEIO SHEUS A THSOIRIZE MO BB BRIAE
J2X L,

28 Tourists will enjoy the White House a lot more [if
they go to the White House Visitor Center before
their tourl!

» 271E LEHHE 2AF [ J0iME SIS (go)2 2 Oj29]
US LIEHHCE

8%  Since its reopening in 2014, new exhibits have been
added to the center.

» since= ~O0I2E A£02t= 22, 2014HRE XWX
A&E Y8 LEHHER SxjEd(have been added)t
EH AL

33 zazemum

EXERCISE

©00000000000000000000000000000000000000000000000000000 0

A
1on 2of 3 with

1 A:XH=0f ofc] UAL?
B: L= S&XF T2]A01 AU
» on business: EXA}, A2At
2 A: GaryQl ZOHHX|Zt SO7HA0L.
B: J2F QL 2 ME0o SO HEL?
pass away AFYSITY, SOH7FAICH
P ALC] 101 LIEHHE MRIA} of Ei= fromO] ZE5HC,

3 AL st 2712 95 Sot 9 101
B: X132 & LIOFLI?

42 G-IONE

CE) feel better ZOtX|C LIOFX|Ct

» 2 AH, U2 59 |ols LEH= MAIAL with7t &S

1 by credit card 2 from grapes

3 with a heavy dictionary 4 by cutting down trees

HEIIER ZHISIAIEUIN?
» by: ~S 0185t0i(==H)
QoIS B2 THEO{RICY,

tCE

» be made from2 '~& TEUX|Ce| L0 2 =TIt otStH

HE| WSS 7 LotE ~ GiS O Lo
Ltz £712 MO R Hi7d| S S
CE) cockroach B2 / dictionary AP
» with: ~2, ~2 7H|1(=7)
ANHES PSS HelHORM &5 MfsHtct
CE) destroy I5tCt / cut down (M2 H0f Eaict
» by + v-ing: ~EQ2M

by 2for 3on 4 of

® J%s O|HYZ HHFML.

® = Of0|S0H SOE 72H22M YAE FASITL
GE) make a living 4HE SXISHCH

» @ by: ~& 0|&3t0i(++H) ® by + v-ing: ~&22M

@ F7F 21 Qo FEELm?

©® Ys 82 A0 ool Y AL,

CE) proposal M2t / step on one’s foot g SiCt

» @ for: ~0f ZYst= ©® for: ~ME0], ~2 2UsliA

@ H= ZoM stof 7t4?

© JH= 39| 7|H0| ol Zof3Htt,

give a lecture ZQItCt / origin 7|9 / universe £

» @ on foot: ZOM, 22
® on: ~0f &5t0] (MEXQI Lh=0of CHoh e o)
® 0| T2 LIRE TSRO
© 0|22 Q12| 7H=0] st 0[0F7[OF,
CB) soldier ¢!

=
T

» @ be made of: ~2 TEOIX|C} (HZ7H FAAX| AOHE =

US )

® of: ~0f st



D

10 2in 3for 40

1 YEBE2 JANES UER g FAC
» with: ~2, ~2 7IX| (=7
2 ATQIZ "org ol HL?

»in + 210f: ~H=Z
3 U= 1 A=l 2oty Biois?
» for: ~0fl ZA5t= / against: ~0f| gtHoh=
4 LU= W ARYXE 7PXI1 UR|P HE HAES Ef1T OIS,

> by + WESEH ~2 EHD

>|.

1 about 2 against 3 from 4 for

=X R2(9] ZMEN YY=E 2I0[OF 5t=7t?

=8
g5 Bill, Dora
RE Kevin, Ricky

Dora: 22l Ot0FR0{0F. 2rof YF=E7H ACH AFRS0| | 2

Kevin: 9%‘ et MESEs EedEs g 5

£0

SAE =2t

O
i}
CE) entrance fee Y&Z / amateur Ot0HR0] /
t

organize &H|3t]

1 Q: =[7t 2201
AHEE TS0 ZME TR B4 CHoli 0|0k ISHIC
» about: ~0f CHoHK (URHHQI LIS Ol CHol Z&t )
2 Q: 57t YH=0il CHof B
A Billzt Dora0lCt,
» against: ~0i| gttist=
3 Q:Keving A2 2217}

A: I 150| 3HK SN2 ISWE AZSH £8 718

2 QUCHI MZI5HCE
» suffer from: ~ HHE0]| TSHC
4 Q:Rickye YHZTt O1EH ALSE0{0F SHCIT HZt5H=T1?
A Jd= J20] 2ME ZHIS LI ALSEI0{0F SHTHT A 245H]
CE) preparation ZH]
» for: ~2 LIaiA]

f

GRAMMAR IN READING

©00000000000000000000000000000000000000000000000000000 0

® by ® for © with

195041 128, 32 Y £3, 0| 822 522 =t
HZO2 0|S30F Tk HACIA HER|S

20 U= BE HS LSRN IHAISS 93t ZUS BS|2
ZYAC HCIA HERlSE SRS O 59 9

9fH PHSOPECH 212 1400020] Bl 3
T SHRES TN e Sy 92 Ot ST g0| A =

71x1|501| ER{3HCY, O] Amo ot 3t a9| Hi= SAIS mt

37 0j%

HJII

OE

oo o ?

ol

0

» @ Te LEHE MXIA by Ol v-ing7t 2 ~EIO 2 M’
2= 555 LIERHICE
10| LheO2 ~g PleiMat= £2

KIAb withS £CF

38 The captain of the ship the SS Meredith Victory
decided [to make space for refugees] ...
[ |= A 401 toRFATLZ SAt decided | SX0]

= ottt

»
[e2]
=S

ru|o
ro

REVIEW TEST 03

1well 2few 3 the fastest 4 fluent 5@ 6® 7@
8@ 9G® 10® 1N® 12® 13(1)a(2)An(3)a
(4)a(5)the 14® 156G 16 @ 17 @ 18 serious —
seriously 19 cut you — cut yourself &= cut it

20 always should wear — should always wear

21 other — the other 22 @ 23 ® 24 @ 25 @ 26 @
27 (1) on (2) since (3) from (4) After (5) about 28 @
29 ® 30 ®

=
T .
&At cookS =AlaH0F 5t2 2 £AL well0] ZEs|Ct,

2 o JimOA RIFIF AHQ Y=X| O|5HE 2= QLY.
» friendsE A 4= U= HYAO|ZZ few?} HEGiC

3 0|22 XZTK| Li7F AFRSHE Zd S0l 7F& 2 ZIZE o)L}
» Z&F + (that) + 501 + havelhas] ever v-ed: (0{)7}
[S7HR] -5t RARIE S0IM 748 ~&t

bl

0x
i
g
gI:
X
H
(%)



4 1u4o] Yo Lol o Mol Hofstz QEBI,
CB) fluent {25t
> as + 2F + as A ATIE ~5H5A]

@ ZEO0| Z231 Ut

» police= 1 MHZ 50|22 54+ FFBH. (is — are)
@ S0 AHS0] =5 Ut

TEOIM beSAt FHoll 0]01XI= BAIS

E£5| 259 F0|2 2L a few people2 =4 FFEHCL,

» "There is[are] ~

©® 22/&2 Peter?t 7+

> SEHR 52 BLHHE T FFEHCL

@ o2l o] 4t4? 2&3] o

» a manners ‘WA mannerse ‘02, O &'0[2H= £E0|CH,
(manner — manners)

® L= HiX| 2 40| Hostt

> HEX|QE 20| & J§7F HOZ O|R0{TI HAtE St 24502

2Lt (pant — pants)

E”(summer vacatlon) | =L

CED turn on 7T} / put on Lt
P ISA+ BALE O|R0T SAFS SH0{7F HEAIY AL,
SAPtEIEAl SE0] Fof| 2t0F SiCE

i

O 0] 222 Z2lo| [HE AZHER0 O AT,

© 0] 2242 S22 OfH CHE AZWE0 o 30,

@ 0] 222 B e ST IR 2L

@ B2O| O RZPYLE 0] RZFYOHT AfX| Q4CH

® 0] 222 S0 U= T2 RZHERCE Hoje 26 FCt

» @ "HIWF + than any other + H+3ALRE Z|&F9 Q0|2
oS 2 QT

> Wlth. ~2, ~% IR (E7)
@ Ues 5%t 10 HU?

» with: ~2 (/A

@ JHe QEIXE ZE HRUCH

> with: ~2, ~2 7K1 (=)

@ 119 WIHE0| FI2 it

> with: ~I201, ~2 (2 2Y, 2, 42 5)
® 22| Aot= XS R0l TSNt

» suffer from: ~[H20i| DS

G-ZONE

10 A: L= Al = 30

n

12

13

14

15

16

R
<
&
>,\l
n]

Q6tL]?
| L 2o EH@ MY LE?

[e]]

OF,

Jlm

B: 2M, L= M%*O

A1 SZO0I0k L .

CE) especially 3l / agree with ~0I7 S2/atct

> LEFRQI A0 OFLIZ “Yol| CHSH At 0l2h= XS A4S
LIEHHZ| TH20l 0l theS Lk

K| olof =
CE) lie =Tt (BIMEAL: lying) / grass ; *THL|(2)
> O Oie S0IM YRS LEHE = somes 44, LIHA|
£ LIEHY = othersS L1

J ALt

=70 O8E Hofl Z2UAL? oM [ o2t OrZ0)| 2 S04
> BHOI 20| A= A2 XA onS M, BOH Qo offs

2ot Af%* f S= ME*OI =2 OfE i A= theS 20
@ Gits 47|15 B 293 WAL U0,
@ QA= AL Fofl A
©® A= Mol YNs 20 ot
@ AR GAtE = PIA 2718 BfAL QUG
® AR} 0} AOJ0lE (— Fols) SEf2|7F Tt
> © SEfZ= EHARE 6L AOI7F Ot "'Fo 222

between0| Ot beside £ by7t =0{0F ST,
(between — beside E= by)

@ 4ot
@ 128 520Itf.
@ Xg2 2% 5A] 3020/t
@ M=z 5527t A
® 17t OFRE A2 AMEOIC,
» O 70 itQE MUY LINX|= 2, IW, A

S UEHHE HIIE 01 it22 M0t

12t EM

« 19| Hel= W Ma|=0E & 8 Aot

» HisAb + as + BE + as At AECHZ Hf ~EHGHA]
+ Nick2 Rontta Ha2latx| 2ot

» not as + ¥ + as A: AZZ ~5HK| 2[4



17

18

19

20

21

22

23

24

WO 17|22 DRSO RICH

» be made from: ~2 ENXIC (27} &FsPH MEf HelE
A Lotz £ Qg o)

- WSIAFS 2 50| Hi0[2{AR Qls FACKT L3HC

» die from: ~2 QIali =Lt

AL =0, 2= o
> SA spokee EP
(serious — seriously

=

S &71801 018 & A0 g7
wij 232 F0iot SO 22 ARYOIDE SH0R
M- T3 1 AL itS 2L,

(cut you — cut yourself & cut it)

2O ES R7lE

U2 AL XM IIHHE L2tof Bt

» BIERAL= UBESALS] O, beSALt ZSAIL| Fof IXISHTL
(always should wear — should always wear)

L= 77t & Of2] Aot & Of2lE 20011 LHA| 8t 0f2l=

2AA0|ct,

» £ & GIUE 71212 T= one, LA SH4E 71212 W=

the others Lt (other — the other)

@ L= =0] ©X| eiet.

» money= & £ Gl= JAOIE2 muchE MOF BT

(many — much)

@ L FejA0a I 425 25 HUC,
©@ UH2 YO} AIHEZRH SULL

hide &Lt (hide-hid-hidden)

» afraide YAIS 2 A8 £ ¢l 2 2oLt SXZ 20
SS9 Mz YR M0z HYEALOICE 2UA scaredZ2
HHY £ 2 Tt (afraid — scared)

@ Lt= SHoIlM 2 7EX] WSS ALOF BT,

» thingse A 2= QU= A2 Z a fewS MOF SH,

(a little — a few)

® MEESH 2AHTHE OpA|Z |6H?

» -thing2 2 ZLt= HHAL= FEAT} FlOIIA =AIBHTE,

(warm something — something warm

=

L= SA0 = OHIFEO|AM AT T OIIEE 2 A=0 UL,
JA=2 HUANY HA YRYN HEE A0 AL L=

Sfulol 2 If 28 HAS BTt
» @ 0]0] AOlIA a blg buildinge 2 AigE S4st
71E0|22 theS MOF Bt (A — The)

@ 19| 0|2

2o 7
[y

Q0| AU,
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re

CE) theory 012 / impressive 214X
@ AERAE, Jackson2 £2 TS BIX| RICL
2) sadly QEEFZAZ

@ d= A P &= SACL

CE) confidently Xt A, 2H4lS 20

@ D7t AARE MHAFLY WZISICH S-T,
® 1= L=
CH) illness &4

OfZL7| MEL X5 ¥ O A=3H."2t0 2iT,

)

» @ SXF0f(hersel)E 25 MHSHE SXZ HHZ M0
SEAO|H, HHA|= 25 £AH0|C,

O R & O & 342 ZO0I5HA] Y=t

© ZE Y2 YEE SO0{0f Bt

® IS 2EE J= 0Hp|2 28 7|Eict

2) look forward to ~317|5 £ 7|tH5ICt

@ IS = OFRE 1 SX|Z0| DHESIK| Qth
CE) be satisfied with ~0f 2t=5tCt

® Lto| @iits = Of HefAPt H7|E 7 ULt
> @ everye sttt (have — has)

‘_

33

¥

@ J= AAZOA YO (O= X3
CE) talk to oneself EXsIC

@ Sl|ULY0l= Rt

kill oneself A-A5ICE

@ Lh= S+ Z710IA CHNCE

CE) hurt CEX|A| tCt

@ JH47h &Y 97| Mg DHEQIC
® 5t=2 AAR E= K12 5Lt
CE) heaven dts, &=

> @9 THHUNHAL= 2| M 20| A0f ~ XA0|(S)

AHOl2E 329 2 UEUL, UHAIE SA £=

TAXIALS] SHOZE ML
2| oo dAl2 38 20|t} IA2 At SLU0IAT
2= 0HL 2 ¥ MEIS X 2IQUREH FH|YCH
MAIEON, (zdat L= O R LOLEM SAIRE QAT
TS FACH 2210 LM 2= Ot S HUL. OF AAL
S0f Ot Oizdut L= ote] ME2 Al LT Y0k=
2% OHE|Off CHAH X15] YX| oHRCt
» (1) on + M ~0f

M

(2) since: ~ OfHZ A2 (5 AZHT 574 )
(3) from A to B: ARE| BIHX|
(4) after: ~ =0
(5) about: ~0i CHot0] (YO

2l LiEOll Chal et mh)

@ OfH OF7|= L AFEE.
CE) cousin AFE

Ch O HEAI L

0x
i
g
%
X
H
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@ JA2 7ttt 5t w2 oLt

CE) run away ZOLICH

@ MIAIM 7+ =2 L2 F0[L?

@ O WOl HE2+E, 24 H =0t

CE) gain weight 2217t SCt, 40| Mt

©® Fat= WoT 43U AZ0H ZW G Z2H0|AC,

violent 22Xl / imagine 445t

> @ ~EE OF oih2ts 59 B2 "the + H|WE, the
+ H|Wg,22 £C} (You eat the more — The more you
eat)

29 @ K2l HWAHO0|ZE 27| ol & P LRI HSI.
@ R2= 11 WAS 2let OF0ITIof7} Lk
CGE) ceremony &, oA
@ L= OFEl AR QF EAE S 20 HQICE
@ Mz B2t 3 T2 O A0,
® Martin2 119 M AIRAE ¢
fERE I, & kel O140|H HHelS

v
e
X
4>
gQ
rr
o1z}
>
1
09
mjo

-

@ KE0l= 2ol M™ o Hofxick

® ZE AIBI0IM AFHES XIRE 2ol WIS

CE) society Atsl / fight ML (fight-fought-fought) /
freedom At

> ® freedom2 FHYAMO|ZZ A0fl a5

(a freedom — freedom)

MA| =L

T
toAALQ| 7| %,
HALZ{ 2 M0|= toE A}

EXERCISE

©00000000000000000000000000000000000000000000000000000 0

A

1is 2notto 3 where to go 4 to enjoy

t QIHBIT / mistake A4
> FOIZ MOl toRFAILE U FF

2 Lb= 2200 tis o Y25k ¢fes

SIE2 is7t XMAotLt,
CEEiC

46 G-ZIONE

GB) (not) at all 5, Z2& (~
> toF ALY 2EHL to HiZ

OfLITH)
| notS MA LIEHACE

EY
3 F7IE OUE 7i0F A 2EE 4 gl

et

> where + to-vi= ‘Ot ~&X2h= S0,
4 H=o| 2 0f &7He E7|= A0l
cB key Shal Ha| / moment &7t Tf
» 2& A SAt= is0|0, to enjoy Olot= FOE HS
HHSH= =24 H0{0ICt,
B

AR2(0f 7H01 itS A4 HeY

> tORFAITIH 01901 AL, 0]
Cl Lﬂcr.

=021 toRB B E 28 F
2 2= H7t & A0IC} Lz 24t
3 Ui oA o A=lolL?
CE) make a reservation O5IC
2,3 » SAlneed, plan2 SX0Z toRHAIS 2L
4 L= 2017 o] ZE2g X SO0 EX| 220, J= oFF
Bt 5204,
» 'when + to-vi=

HI

M ~HABHE S22 LIEFHCL,

C

1 where to park 2 how to 3 It, to write

=2 OfC|0fl FAFSIX| Z-3iCE
FO|2At + 0] + should[can] + SALE "RA + to-v,2
B2 4 QUCk
2 HA Gt ERE T e gY AL,
= A A EIYIE THe S B FAL.

P e EIRIR Tt 22 2 A EIRIE The EE(how to ..

£ oJojgtt,
3 1Y Y715 M A2 E2 SHOICH
write in a diary @7|2 ML}/ habit &2

1 They agreed not to go on a trip
2 | hope to be a firefighter
3 My dream is to become a TV announcer

)



4
5

It was hard to persuade him
She showed me how to use the machine

€E) go on a trip GA7ICE

> toRFAIL BHAE2 to HIZ Y0l nots

» SA hopes SX0IZ toRHAIS 2L

CE) announcer OfLIR2A

» 2N MA|Q SAt= is0|0H, toR AL
HE H%5te F4 20{o|ct,

CE) persuade HSatct

> toRYARTIE 0101 FR, 01 Xh20f 7
Z0{Ql toRHA(to persuade him)= % FI2 HUiCt

EE) machine 7|4

» how + to-vi= ‘0

M| LHEFHCE

Z0{(My dream)E

~YRBtE & LIEHHTY,

1 (1) was to clean (2) wanted, to help

2 (1) to submit (2) decided to prepare

(1) I.:'_|7(|9| 71|§—-!8 g ZAdk= AOIUCE

an)7t 321 H40|22 beSAtE wassS

1, 34 H0{9] X2|7t HIHJULEE toR™AE AHESH

HHSH

(2) 34 Johno| X7 |5 =52 SRICE

» wantQ| I3 wantedE 21, SX0{(John)2
*"méfE =84 201— toRHALE 2L

L2[01A 2H 21

EIME HMESHOF

(2) Lh= J%4& Nickat 2 EH|sP7 |2 Z-3Ct

CED prepare ZH|5HCt

» decide® I3 decidedZ Lt SAt decide= SE0=Z
toRHALE 2Lt

GRAMMAR IN READING

®

Jake : ¢t

Tim

Jake :

Tim

st X HAF 2B MHOIE)
: SHOL Lt X AFRIO] ZHEAO ChEIO)A ATBHs 7 i,
HU) MY S0 JHe 24 S2I0| SO[NAIE HoH 12
57 95 OfCI2 ZIQH=d?
MEF ILFH CHS 0l U Lz
HiQJE= 74 Ofm?

20| 1AL A

5= 2

Jake :
Tim

Jake : 1
Tim

>

]_7-| o4 Y?

2t SFX|ZH 2ref CHa|0f 7ot HLHH, B2 HE0|
o,

Ly O U E0t A A
O O W &2 X gA2US Hoks 7o

e _I°
fo

o

I'-IIZI

@ [t2 7t=0{0]1 to go Ol 2&<

® Z&AHshould) Floil= SAFES MOF St

© ZAt learn2 SX0|2 toRHALS 2Lt

@ At wantE SH0Z toRHAIE 20

® to be O[517F 01 My dreamE B35 4%st= 52

&=n

2

Yeah, | saw him surf in a contest last year.

» "X[ZtSAHsaw) +2X0{(him) + SEZ E0{(surf),= ~7t
St A8 Ehfehs SOo|ct

Where did you go [to see him]?

> [ = BAKME MO0 toBFATE FE|(~517| laiAl) el

SE0lCt.

My dream is to be as good as that guy.

» fas + Ag + as As= ‘ACIE ~8HSHA]012t= SO|Ck

35

BEAL SAHY M0l

FEM

EXERCISE
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A

1 To be frank with you 2 to deal with
3 to wish good luck 4 to hear your voice

1

A H7| Q= ALk O{HOI? 0] SAJOIA S|,
B: £215] Yo, 4171 Bzt 9ol ol

foflA

&l
E25|

» to be frank (with you):
At U off OfZA aizksh 2O|L?

B : eLfstH SHZsH0F & R 71K ZHI7H AAE.

CE) several 29| / deal with CHRL}, sHASICH

> toREALO| TRIAT} U= HRE, toRHAZL HEAME
M0 HAHproblems) FIOIA HALS RHECE

A: T 22 9oju?

B: ol @22 Hi= MARXOL

P toRFATTE HEAMZ M0 HAHa gesture) FIOIM BAIE
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nojEC
4 A: QDI00H Y SA2E SO EFLH
B: o 3101 o= X|WH0{?
> UHS UEtHE E2AHglad) 0l toRHALS MA ~lA,
~ol0{'2h= 528 LIEHHC)

1 foolish to waste 2 was sorry to say
3 were shocked to hear

0 AngelaZt AEOIM 2HHRAS SOt TlH= HRIUCL
- Ange|a7f AN RIS =
) cheat 2H3QIE SiCt £0|C
1 L= o] Aol L
— L7} o] Aol
0, 1 » toREAP HZH/HITS LIEI = #8AHwrong, foolish)
Fofl 2404 ~5iTtL 2t %QI THO| ZHE LIEHHCE

=)
=
=2
=

=
[
=
[

3 R2= I XA )\Woﬂ Lol SUCH P2l= SHUUC
— REl= 1 KSR A0 Ofsh E10 SAUUCE
) shocked &2
2, 3 » toREAP LHE L= #8AHsorry, shocked) Foil
MOf ~olf A, ~5t0fEh= 20| 2Ol QIS LIEHHLTY,

1 The movie will be released soon,

2 If you want to change your life, you must change
your mind,

3 You must turn off the lights when you leave the
office,

1 1 gGsh= 2012t 7HEE 20010k
CE) be released =5t
» be to-v7t ~& 0HO|CrEt= 012 S22 LIEHLHEZ willo]
EHot.
2 QIS HHL HCHH ORS7HEIS HHLO0F SiCE
» be to-v7} ifH0jA] ~ot2iB02te Q=0 S£g LIEHHE 2
want to”Zt ZEsIL,
3 ARRAIS Lz I 22 70
» be to-v7t ‘~oH0f StCF
Hott.

=

F &t
2H= o|30| £ LIEHNEE must?}

48 G-ZONE

D

1 a lot of homework to do 2 someone to talk with
3 to become a famous star
4 To hear their conversation

1 > toRFAD} HEAXZ 20 YA homework) FlOIAl HAIS
THED,

2 > ~20[0p7|E LirCEEh= 29 talk withe toRHAIR MY
MOl = XA withS &7 AJOF Bt

3 > toREATE RAKE M0f (o) 2= ~3C2ts 20t
58 LERHC

4 > toRFAE BAXMY X0 ~ottHOIRE X219 K5

LAEFHC,

GRAMMAR IN READING

©00000000000000000000000000000000000000000000000000000 0

SANY M0|= HEAIXE M0l= SAXY 40/=
SEAL toFFA toFGAr

® © @ 0 0 0

2E 424 JE =g
AFotM ! EE HZ=Y 7HE HE 0| 24 02i2E oI5 =of
7B "71% s et O| IIAIM%%% L ==
DI9|Uf$£ HES S2oML.

Tl 201l thaf

o
HI
rr
N

ir o

E
z
o
]
ﬁ

1E:EI

oY JEmun
MHo
pc]

4_0 r\n

= Ei
LI 22130 LM EE e K=y % 2 Of2Hof A= O
0L SHEHEMR. O 2 As LOHHAIZE HO|X| M Ot =
JHAE EUL dEdE W I 22 d4ES 2oPts A YA
Ol 242 AlZE ELHMIR)

> @ tORTA} BAKE M| HHS LIEHHE= S8
oM ZE9] EelS LB UL
®, @, © toRHAII BARKZ M0f ~517| Qi ets =2xg

LB QUEE

© toRHAPL YEAIXMY M0 HAHall the cool things)s
FOo{iF1 ok
® toRHATE HAKZ M0f SAlforget)2l ZX0] HES 5t
AL,

AHdelighted)

63 Go to the bottom of the page to find out more.
> SAHREYC R ARG 3 FHR0IC

78 Don't forget to collect your free gift when you
leave the museum!

» Don't + SAHEY ~ eS| B HAZO|Ct
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EXERCISE
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A

1for 2for 3 x 40of 5x 6for

—
)
o
sl
Hy
o
o
ol
S
2
=
>
rir
N

2 grtsaitt,
0
1,2 > toRFAY Ol FOl= AUHOR for + B2 02

3 = U2 =012 SHotL A0 Fk
CE) foreign language 2/=01
> toHALS] Q0|4 07t 2EO| 012t URIGIEE oj0|Y
FO0IE Mz MX| ph=Ct
4 JUE7t 0 MSHSE HOlE A2 UL
> ALZHOI| CHSH 22 HILS LR = S8AHwise) FlOiIA
to R ALY Qo4 04 Tof + SXZ,O2 LIEHHCE
5 & LtofA 142 ol IOE% ZEroat YR
CE) exchange 18t
b O|0jAF Z=O7} 29|
ME| OH=C},
6 U7t Al FONNSIE & LRIt QILI?
o

=

_||-IJ &
I
2
e
e
g
|0
tu
(e}
E
o
H
=
i
=

=2 =2
necessary HQgt
» toRHALY] QjOje F0j= YEROR Hor + FXA, 02

LFEFLHCY,

It is important (for us) to have breakfast every
morning.

2 It was careless of you to lose your wallet again,
3 It is natural for everyone to like my brother.

4 It was clever of her to call 119 at once,

=
i
ol
ol

1 (271 Y OFE! OFE! AA}
» toR S| QDjY F0i= B o
o|0j A 017t Yt AR (we) [
2 U7t E XS oiH2|Ci] B oF0t
CE) wallet X|Zf / careless 22|t
> ALZHOI| CHSH b HEHS LEEH HE &= AHcareless) FHOIAM
SYALS| Q0|4 F0l= Tof + SMZ,OZ LIEFHTY,

te A

rlo

It
2 LfEfeict
ct,

=8

ﬂ
[0

=l
N

257,
Al

X
et

+

3 TE AMR0| 22| QS Z0ste A
natural E¢st
> toRFALS] Q|04 F0{E HE Tor + SEZH,O2 LIEHHC,
4 JUE7F SA 1190 Mstst e SO
at once ZAl / clever sigst Fa|st
> AHOY CHSH 2t I.HBO L s8AHclever) FIOIA

Lte}
toRHAfS| Jj4} ZOf fof + 2XZ,02 LiEhict

rlo
o
re
[e]l
=

il

C

1 It seems, has 2 so, can 3 so, | couldn't
4 enough to run 5 too, to 6 You, to be

1 J4e UA & 2P e A 20

2 Jhe iR EESHM 28 € 4 QT

3 U2 XM L= F 2 SlICt

4 & iR 2t SkmE 208 et 22 & Ut

5 Lt= S HitthA J0i7 CHA| Fste 4~ iUt

6 Us &E A 2Lt

1, 6 » seem to-v = It seems (that) ~: ~¢I Z¢ ZCt

2,4 » ~ enough to-v = so ~ that + F0{ + can ... --5l7[0f
E&35| ~5t, 042 ~5t0] -5t

3,5 »too ~ to-v = so ~ that + 0{ + cannot .... -57|0}

LIS ~3h U ~3HA 2 4 girt

D

1 | have enough time to take a nap.

2 She seems to avoid people.

3 It will be easy for him to fix the broken chair.

4 The hall is huge enough to contain 500 people.
5 It costs me 50,000 won to get to Busan,

1 L= JEHS & S8 AIZH0] Uk
CE) take a nap RS Xt
» enough?t HAHtime)S 1Y M= HAH 20 2O
(time enough — enough time)
2 U= MEES IL| t= A 2L
CE) avoid L[&tE
» seem to-v: ~Ql Z ZTt (seems avoid — seems to avoid)
3 7t BT 9RE IXl= R 48 Aot
CE) broken E2{%l, 1%
> toRHALS| Q0|4 FOiE YLIHOZ Tor + SHZA,02
LEFCHTE AFRIOI CHEF EEQI HILES LiE = A&At

FoME Tof + 2XA 8 24, (of him — for him)

4 112250089 Ate +=&o|0f S=5| A,

CD hall €2 &, &
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» enough= YEA = 2AE HOIM FRICE (huge to
enough — huge enough to)
5 L{i7p 240 7h= o 5RFI0] ECt
» 't costs + XA + FH + to-vi= 7t ~ot= O
(HIE0]) - SCFeh= o=, 0| toRHAS] 20|y 0=

2740 20t LIEFCE (of me — me)

GRAMMAR IN READING

A @ for you to follow the rules
® too young to go on
© nice of parents to help

B 1F 2F

SYUD oMt BATAE Y5 ol GRIZHM FHS

F | ZRBUCL BN, BE S522 Z2iRAED|
Ef2{®t Ol HE| 717+ HO{OF BILICH HOIE 717} 125cmE
SJ0{0F BILICE. SIXIZ 74 DIRtS) OIS S BABAES EPjo=
LIS OfZILICE. 3t SR} 120kg0l GECH S XAl AEE
SIoi O 21T} Moot 0| HRBILICL BOR, HRYSTA

010IS0| B2ATAEIS EIT L2l XS EAFAIR EASUCL

ZABILICE, S712 A7 LML,

o

» A @ toREA AOjE FOi= toR-AL 0l for + FHA,9

SEH= LIEHAHCY
® “-ol7|0f UF ~20l2tE K2 "too ~ to-wE HEHFIL

© AHZ0f S F2XQl HHS LEHHE F&AHnice)
FlOIA toRHALS| Q0|4 F0l= fof + 5XA,02

LIEfHIC,
B 1 STAEE 2F0 of6h 0|82 4~ UL

> 712 LIOI, MBS0 et Mol

2 74 O|2e] O}52 ETAHE & £ UL

» 7M| D|2te] Ots2 EZAHE 7|0 LT 0f2ICt,

18 First, all passengers must be a certain height [to
ride the roller coaster].
» [ I BAXE X2l toRYATLE
ol

SH(~517| flatM)e

43 ..., it's necessary for you [to consult the safety
guard for special instructions].
P it2 7HF0{0|1, toRHAR [ ]7F ZIZ0{0IC for yout to
consulte| 2|0j4 Z0{0]Ct,

58 Finally, it would be nice of parents to help their
children get on and off the roller coaster.
» Thelp + SX0{(their children) + 2H2HAHget).=

50 G-ZONE

(FH0))7t ~5t= XS St S0t

/] =77 moiz pols muy

EXERCISE

©00000000000000000000000000000000000000000000000000000 0

A

1 come 2 use 3 toride 4 standing 5 to relax

1 UsR25FE Y ez @A 3t
2 Thomase 147t 19 LESS AESH| o FRICH
1, 2 » A4S At let, make, haves 87 202 HYEHYAME
=
3 52 U7t LEHI0IE Ele WS SIGHR| h=rt,
» SAtallows SHZ E0Z toRHALS L1,
4 L= 07t HE2 o7]0f Sofia®t 8V M Q= AHe HUCH
> X ZtZAl sees BN HOE HHEHASE MX|ot
TR %‘S% LAE M= SMEAE M7|& STt
5 e LIS HoA +2 &k
>~ SiCfete= Q0| SAF get2 =54
N

£x0]

20=Z toRHAE

o

1 to overcome 2 (to) find 3 buy[buying], smile

1 A 49 219 {Hlig2 =747

B: O] MAEHOIN. 22 Wt oeigs S50==

225104,
CE) encourage ALt / overcome ==3iCt/
difficulty {2ig, =2t

» SAt encourages XA 0= toRHAS 0
2 Ardgs=gEdgAg?

B: 2= 0] 44

» SAthelpe S84 B0Z FYRHA E= toRHAIE 20,
3 A U= OF HPI o2 22 Als Z RO

B: 8. Ui W HAESE 27 5kl AU
> XUSAL sees= SH4 E0Z HYRYAL B HMEME

MI, ARISAL makels X H0I2 AHHTAES 2L,

Jg

oz



c HLIXIE S4BT BED T2 E7I2SE 1 HEET) o
SiCt &

1 My father let me go to the party YA B SILEE FOf 2l0f é Tk 270] 40| QM0 228
2 Judy asked him to wait outside I 2 Q| EotEX|E BEC}
3 | am watching those people take pictures
4 My uncle told us to study hard A @ X|ZSA hears S87 H0{Z FHLHALS £01 S|
1 b 7h 5P 8 ZOFRRS B17H0l S et + 20| + T SYS LZ5H| 2loh BMZAIE 47| BTk
UBIETALO| HE|Z AT} ©® At expect= 544 202 toRYAE 20
2 » EAasks BHZ HOZ toRMAIZ AT} © SAF helps 552 2012 AHRYAIR} toRHAIE &
3 b RZSA watchis S5 02 BERAA EC BHEAIE = X, B2 mETANE SH
e B Turkish boncuk2 7tRLI0 A2 &0l U1, T FE
CHIFEHM It SIMOf 210 S = Yo HEHEO|SZ

4 final exam 7|ZAt
> SAt tell SEZ HOZ toRHAE 220

D 2@ The Turkish boncuk is an eye-shaped pendant [made
of blue glass].
1 will make me forgive 2 O » WHARAE [ 17 HAF an eye-shaped pendants
3 heard Mom cook[cooking] 4 O S4BTt
5 will help you (to) sleep 6 wants you to call 83 You should definitely pick one up when you visit
Turkey.
1 0 2= W 25 8MaPIl & + elg Aol (Ls 18 b TEAF + 2ALE 012021 SATR(pick up)l SH0f
2l SME + YS AoiH) CIZAPE MROD2, HAKS SEHOf Hof 20}

=
> MOISA makes S5 HOZ AHRFAIE L0
2 JUE &7t
3 Li= 0t O AlAL BIEAE A28 SUCL

SR N T B
==}

4 Ok 27t I M3 H3|0IM 25 M2t 7|THokR] UL =
EHALO
championship M43 T3 8 =3 OAI‘_I 7'—{

5 0] 20| L7t 20| HEE Z E9HE 7o},
b At helps 2X7 H0{Z UHLHHA EE to
6 & U7t 7HsSt ot wa| Xp7|olH et |

> SA wanteE S84 HOZ toRTALE £L0h EXE RC ISE

=/

©00000000000000000000000000000000000000000000000000000 0

A

1 owning 2 her 3 learning 4 is 5 Not wearing

GRAMMAR IN READING

ee0c0c0cceseccccesesecsecececscccsesceseseccc0eses0000 o 1 |_H Eo |_H );|.A|__| 7-|]1|§% 5|.'— 710F
CE) own 2K5ICH ~2| XHlQ|
FOIE 2 2%ot= 20 Aj2(0|122 FA JES of=

A @ say[saying] ® to protect © (to) keep

B @
SEAZEH 15}5}

B7|E Z2 YBHES AMHE0| ‘BR(boncuk)02t= HOE 2 Lt J47t 220 st 20| £
Yotz A2 SSAe ZEL HY|Q 252 WM RE|2 RS0 b SHAL OJOAF RS HE A FL EXHOD MM
= 2O HHEOIL, JA2 B& 7H=20|0f H2 ol U, 1 SOIA} HFZ QFO| MA] LIERACY
RIS S 2t SIM 0| S AT HZ|0IM FA2 3 Li= MZ2 OIS Hh= Z40f HAI0| QICt
0| HHEES OCIML 2 4 U0, 7HEE0 ARHel ¥ T2 b HZIAKIN)S 2|2 BAF HBS Bt SHAIS AL}
AL 20N = o UCH HIQIS2 24| Ti2tM0] 2EXQ

H
Rl
-
i
i)
0
ro
e
=
i
30
pal
E&
rr
SN
=
g
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intd
pal
2
rlo
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CE) relationship 2
> FOIE MOl SHA = Ha FFTHC
5 [t IES X = 42 UE Z7I0) 22l & 2 ok

> STA REH2 SYA KOl notS MA LIEHAHCE

1 living by the sea

2 Driving[To drive] in heavy rain
3 making great ltalian food

4 playing board games

1 3 BT Q0IN AR 212 BRI

> ZRIAHabout)o SHOIZ A G2 St SHAIS 2O
2 E9 £0IM SHGH= 22 Ul Y

b SAP}FOIZ S T SHAL T to AR FEIR At
3 0 YAEYL WOIE 0|Z2A0F SNS BIEL 02 QU

CE) famous for ~2 &

> HR[AHfor)S E2XUZ YAt
4 4= FSH EE AY 5=

» SAt enjoy= SHNZ SHA

0%
g
19
= ok
o HJIB
- on
N
a

i
s
O

C

@ you mind closing ® opening and closing

ro mo

] ;9
e
il
H
i
o
]
H
m
m e
i)l
o J
M
rob
inl
=)
Rl
ozt
HO
mjo
ne
=

CE) annoying WEA22 / attach 20ICt/ remote control
2|22 / operate AS5ILt

@ » Would you mind + SAF ~2,= ~alf T4 & USLINT
2l 239| SL0|Ch SA minde SX0I2 SHAIS 20

® » SAVL FOZ & s SBAL B toR A HEI=Z 20

D

1 reading 2 collecting 3 Having 4 his[him] winning

> SAt enjoy= SH0Z SEAL
2 A: 49 FOj= #HL?

B: Ui F0ls BrEr

C o

nf
mjo
H
|0
rir
~
k=)
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4

CE) limited-edition st

» FOE BE HT5t= 20{2 XZ0|22 FAF AEE Sl=
SYAL = toFRHALS] YEIZ 20

A Ol BIE0| HR= MRS Tt= A ofm?

B: OHECH2 d0IM &2 EUi= A2 2&E 7{0H

island 4

> SAZE 02 2 Ol= SHAL E= toRHANS] FEIZ 20

A Ue J7t 3o &8 20l

B: Ot &&. Lh= a7t G43] O

g

i
u
T
~

7!

[}
» winning®t FH= hez, 2%
QYoo STHAY| ooja F0i2

him& £t

B

0 <2
<
(@)
.
1o
ne
>
E&
Ral
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A @ Exploring the cave is very hard

® main aim is photographing all the crystals

20| I =HT &517| HEO|Ch

F2|AE 520] 20008 HAIT R|AAF(H)C] LIO|7H0IA HES0

O3]

YAZUCEL OR2 MM 7t 2 W Fe|AE PRE

Ztotd QU 7t 2 A2 Z0I7H 12m, XIF0] 4mo|tt.
of F2|9| MEAHS0| 1 S22 Aloh= Hl HOl HOal 2Lt
O3 22 SE2 g4 gotth 0] HE0 S=& Edole A2
Al OfELE AFFS2 8 ol 102 ST 1 20 = =+
ULt OJH0l| 11 S22 22 715 & AULL 0|A0] A2AESS
S U Rg2 S717F IRSM £&d5 Yol ALt

A ® SZA Exploring the caveZt 2%2| 0 <

o
o

®

ofn

YA photographing all the crystals7t 0i(the
scientists’ main aim)& 25 d%sh= 20| &S Sit,
B =& 532 ‘But it is extremely hot and humid. il A

01RE Y 4 QUL

4

A group of scientists have been heavily involved in
researching the cave.

» SAHresearch)7t ZX|AKin)2 SX0I2 MY M= SHAS
SEHE 20,



9 SHAl vs. toF A A}

EXERCISE

©00000000000000000000000000000000000000000000000000000 0

A

1tolearn 2to do 3 being

=
bl
%
u]

1 Seiko= 2% 27|
2 Us 22ES fIohM Tt St XS 05k =l
GE) housework Eot TEA
3 1 E2 A3H0| QEX RIUX|L = &L 25| MO|ACE
the final 2%
1~3 » SAt begin, hate, continues SX0{Z SYAet
toR A BEE & 5= U0, 11 SO XH0|7t 79 gk,

1 talking 2 to do 3 listening 4 to learn
5 to open 6 to answer 7 to turn

1 = 2201 tish 0[0F|5t= 2
» SAb avoideE SX0|2 SHAE 2Lt
2 L= g zldg Ciokdd L 3sict
CGE) do one's best z142 T6ICt / all the time &4
» try to-v: ~Gt2{10 OfALC
try v-ing: (A& &0L) ~aff 2t
3 2Xe= kL E= Ag UL
» SAt enjoy= SEOZ
4 UYe0l 7*OIOH)H 2A % HIS A2 2 7|CH3H?
t

5 1 2I)\f‘— °|501| ANRES D712 AFA.
» SAb decide= SE0|2 toRHAE 201
6 ZQI2 UL HR0| oIS HHEIUC
CE) witness =X} B¢
» SAtrefuses SHUZ toR™AIS
7 L= 715 20eE Ie A8 o2
AELCL
turn off IICt / overnight BIAHES
» forget to-v: (H22) ~& Zig ACt
2.

=
= St

B g
i3
=
n
i
¥
3
o

forget v-ing: (ZA0f]) ~34E A

C

10 20 3finished reading 4 considering making
5 gave up trying 6 O 7 promised to buy 8 O
9 quit going 10 forget flying

1 J4e & MM 7I02ls 28 72IX] LUt
2 TA| Yot e HRE?

CE) for a second &A|
3 Lt= ohat or|S Uik

» SAfinishe 5X0I12 SHAMES 204
4 20l= M 2YS UEE S TEst ULt
> SAt consider= SHUZ SHALS 204
5 & QAL EE{1 jME RS TISHCE
> SAh give up2 SH0Z SHALS 20,

S
6 L= oA 8%'JO1IA1 Lo | AIEFRUCE
7 EE HoA 223 A0S MF7 (|2 43I0
> SAt promiset SHOZ toRFAE 2L
8 S mF ZX7t ACH 0] 2MS Aol &
9 Joe:= AHEMO| =7| ffchM Sl CHE Ag JITHELL
CE) stunt man AEEM
> SAb quit2 SHUZE SHAE 20
10 L= AS 9IS EAE A 2o 9K 2e 70k 20,
CE) valley 7=
» forget to-v: (FO2) ~&t 7

forget v-ing: (Z7{0l]) ~3HE 2

D

1 to watch, watching 2 to find, seeing

}0\1

1 L= TV 7P E2 20710 AR, U=

HHOA L= 57

Z718 27| flofi FF Mo A2 e 20122 F7IR. U=

g 4718 BHE As 2o 8K = Aot
CE) screen =tH
» stop to-v: ~5t7| 2falf (5HE LS) R
forget v-ing: (2A0f) ~&H 2 Aot

0

2 Chade MESA0IT = M2 #4S 2o ofjedt,
X 20|z FO7IE 2H d= Mo 1
7

23 2= By
2OIE 22 7@@ 4 QUOICH T MO "0 Lo

oIXLt 7|52

02

astronomer H&3ixt / planet
b try to-v: ~ot2 T OfMCY
remember v-ing: (TAH0) ~3HH A4S 7|f51Ct

0x
o
g
éﬂ
[

A / recently 20|
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GRAMMAR IN READING

® meeting ® eating © to lose @ to do

Jina : 2rF5tML, Dave. Body Zone AMSEol| 241 &

2fLICH M= JinaliL!
Dave : U, X|t=0] Gt BHdE 22 719612, XetH| QIABE

Jina :0f H0t2)

Dave : X

, =)
20, 2SE AILIOIZE EI HAER]

Jina 3, 0fF 2 =M0|HIR! MK 22 5l HeMe?

Dave : Ot0F & 7HE HE?

Jina : E0t2 A|ZoiEZE!

» @ remember + v-ing: (H0ll) ~AHH %S 7|5t
® St stop2 FHHZ STME
© SAl decide= SN2 toRHAIE
@ At want= SX0I2 toRHAIS 20t

rli
in}

438 Well, you're 20 kilos overweight.
» overweight, old, tall 59 8At= XIS LiEH=
HALS FOIM 248 (e.g. I'm 15 years old.)

48 Can you tell me [what your goal is]?
» [ J= SAttelle] ZIHSH0Z M0 ZHHOIZEO R, TZAL

+ 30 + SALS &AM0|CE

Gl
0%

| decided to lose all that weight and build muscles
instead.
» lose®t build7t E&At and2 HAE0] QICt,

EXERCISE

©00000000000000000000000000000000000000000000000000000 0

A
@ eating ® to going © walking

0f: @5 MH0lE LI7tA Hi 204]
H: 2S0(0f U= LA 2FHO| 7t= Al of?

54  G-ZIONE

of:

Lr

Z2 M2I0[0F, L XtS Efl JERH

238l Z0i7k= 2 ofm?

» @ feel like v-ing: ~5t21 ALt
® What do you say to v-ing?: ~ot= 7 0fI? (F|2h)
© How[What] about v-ing?: ~at= | of? (H|2h)

plo olw

o 2= O
=230 &2

1 fixing his motorcycle
2 making Christmas cards
3 waking up in the morning

1 3 QEH0IS IR o 8
» spend + (AIZHE]) +

2 Juliee F2|ADIA FiE
» be busy v-ing: ~ot=2} Hf#HCt

3 Lt= OpEo| YojLt= ol of2iEe Zi=Ch
» have trouble[difficulty] v-ing: ~ot= Ol Ol2igS ZiCt

I'IO

£2 40,

AN

njo

L5

ing: ~ot= Ol (AIZHE])S A0
DrE L2} HpgLY,

V-
=
= L-—

C

1 help 2 worthy of 3 no eating 4 On[Upon]
5 about making

1 R2= 7218 MEX| U2 5 UAT.
o) follow @=2Ct / rule 74!
» can't help v-ing: ~StX| 242 4 €It (= can't (help) but
+ SAHEE)
2 1 gsh= 2 77 QI
» worthy of v-ing: ~& 7kXI7} QU= (= worth v-ing)
3 AFEHHM SAS HoiM= 2F Ff
» There is no v-ing: ~& == GiC} ~siA= ot &t
4 1A= TAOIAIOAL 22001 F7t6HOF B,
» on[upon] v-ing: ~SHALOEAL (= as soon as + F0{ + SA})
5 AL EARRS Pes Al ofn?
» How[What] about v-ing?: ~ot= Al 0{tf? (= What do
you say to v-ing?)

1 used to sending

2 used to call

3 them from going out
4 object to working

5 about having

6 no use trying



1,2 » be used to v-ing: ~ot= O Y= 3H1f
used to + SAHAY: ~5tz #Ct, ~
3 heavy snowfall Z&
» prevent[stop / keep] A from v-ing: A7 ~GtX| 25|
2T
4 » object to v-ing: ~6t= Ol BHCHSHE
5 (E) extremely 2=2, 012 / spicy &
» How[What] about v-ing?: ~5t= 2l 0Tf? (H|2H)
6 > lt's no use v-ing: ~off 2tOF AZQICt

GRAMMAR IN READING

@ to receiving ® to seeing © to make sure

1930E0] Oj2H=, HAE9| ofs] RES2 YRILEH S H=s
2= AS 7ICHohRIC:. 11 =2 Hi2 MR Aol 1

o
ZQ3t 0| 222 0| 2 Ql=r| AU} O

0:
=
rir

2= ¥ , Agd oot BF 9 Rt
OtUzt OIS fIEH 7IM7, §L, 1211 S28FE U TEtA,
ol OIE

HHE B2S2 UE 0P|S0] AP| Op|9F £22 25 21 9
A2 B O Yottt HElE ESAE UM B2 0PIS0] 2
A9 B= 0F0f= QoA SS&
9|

| 5t71 2lsll 21 MS0| 0| E L.

» @ look forward to v-ing: ~5t7|18 2 7|tHotCt
® be used to v-ing: ~ot= O A&stCt
© be used to-v: ~57| fsh AHSEIC

63 Finnish parents, therefore, are used to seeing other
babies wearing the same clothes as their own
babies.

» X|2tSAHsee) + ZX0{(other babies) + 554
Hoj(wearing),= ~7t --3t= Ag EOats S0|C

108 The tradition is used to make sure [(that) all children
in Finland have an equal start in lifel.

» [ J= SAt make sureQ ZEMZ MOI HAPRZ  HL&At
thatO] 2fE|0f UCH,

41 svenazag

EXERCISE

©00000000000000000000000000000000000000000000000000000 0

A

1 speaking, spoken 2 dying, died
3 stopping, stopped 4 losing, lost
5 boring, bored 6 freezing, frozen
7 studying, studied 8 hiding, hidden

fS5ICH 2 =0 3 YRC0F 4 Ko Lt

|S5oHA ofth 6 Lt Holtt 8 st

mD

1
5

Pl

1 selling imported items

2 damaged by drunken people

3 traveling to America

4 playing his guitar on Main Street

0 12U Tt MY Z0t I 0[Z2|0t0IA FOHEACE
= O[2|Otofl A FOHE T2 2421
» 0 The wine0| SAt buy

ro I'

9t0] HY &t

l_o

0] 522 MARME

ML}
1 7H7F AUl 22 € AOIth 1 7P = e =555 2
20]ct,
= +H S 252 It= 7PI7F AU 22 & A0

CE) downtown AILH / import +=J5tCt

» 30| A shopO| SAt selle] FH7H HS2 HI|RAIS 220
2 ot ZAET QUKL A2 20| Flet A

ALt

= S0 FE ASOl ol FEE Fat ZAEI} AU,

damage #I&5tCH

Z0{ a movie poster’t SAF damage?| 40| H22
UARALS 220

3 HIRAZPHAIRSZ B X QAN OS2 D=2 2 Kokl AU,

= HI@7 7t D=2 2 ofdliot= AFEER 2 & UAC

» HAF peopled| SAf travel| FA7t HB2 HMRAIS 20
4 Of SO U= F#2 g9AE 20 2= Main 7H0IM 7B

ﬂ||ﬂ
=2
10
o

X2 QU

= O L0 Li= Main 7H0IM 7[EHS X &2 5AE 20

» HAF a young man0| SAt playel M7t HE 2 HIEAIS
o,

0x
o
g
gllz
[

55



C

152353

AT
F =N
Al
(¢, ]
ofn
o
Al
~
ofn

1 U= J7h =24 Yok 200 Brostict,
» object to + SHAL ~Gh= o EHHSIC
2 0lHE MZ22 MEZIo|C,
» Hoil A= HAHmachine)?l 8=t SXS LIEHER
STAOITE (M U= 71A7} Of 7] LIt 71A'2)
3 L= 3t A7 H0IM 81 U= WS BEUCL
X7

7 oz Mooz

4 gt DEH w—|01I A
CE) perform SH5tC f/ stage SH

» beSAlet 28160 ~oll Qlrteh= £of TS s
t

oH
ﬁ&
Kl
30
_lj\_

o= 9199% SIXHZAL0[C,

20z ARe02 A JEES ot= SHAMOICL

D

1 She took care of a dog hit by a car

2 The alarm clock ringing noisily is Jason's

3 | left my cell phone in the locked room

4 The gallery tried to find the stolen paintings

5 The storm destroying the houses is the second one

1 EE) take care of ~2 E20t
» BAZALT hit by a carZt At a dogE FOIM FHECL
2 alarm clock €& AlA / noisily ATIE
SMEAT ringing noisily?t BAL The alarm clocks
FIOIlA ROHELL,
3 » UHEA locked?t HAF roomS HOlIA FOHELE,
4 » IR stolenO] HAF pamtmgsE AN FHELC
5 (@B destroy 5L} / storm =
> STHEAT destroying the houses7f At The storm&
FIOIlA ROELCE,
15 » BA} EXA BAS FHHE = FAF A0 0, 2AT
£ 0|20] AIE 1OZ Tz A Flof| 2Ok

v
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GRAMMAR IN READING

©00000000000000000000000000000000000000000000000000000 0

SARHZ AL WHZA

ofn

At

® ®, 0,0 ©, 0

=22 MAS 7t 2 22X & SHHoITE SHXIEH (RI0js)Etd 2

YAPE =5 XAE0A 7128 MSe 221 O%2 2 #at

BES0] LHI QUTH A2 19918 BHOIM ARERAC (M0l
H= 7IX=0 Sfa A0|X|2 e AtS 0 2ol THOHE = EXI0|C

IR2 =5ANE0A A5E & 712IE MSt 01 7|27t GIHHH

22 DS0te ol A HEe & o (H0lmE

22 FESH=E A0 Ot =EYS2 2YE XG0 2
L. =HYE2 1.250250 EXIE A 2500250

=0

Of= of HX & 1.2502E8 He A2

i
rir

i

H
rir .H>
nT|n
ro
>

> SXHEA
©® besAtet ZE6I0] TS Die= HRIZALOICE,
LHZAL
@® BAt a magazines $Alots LAHZALOIC
© bezAtet ZE6I0 +SEHIE TEE= IHZANOICE,
@ BAL a magazines F=Al5h= LHZALOIC,
S3M
XIAF about?] SX0{Z Mol SHAOICY,

x~
ZYY FUZ A0 STALO|CL

43 It is a magazine [written by professional journalists
but sold by homeless peoplel.

» [ = YAt a magazineS SAlGte LHEATR,
writtent sold7t F&AL butQ 2 HA0] UL,

63 It offers homeless people the chance [to earn
incomel].

» P45 X0l= homeless people, ZIHEX0}i= the
chance 0[SHOICE [ Ji= SEAKZ A0l to AR 0
Lt2 HAL the chanceS $AIBHE,

9% [The vendors buy copies for £1.25 and sell them for
£2.50], which means that they earn £1.25 for every
magazine they sell.

» 047|M which= o 2% ZAQl [ 18 7t2)7=
A CHSZAOICE, BATHZAL 0l S0H,)E 201

SO MO| M| CHSH F7HE0I M

i =

T

re
-

1%

LH
=

1

nx

E

2
=

-

N

rir

2
==

i~

QUL they sell2 every magazineg £4/5t
BABAPEO|C,



=54 E(HE _’f71--)\fE = f
= [=] [=] 2 burn EIT
A suavs. 25124 @oned
HOZ SMEAE
3 > AGSA get? SHOt SXA H0{Q| AVt £=50[H
SHH HO0{2 IHRAS &

EXERCISE

4 » XZUSM(see)= SEO| XY FUS UXY I S5 HOR
A 5 (I repair LX|Ct
1 waiting 2 giving 3 broken 4 Spoken, written > get + SHOt + to-v: 7t -5 Sitt
5 planted
1 ZEH0IM LS 7ICH2l= Aol Q. D
CE) lobby 24
b 7|C}R|E0[2He SE - FIsio] ojn|0|2 2 SR EA} KBS} 1 surprising 2 taken 3 exciting 4 written 5 confused

HITT2 5}7] Ol Lt LEX|R i
2 YHESI U= N J(HH.:JPi_ oIk, 1 1 AMe =apart
CE) give a presentation YHE Lt - L N
» ~5HUFE LI ShE0RtE 539 Y Tls SMEAE
P (HEES) ot YA=02ts 55 Q| Q0j0|2 2 HMEAL art
E{oiCy L
) 77HX|EOE|E A —— 2 4= (oIl AZAA) ARRIS U
"HT IEf . Eg of o) Ep— » AFHSA havell SX0{et SE{Z H0{o| HA It £=50|H
» THEIO|2ts 45 - 242 0| 00|22 WHEA MaiC)
TOO o =54 H0Z2 ARAE L0
M

0= O G2t

w
|
N
ro _|>4
0|0||

O|ZITISH =& 0[op7|0]CH,
adventure 2

P UBHK|=, MOIOJ2t= 5 - &t=29| O|0|0|2 2 THEAY 5
= IFh= 5 - A2 2ol PASARE b ~BH RS LI SHE0j2HE 559 EY M= SIEAIS

msiC, ury
0| AlOJRI A2 LSE & £ =S el =
’ O“| O:( rﬂ;) rchrL / orode “iir;m; o) et 4 Larry= Kl O1S0] 520 201 S 23 230,
@@ plant (478 produce o, 12TIS) = b KIZHEAfsee)2] 2EOI BX2| B0t £50| BAY Th=
b MOJRIOf2t= 45 - 2=0| O|D0|D R THEAP} K5I}

SHA Oz BAZALS 20
5 XE OFA: SSEHEHQ. s TAl sl FANN0L?

~¢t YFs LIE0RiE £39 XY O= AAHZAE 20,

[}

v

1 embarrassing, embarrassed
2 disappointing, disappointed E

B 10 2boring 3 O 4 repaired 5 standing 6 hang

132 URiE 20090 L U R —_—
R 1 U= Katied] oiof 21El 4192 0fufzct
= = = CE) purchase +OHGCE

3 0% BEARE AACH D2l i B GO A5 216l SO0 2 AL ATt
143 »'~8t 2BE LD SHORtE 58O E2 M 2 4 me epp o Kieaics

SHUNEAE 5 = =olate A o e

ﬂ;ﬂgei FEE s T b8 S LD SO 550/ 0|02 HMEAE

2y,
3 Peters $1014 717} 512 e X2 STk
CE) bark 3t

¢ > SX0| TE EUS BZY 1, NASAS BHA woj2

AMZALS 20,
4 LU= W 22F 2RE GillofA] s-2f2ruct,

1 had, painted 2 smelled, burning 3 gets, cleaned
4 saw, throwing 5 got, to repair

0x
o
g
%
[
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» MASA have?l SX{012t SXA B0jo] g7t +&0|H

EX7 HOIR WAHRALS 2Lt
5 I Fol M U= Oxte FLU?
> M U=0[2t= S&- TIO| J0j0|2 2 HIHZALE
6 4= LA JHS ZEE KF0i| 2
> AHSAF haved SX0{2 S

SX7 HO0I2 AHRIYAIZ 2O,

GRAMMAR IN READING

® amazing ® installed © set

(HXAIZE 7101 M)

Audrey : L= 22| 2 2l 0 =2k2 2o 7HH2tE 2o

Kent @ ZU|, 230 27 <f BLaH?
Audrey @ 3, 20| 0] ZX0IM H2 He

FHoiapt SxIE 22 B, 2TS0| Fo M
IH5 40| © HOD S0,

Kent : 9= ZO[OF. BtX[BH L{e| OIRS0] 7Hel2i7t Bhat
OBt 22 SO 242 31 | 7“*EH.
7

Kent @3 MENUC, J2HE, HIE0| 20| SX| OF?

Audrey @ 8. 0 HXIE HX|st= 22 HIMZIXIE, 226t 7EX|7t
o

v
®
1
Ew
nﬁ
m\o
I

e or
ol
(I

f.
=54 20{= AZALE 20
t
H0l(set)7t £352| HAHO|EZ setO| HHSICL,

&=m

4% | heard [that robbers are less likely to break into a

home {if they see a camera installed}].

» [ ] SAtheard2 SEUHZ MOl HAMEO|H, { }=

ELTEALif7E 0| D= RAPHOICE,

o~
02

[having a camera film them all the time].

» [ = SArwon't likeQ 2XHZ MOl %%‘M?OICF.
A AL have= 2X0i(a camera) 284 H0{7 5

2
AY O S5 202 AH2FAK(ilm)S 20k

58 G-ZONE

M HOj9| #AVt 53

AR0] UARAAE.
|

TAH SHE0RHE 589 %0122 i
2tSAHsee) SX0{F SXZ B0/t 32| HAY O
Z

Cr2te oojQl geto] SX04(this system)2t S&

., but I'm worried that your neighbors won't like

43 =4z

EXERCISE

©00000000000000000000000000000000000000000000000000000 0

1 7i2iz 2Pt U o A7 8 98 engr

2 0Pl HS AT, Tk AALS SIS U

3 20| 5 oW H20| 1SS A US it

4 U0 o0 2B B2 Lis 10| T2 wse Mo

1 Watching TV 2 Being very selfish

3 Finishing the project 4 Getting up late
5 Arriving at the station

6 Not having a driver's license

1 4= TVE 207t ®0 I SACL,
CE) fall asleep HEU
2 = 0§ 0|71H0[04M Tt HA| QAT
selfish 017|&¢l
3 I Z2MES U UM U
CE) take a day off 512 &
4 L= =7 YoiR7| M20| HAS %‘ ct.
o0l EARE mf L 0l ™
6 LU= 2457} QU] ME0 XE 2 1%* = oict,
£) driver’s license 2XHH5((Z)
1~6 » FAEUAM HEAIRL 0I5 2ot £, SAS v-ing HEi=
B0l BAMLES DL EAMTEE Y0l not, never S&
MM 29| S8 LIEHHICE

(3]

C

1 Generally speaking 2 Strictly speaking
3 Speaking of 4 Judging from
5 Considering that

UHHOZ BaA B0| 742t B BT
» Generally speaking: YEEO 2 2l
2 YUs| LA Cant ME 2 Lo XEFst AHI0| OfLICE



» Strictly speaking: @Ys| LstAtH

3 229 ta &9 717t Loy 2ol steeo] EXEUCE
» Speaking of ~: ~ 0§717} LigtL] Zolh

4 19 ooz MEHGHA, = Of=3E|Lt E40|C,
accent 9
» Judging from ~: ~2 TSI

5 U7t Z2tAo] 1%t o7 SO AU
49| DHALE U1 SESIC
» Considering that ~: ~& 12i8tCIH

=

A

rr

TREHICHE

mjo

D

1 Being very angry 2 shaking hands

3 Watching the movie 4 Running for an hour
5 the students staring at her

6 Not knowing what to do

1 » 2AFE Because | was very angry2| A2 HEJOIC,

2 » 2AE while they shook hands® 2AMTE SEHO|CL,

3 » 2AFE While we watched the movie2| 2Al72

EfO|Ct,

BAHE After he ran for an hour?| A2 SEHOICY,

with + (AL + 2ALS MA (CH-AZE ~SH 22

5SS LIERHCE (THHALRE 2ALS] BAI7L 550122

SNEALS 2L

6 » 2AE Because | didn't know what to do2| £At72
SEROICE 2AITE A0 notS MA B =2 LIEHHLL

(1 I N
v v
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@® Walking through the thick snow
® with the freezing wind howling in my ears

S HAMM WHEXL, E=E Wels Z40] LUE SOl Mzl
5] 00|, L= S HOF 72|S &0] ROt L= W
QIHOIM OIZ0f OIA F2 R0ll= 7h= X0l ULt W HRE =

[0 ZoM, L= BATHI0| 2 20| HaA=X] H2RI0 6l
A=SHEA, L= &7 8X|1 JTEel EAS YRt 22U X
AP7H2 HHEHOl U 7t0) EEAEl= M2, 1 EAlE fSotd 0S50
ZEX| = ROIUL

>~

> @ ME LEHE BAT2OR SHEA Walking0] X 211
HX|AL through the thick snow7} 0|0{&{0F StCt.
® "with + (L)AL + AL (EAPE ~8 H22h= S8
LIEFHTY. FAIRE 2AKS] 2H7H SS0I22 SMEAES AiCh

18 [Getting off the airport bus], | was greeted by
heavy snow thitting my face}.
» [ J= WS LEHE 2AR2C2 ‘When | got off the

airport bus'2l= 2APES 7HA51 HHE 2300t SXfEAE
{ H= A0l L2 BART heavy snowS $AIStHTt

5% ..., | wondered [if coming to Moscow was a
mistake].

» [ J= SAt wondered?| SX{012 MOI HALHO|H, &AL
ife ~QIX| OFdX|2h= S8 LIEHCE [ JoilMel F0i=
SHAE coming to MoscowO|Et,

REVIEW TEST 04

1@ 2@ 3@ 4 5@ 6® 7@ 8 heard something
make 9 asked me to check 10® 11® 12®

3 (1) You seem to be (2) You are not old enough to
travel 14® 150, @ 16Q 176 18® 19 @ 20 ®
21® 22 @ 23 @ surrounding — surrounded 24 her
staying 25 chatting 26 Highlighting, is, remembering
27Q 28® 29® 30 ®, @

1 0 M MEEE 52 A2 M
> toRFAIE U= MO FR, TR 0 20 7H0]
it 210 Helf 02 toR AT E 2 222 EHb

> toR S| 20l 047t rof + SHZ 0122 o MO
LBt = S8A} 240F BIC.

=
ol
M

2y mrs

3 Michael2 42 HlS2iM 119 2e HAE 4
St7lol AR ~Bh LR ~oliAf & 4 QiTt

£

.

» too ~ to-v: -

4 O AAEF2 7|LE 71AI7F UL

» worth v-ing: ~& X7} Qlis

>

5 A E7 A= A ofm?
B: ZEX|.
7) take a break 412 FlatCt
» @] have to= ~8li0F SICHatE 2/R9| £0|1 LIHR|=
~5h= A OfIj?7'2t= Aol S0|Tt

O |:|

6 - I2H0|EE H2f O|FEN 7t A2 W Ho|Ck
CE) pyramid Ij2f0]=
> SAPEFOZ 2 e STA EE to2 ML FEHZ 20

< d52 SXEN 7t A0 s =Y
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60

ottt
Habout)2l SX0Z MU = SHALR| &ElZ

CE) argue ¢
> AL EXIA
2L

Lt AFRISte S2t0l aish=s s Z0Fstot,
> SAt loves SHUE SHAL E= toRHALS 2201
+ Noahe 20 2I0IAM 257 |S HRSHC
> SA refuses SHOZ toRTAES 20}

—+

ReE FUAIPEADEA Sle AE SAT
GE) make a noise 258 UL}, AT

b XIZHSA hears SE0fet %aa 20jo] 247} 55 f
SX7 0|2 AL E
OHs 22 20| OISH=X| Lioj2Y| Stols) Zorm &
b SAF askis 2XZ 2012 toRYALS 2Lt

0e

ESHAC

» can't help v-ing: ~3tX| 22 = Qitt (= can't (help) but
+ SAH)

-Lis Ho| 15 gH %2 710
ARSI Lo Metols XS HAI 2ot

> remember[forget] v-ing: (27H0f]) ~3HeA
remember(forget] to-v: (F2Z) ~&t 7

- L= 0170 Y OIS 7|07h= AS B2t

crawl 7|07}t

P X ZtESA feel2 SX012 252 2019 W7t s O
257 0|2 YHPHAL T SYLAIS 20,

- = OFSOlIH X275 S HILH FCt,

CE) empty HIRL} / wastebasket 42i|7|5

» get + EXO| + to-v: ~7t 51| SCt

< = MER AZEQ0{7F 119 ZRE{0| GX|=|A .

CE) install Mx[atct

P AASAF havers SX0{2F SXA H0Q| 27 5 Of

SXZ HO2 WIRALS 20

=

~ enough to-v: -
enoughi= &&A £= 2AS FHolM RRIC
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@ et %'E ME2Q| A2IE SO{EAL
» HAt birdsE HFE=

@ Lt= 233t o Z2E MO
» running shoes(Z217| £It Al = 2531 SHAL
® J&= 1 MojUd=
» ZAF movieE FHFE= SXEA0|CE

LOFEL7| 2ot 5
AR ZH (~517] 2I5hA)
@ %E!BI EQW '—fE S ZOtotA| =0t

> BARZ MOl toRMAL SEIEHAL (to be frank: £%I5]

FHA.

v
I
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IZI
FE
—
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> SARKY MO toRFAR HITES LIEE "&AL 70 20

O
©® 2| OHHAI= A=REE A| 2l LIZHAG
CE) grocery A==
> SARKE MO toRHAL

=
hn R |
ZE0| sliigetal REfOp| ffoh Yo £&7t=E R,
QXS

@ J4e 24
CE) ask for 275|Ct, Tt / quiet 12, 3%

> BAKZ MOl to2 ™AL 2H (~57| SHA)

® 17t 7Hof L S0l =O{URAC.

> EALKE MOI toE &AL AL} ((--3iCiL]) Z=2 ~3H0)

HICH ol 7] MZ0l|, J= =82 0 &t
> ZAHEE0| FH0| Chst 0
&AL BecauseZ Al

d4E Ui W Ee XIRES .
> LA SAE 25 S84 202 toRFAr

g & + ou,
RIZSA watchis S 20|12 HLEA E2 2AS
st

HI7} DA 2l Q102 OISO,

B pour M=Lf, KLt

» "with + ([CZAL + BALE ([TZARZ} ~8F HZ'2H0 A=
(CBAte] S0l dfeke AFsit H7t IRe X2

0z
SS0|S2 HILAIS 2O,

@ Ltz HIEOIA Xt A2elo].
©® U= oiHl 228 AZolL?
© U= 57t zH= 712 184alof st}

» SAl considers SX0Z SYAS Lt

(to take — taking)



@ Suet Ted= F221 20| XAISICY, 28 @ Lo OHiXE FEE (HoIA BAM) HeMh

be proud of ~g XrgA2{siCt shine gILiCH "HOt ZS UCH
© = =2k2 oFF d0|Ck
20 @ XM X ZES EH @ 11 0f0|= XSt HEES At
©® AT} 20 =9 U= TL0l= Mimio|ch, @ Lt= BradQl 38 E1 £
© 4ol 7471 20| &’AEF. ® AAS S2 20| 1= LAY BCL
> SAT0RNE +F- #=2 00|22 IAHZAIE 20 > @ FAU20[2tE 0|22 HEAS MOF BITE
(hiding —hidden) (shocking — shocked)
@ Lt= SuzyOil 2Jsl 01T Z2|AS 10 A}
> YOTIO2tE & - 252 Q0[0|2 2 IAHEAS 20 29 @ 52 SOEQHM O Y2 E5 S/
(wearing — worn) tap &5 TG
© AILZE Zofl M2HM L= 19| 0|HUS AUCE
21 L= 22 M35 F Y 61X 7| ol g 7153, @ 40| AW M=ol L= 71 XzHe AR
take notes 7|235tCt home remedy 7t |2
» ~GHX| 47| QoA 2le 28O S£2 LIERE = in order @ onion I
not toS Lk ® 114 g2 BYO = Moz, 01242 2 EX0]Ct
look *BH; (B)2&
22 We didn't decide when to leave. > @ 2APES F0{(My mom)2t FE9| F0(the onion)7t
2= M| m ARUX| OFE HoIA| LATL LS M= PAFES FOE Mg & Gtk

» ‘when to-vi= R ~&X2h= SOl
tCS.

ol

30 ® 1= 52 £0iA 2¢ok= O 9!%

23 A: 1 7tE 29 MSOA S2M U0 » be used to v-ing: ~ot= Ol A=5iCt / be used to-v:
B: 52 ot0f J7t IS0 R0 F= AS 1 A0 X ~5t7| Il ALSEICE. (to drive — to driving)
=zt @ L= &8 MM 7|CEl= gl 8 AlZhe Kot
A 07N LiZks 2 ofm? HF o 2|1 QU @ Jld= D2NMEES tastaf Hiry,
> @ S2M0] QlTtets S| $SEN7t H0{of ar_é complete 2H=5iCf
WHRAE 20 @ L= NS0 ARl HES ot= XS BiOstt
CE) private AFXQI
24 stay out late SH7HX| /&5t » object to v-ing: ~at= O SHH3IC (to ask — to asking)
» 'object to v-ings= ~ot= O BHHSICH2H= 520 0k ® 1 A L7F LS QI0IM 0)12{X|= AS 2oHELt
SYALY| 04} F0O{= SHALY| SIS ot FHIRA, CE) slip OIm2{x|ct

AR SHAS SYAHIZ A0 MMM LIEFHCE

25 EE) chat EstC

P Stop g RIS S S N
26 CE) highlight w=0il =7l SiCt, 2261/ impressive 44 ?I:I_HIEHDO:'AI_ |

JPNPS[e]]
> SAE 01U 22 ST EE toRFAR] FEIR 2O,
FOIZ MO SBATE B4 HFSICL SAVHHAIAHONY
SHO2 MY U= SHAR| FEIR Art
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27 X|fHof Fe MUE R 27| W20 Lh= Aol ZojRch
P BEAIES TS Me ESAE Melstn AL 30| A
HIEE FUE FAFZ0IM 2o, AR SAIE SXEAt 1 which[that] makes honey 2 wholthat] sells flowers
YHIZ o0 FE2 02 M0 A2 Y20l not, 3 which[that] has thorns 4 which[that] mixes foods
never 52 MA £HO| L& LIEHHC 5 wholthat] lives next door
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0 3Pt= J8s J2= ARoICH
1 g % DiE= 2500t
/ honey &
E AFZHOIC,
3 o= 7S 71X 2oL,
CE) thorn 7HA|
4 9MY|= SAE M= 7IA0|C
CE) blender BIA7| / mix At
5 4= FTO| Ab= o4XtoICh
next door &%
0~5 » =2 AHYAE MSAPEAFRIY If wholthat]E,
A2 - SE2Y M= which[that]S 20t 32 A YAt
ol SAHE MBALS| =01 LXIAZICE

1 which 2 who 3 which 4 who

1 OIFEE 20|22 AS0| H2 L2to|ct,

= E oo 28 %f=0|0+|:f

bury (E£0f) 2Ct / pyramid T2

3 ATIAE IOIE ZHOM| U= HOHE
CE) huge 7St / statue ZZ{Y

4 TRIOES 37| ARYH YR E

rlo
=
i)
=

=
N
o
5
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i
N
fio

AT HX| Z2ict
CE) worker €&
1~4 » 25 34 ZANBAR, M ARY Tie BACHEAL

whoE, AE0|Lt 88 M= whichS 2L,

C

1 which[that] had a playground

2 whichlthat] is on the table

3 who[that] works in New York

4 wholthat] is playing the violin on stage

&
= 2580 iZLOFC”XIL 77H e f

2) campsite 0FFX| / playground 2&%

2 11 CDE Betty?t 71 £0tote 0|0 222 EA 2/0f QUL

= Bt 210l 4= 11 CD= Betty?t 7H £0t6t= A0|Ct,

3 o At e8] FLe ZESI HY ottt JE w20
eI
= 720 Lot= o At %’—F—I L2 220t A0 BiTf
4 U= l22s AL A

I
-

S 77 Q= 1 S oftt
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14 > MBADE EACHZAEOIN 20| 2212 B T 54
BATHAIS ABSITE MBA} ARYY T wholthatlS
AH20IL S22 T which(that]S 4tk

1® O ® which[that] is great 2 ® who ® O
3 ® O ® who[that] wanted
4 ® the bus that goes ® the bus which goes

1 AL HA SO0 24 Qs S AT UL?

» © MYA music Foil ZACH
A20|22 which E& thatS 2Lt
2 A OfH 4 2 XS EU0L
B: S CII? Lt AlLHOI| Q= 20| UKA=H
CE) locate $IXIGICH / downtown AL
> @ FZ LACHYAF who?} 0]0] ZACHZAPEOA 2012
&S 5t ACT R heS E5HA MX| Qh=Ct,
T LAY + beSALQ! which[that] is7 A==
2ol
3 A:Ella, B0l Z2UAH ARIS2 ofCiof] UL?
B:of OZiSg fotd nzoiA =3101!
> ©® M} AtH(the customer)0|2 2 HAUHA who
L= thatS 2L
4 A 047I)\1 SYCE Th= HAE & 4= QULR?
B: 4l ORCZ 7h= HAQ| BigE= 200810/012.
012 a|r|oort ¢
> @, © F4 HAUZAL F2 SAt= ML 0 LX|AZICE
M&lAHthe bus)7t 321E H0]22 3017 HaH SAt

goesE 20t
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N
>
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N

MO @ 19
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A ® who ® which © who @ which
B 1F 2F

EX= MAOIM 71 Rt 228 HERCE 152 %A=
2 = 0 2

o] BHs=2 dl Eo
2l

20
APRQI AR =3B HECRM SESHFCL 12

23 Yo|X] gE O S0IZ2 YL 7IAE TSR AEE2
Jdss MA 2z 20| HEZ}Y REL, 2MENM 252
HIEZE UR AN 283E =3 B9 A4SS ol =23t
0] HEE = 329 R5S HiE ¢SS S0 B2 ds EU:
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22 which? MZstCt.

(thousands of girls)0|1

OlM 0 9&2 StE2 whot HXotct,
t2(albums)0|1! A CHHALEOA F:04
22 which7t MZs|C,

A HE 22X %*%EL
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A

1 whose 2 which 3 What 4 who 5 which

1 0|20]| Elizabeth?! I G{XH= HSALO|CY,
CE) lawyer HS AL
» MHAF The womanO| AHZHO|ZT A CHHAFHOIA MEHALS
297 93 The woman's)2 ol22 whoseS 2L}
2 OHX7} 2S5t MSE2 22 & ZAM0|| UC
CB) gym Ms
> MSAL The gymO| AFS0|1 MX|AF ate] SX0 FEs
StE2 whichg #LCf,
3 U7} SOOI ZHX 2 = A2 Lol AJA0|CY,
> ZE0| MHAL HOBZ MHMALS HE5h= HANHAL
Whatg 2L,
4 U&= 22| A0 Z1A0M 2HE AF0IC
» MSAL the girl0] AFO|D A HYALEOA SO gatg
S22 whosS £LC1,
5 11 9Ak= JamesZt 2F6HL A0 SHH XHE JHX| D QAL
> MEAF a carZt AFE0|1T BAEAENM SX0

SI2 2 whichZ 2Lt

5|

music and lyrics)0l 0 A CHHAPHOfA

2 Ot0|S2 1 aliHs

1 in which 2 to which 3 in which 4 to whom

Boston2 ZAIOICE. Mary= 1 EAJOIA] EHOJLCE,
= Boston2 Mary7t E{O{t EAJO|TY,

S ZOCy, 52 XIHHE0| T slieol] Zict
=11 00|52 XHo {

S0l 2 21 oS SO0R3MH,
3 U2 AMES0| sEHE YR |Yet 138S0] 1 gEl
HEE0 T
= H2 MES0| RE2 2FE0| BHE0 A= 1 gEds
YE I
4 T HZMS2 SFOIM g Qs I BEAST 0|01
LA,
= 157t 0[0P7|E Lz 1 H3AE2 3570 ALt
1~4 » HAAT}E TXIAS] SR HR 1 HXIAME HASAL
20l = 4= QA o, AT ML T, WAL FHOl=
EXA0 whomE MOF I HAITHHAL that H0ll=
HXIME 2 + |l
&

1 the man whose car 2 the hotel in which
3 people who(m)[that] 4 on which
5 a friend whose 6 What &= The thing that[which]

)
>.

20| A| XS ==52 A0
AHthe man)7t AtZ0| 11 BAZAFHOIM AR

> M
Ast(the man's)2 S22 whoseS MO SHCH

Mg 22| 7t50| S/UH SHo|C

> RIS BACHHAL Q0| AT T LA A= M2fe &
QAL

JSE U7t DHE|Of Z=OHRHE AFRFSO|CL

» ZAHHAL peopled]| ACB 2 MHALS HLEHEH BACHHAL
what2 £ = QICh MHAZE AFZ0| 11 ZHA| CHH A0 A
SX0| AES StEE BANEAL who(m) E= thatS £CF

oroxt= HE 2MES & U 7H0ICt

EE) armchair 2tZ2IX} / furniture 7+ / rest #{Ck *FLf,

oAt

P TACHHAZE XA SX01Q] Z2, BAUHA that Yol=

HXIALE £ 4= QlCh thatS whichZ HFREZLE MRIAE
239 B2 HLKOF BiLt,

0|2 Op7|7 OIH| Bt &= = FO0| & TFE fIgt US0ICH

P ARA HANSA whoseZt BAIHHAREONA 0[0] MEALL]
ARA FES ol QUCBR ARA hisE FEMAM XX
et

Li7F 2 R0 2 A2 W Q2E w50|AT,
» what = the thing that[which]
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o
g
%
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what2 MHALS T3S PACIHAIO|Z2 0l MHAIS E

1 what you saw 2 whichlthat] | gave
3 whose parents are 4 who[that] works
5 whichlthat] | wore yesterday

1 » what = the thing thatlwhich]: ~st= A

2 » Where is the book? + | gave you the book
yesterday.
&AL the bookO| HAHHARHOIN =20 FEts sl2 2
SN BANYA which[that]E 2L

3 @E) scientist tStx}

RO HRH0|D2 M3A} a friend2] 47221 a friend's

Ol ARA BAZAL whoseS &L

4 » M The lady?t AFOI22 F2] BAIZA wholthat]S
L0 37 EAEARE 9 SAt= MALe] 20
UYRIAZ|S 2 301E Ch worksS L

The dress was my sister’s. + | wore the dress

o
v

yesterday.
MEAF The dress7t ZIAICHEARROIA 2X0f g&te sto2
XA BAWSA which[that]S 2Lt

GRAMMAR IN READING

A ® what ® that © whose
B 1F 2T

» A @ hite SX0] 9 stz HO| URSIEE, BAES
0|Z0 MEYALS E3ISH= whatO] MESICL

AZF AHE(challenges)0| 1 EAICHEAPEOIA F0]

SIEZ that0| MEatCt,

A7t AlZf(@ man)Oll ZAHHAPHOIM AR

a man's)S o2 2 whose?} XXs}Lt,

tOFE Y2li= O Olad MO 2 O{HX|X| h=Ct,

tOIE Y2l= OFs| MO 2 AL
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..., Muhammad Ali is still thought of as “the Champ.”
» "think of A as B(AS B2 MZt5iCh),7t =-SE A is
thought of as B,.2 01 SEHO|L,

..., Muhammad Ali faced challenges [that were

SN
o2

greater than anything {(that) he had ever dealt
with}].

» [ J= t8At challengesE +Al5t= £2 BAHHALE
O|C}. XA BACHZA} thatO] A=Hel BAZALE { )7t
ME#AF anythingS =AlotH, AL anything2
EACHHAPHONA TXIA withol SX0] H&2 ST,

o~
02

He used his fame in a peaceful, nonviolent way [to
oppose racism and warl.
> [ 5 BARKE MOl toBHATZ "BX(~517| oAl

550|c
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A
1(hb) 2 3(@)

1 322 M2R sP7|7F ARE= ol
CE) semester s}7|
2 X|ZI0| LSt Ligto] a2 AMS0| Hg UL
CE) earthquake X|ZI / occur LG UO{LICE
3 L7HA”O S22 Z 7HK] 0|27t QUL
1~3 » MBATLAIZHY [ ZARAL when, A D= where,

0IRY M= whyS 2Lt

A

1 why 2 when 3 how 4 where

1 27 singst 0122 OfL?
@D fire s5tCt



» H3AHthe reason)7t OIRE LIEHHL, EAALEOIAN 2AL
HES SO 2 A EA why?t Z{ESICE

FAIZEE 7HEE0] 252 Y40 thalf 0|0 |1E Lis=

|Zto]ct,

CE) daily life Latayst

» MEAHtimes)7t AlZHS LIEFN D, BAAPEOA 2AF SEts

SIE 2 HHEAL whenO| HESIC

1>
~

-
=)
[l

Z1 HOHEO] LAl A HARHIRIXZE A Sots UaAls A3,

salesperson T3, Z# / microwave oven
HAL2QIX|
p 2UA HIES LIEHHE R 2ASA how?t HESILL,
L7t =5 ME 1 482 o2 0| 6E Mds & Aol
» M48AHThe shop)7t HAS LIEHNT, TAAEOA FAL
&S StEE AEAL whereZt MESICY,

C

1 how 2 when 3 where 4 why
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» M3AHthe day)7t AIZHO|EE THXIAL + EACHHALR! on
which &l ZAEA wheng L

Jackol @& OFlof obEl AALS

» M&lAtthe place)?t HA0(2
which Th&l ZAEAF where
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ZAHYALR! for which THAI BARAL whyS £CF

D

1

3

1 way she looks 2 city where he met
3 reason why they had 4 year when | left

care A& MLt

» SRS LIEHHE M3AF the ways EHRAL howet &
£ 2 QleLR £ F SiLiTh 2Ot BARAES] F0{(she)7t
301E H20122 SAL0] -(e)sE 22U

» M3Ak(the city)7t HA0|2 2 EARAL whereS L1,
0l LuisaS 2HHtE X022 SAk= LAS 20

argument =% / clear A5t

» MBAHThe reason)?t 0[R0|22 BASAF whyS 2Lt

IpAQ] LS 0[0F7[5H YACEE SAtE LAES 2L

4 (@F) abroad 292, a0
» M3lAHthe year)7t AIZH0|22 EAEAL wheng 2L
2 US 0[0F7|51 QOB E EAH= TAHS LY,
E

1 reason why you can't do

2 the way you got

3 the place where it happened
4 days when | feel like staying

1 » MAKreason)7t O|RO0IZE MEAL FH Ol BARA whyS
20}

2 > MAHthe way)7t HHY T ZARAZE howo L, £2
BH & + gl2B 2 the way FOil HIZ HEAFEO0| 0]0{ICE,

3 ([E) happen Z#stct

» Hd3At(the place)7t HAO[Z 2 MHAL Fof ZALAL
whereZ 2L},
4 » HEAHdays)7t AIZHOIZ 2 MAL Fof| ZAEA whens
£r}, feel like v-ingse ~ot1 HCFEhs SO SHAL

T=0IC,
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A 23 Unfortunately, the way this oil is produced has
T ]

led to many problems,
63t For instance, there was a time when forests in

T 1

Indonesia covered 84 percent of the country's

total land area,
8% But now, Indonesia is a country where a third
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of all mammal species are greatly endangered

due to deforestation,
B 1T 2F 3F

40

ox flr

JIE0IC}. RYAEAE, 0 7I50] YME= YA2 B2
Lo g 7ISOLRE S AGUATE Xi2t=d|
1M AMEER2 IAS fIE =
=24 X|HElE SOIC 0|12 V1Y & dE 39 U
2Z0[2ts ZHE 7HHERUACE. Of 04, QI=HIA0RS] &0] 11 L2t
A SES| 84%E FUE W7t URACE. S XI5, QUE=HIAOE
HA ZRFOl of 29 20| o8 I HE0l| H2otil 252 270

Xt Li2tott.

Ho o> ok
Mo

=
i

mjo
10
g
Ok
™
fjo
Job
HT
[e]]
N
10
gg
52
)
e
il
Ho
o
o

T
mn

_,_
i)

0x
i
g
%
X
)
(3]



» A 2& Unfortunately, the way [this oil is produced]
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has led to many problems.
P [ J= AL the wayS =AI5HTH M3AL Big(the
way)¥ [ ZH=2AH= howOILt, the way howz AX|
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For instance, there was a time [when forests in
Indonesia covered 84 percent of the country's
total land areal.

» [ J= BARA whenO| 0|TIE SEAER M

times A2t

v

@

Al a

But now, Indonesia is a country [where a third
of all mammal species are greatly endangered
due to deforestation].
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Palm oil is a popular vegetable oil [often found in

cleaning, beauty, and food products].
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1 the museum 2 She became a professor 3 last

Sunday 4 My friend Bomi 5 my grandma’s house
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63 Without the Earth's ozone layer [to protect us from
UV rays], ....
» [ J= HSAAE A0 toRHAIAZ 0| L2 HAIT the
Earth's ozone layers #=A|Sict,

78 These will help us block the stronger UV rays in
space ...
9% ... to help them breathe more easily ...
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~ol=8 Shfets K2 HEfH

108 Whatever happens, humans will look very different
from [how they do] today!
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A
1(a tent) [sleeping bags) and(food), Neither|l|nor(you)

[ask our parents for money) or(decide not to go camping)

2 both [adults|and|children| Not only@but also@

parents),(Teach me the rules|, and(we can play together]

0 O AIRHO X HARES S7A? ME 24 WE M4Z01M71?
B M2 24 W QHMEO| Ot Mz MUH0IM. I22
HS0ILt 315t & SHHE 7I= XA 7O
CE) principal 2% / biology =3t / chemistry 2t
» not A but B: A7t ofLjzt B
either A or B: AO|7{Lt B, ALt B & & oLt
o 1

1 Tim : 22 AZS 26 HIE, Hd, T2|10 A5 AMOF afl.
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Of 1 SIXICE LIoI7 w2lS YR, 12{0 22| 8 S &
= QAS 70k,
» both A and B: A%} B £ Ct
not only A but also B: A#2t OfL|2t B
YHE + and: ~ai2t, 22H -

0~2 » SPUESAIE ZHHCR HSE 22 HZeit.

) [}

1and 2and 3 but 4but 50r 6and

1 U= EOHE $t7HE MIoIA B2 HFIC
CB) half At
»Aand B: A 12/ B

2 Lt YETOA 3t 2240 RIX A0l PR, 12/ QX
FAS AU
»A B and C: A B 221 C

3 0= 1 HIUS XPIIR SRR B BRSO %S
wCh

CE) keep a secret HLS X|7|Ck
» A but B: A Z12{Lt B
4 Bonniez 77t Ot} HiRRLC.
» not A but B: A7} oLt B
5 0 oile, = = stz Cigsh FMIR.
» either A or B: AL} B £ 5 ofLt
6 ot AOet At & Ch ORI
» both A and B: A%} B £ Ct

C

1and 2or 3 notonly

1 U7t XZ ARE 2QH, HiE 7H20l AltE 22 A0t
= X5 AHLEES A0f2t, J2H U= 7130 AlE ¢S
Ao|ct,
plant &t
» BHE +and = If you ~, ... (~sli2t, 22{H )
2 Y7t OHY SR =0, O+ S Olshohr] =g Ao|C.
SEolleh, IZX| Y2 1 S OlaokAl =& A0|Ct,
£ +or = If you don't ~, ... (~ali2t, J¥X| ¢4OH )
LtoilA| == &2t ofL2t ME*E Ut

» not only A but also B = B as well as A

ARREOtL2}t BE)

’\ =]

68 G-ZONE

1 so | sweated a lot

2 neither skiing nor snowboarding

3 He is not blind but deaf

4 Both Anthony and Terry loved Candy
5 not only the piano but also the drums

1 EB) sweat 2 =2t
» so9 o BT Al H

2 @) snowboard A-EE(E EH’—H
» neither A nor B: A= B= ~ OfL|C}

3 (EF) deaf Xzt &o{2| / blind AlZt &0
» not A but B: A7} OtL|2t B

4 »both AandB: A2 B & Ct

5 »notonly A but also B: A#¢t OfL|2} B

(=Baswell as A)
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A ®but ® or ® notonly @ Both
B 1 selfish 2 advice
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don't work out].
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1 how the sun shines 2 when fish sleep
3 what makes the sea blue
4 whetherlif] Santa Claus is coming
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1 Why do you believe 2 news that she
3 was true that 4 whether or not we
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» that ... sweet things7t SH2=Z M0 A2| YAt The
beliefS HgsiCt,

6 Ui HMIE 2R o ZEA 227
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@ when your pet's birthday is
® whether Miffy would make a full recovery

10| OftS-E0| MY0| AHRIQIX| OR=7}? Miffye| ZOIXISS
4R, J59 FQ2 iR 9K 28 AoIch MmHEQ! Miffy=
SE 1620 M7IEE EUCh. I X4, 2 Zof 20| & M3
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4% First, Miffy barked loudly [to wake up her owners].
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78 Miffy was badly burned and had inhaled a lot of
smoke.
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1 As you, know 2 whenlas] he leaves
3 Before we begin class 4 nice weather that
5 until[till] the bus arrived 6 As soon as | send
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1 since the car started

2 Since my friends weren't here
3 as the sky is getting dark

4 As long as you live in Seoul
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18 Some movies are so scary that viewers scream and
cover their eyes.
» 50 + HEM[EA + that ..,2 ‘R[HF] ~eHA --5HEFY
so|ct,

83 So, rather than thinking about the fear {(that[which])
they felt while they were watching the movie}, ...
» { }= H3A} the fearS Alote S8 HAEAIER,

MAL the fears BAHZALE QoM SAt feltel

SEX0| JES SICh SHA AEA that F= which7t
R =S

REVIEW TEST 05

1203 40,0506070 8@ 9@

10 Hurry, or N1 ® 12@ 13@ 14 @ 15 (1) are
(2)have 16 @, ® 17D, ® 18(1)® (2) ® 19 ®

20 @ 21 ® 22 The wallet | was looking for 23 when
our school was founded 24 No matter where | go
25@ 26 @ 27 ®,® 28 Aslong as 29 until 30 so

1 0150] Cindy?! 0Xt= S8t S0ICH,
CE) be on the phone &3t F0|Ct

» MsiA A woman@ 22Z(A woman's)
o

A2 AQ7 BHUZAF whoseO|Lt,

A

mo
=
>
ol

2 Li= TE0] 234 SALL 3|M E2A & 5 SILIE 22
7{0f!
» either A or B: ALt B & £ ofLt

3 Lt= J50] I Z7I0A 0|ZA=X| OFdX| 22C,
» ~QIX| OFHX[2H= S22 T&AF whether i ifS A, ife
whetheret 22| HtZ FHoil or notS 20 4X| ooz
whether7t ZZa}Lt,

4 0|74 H "*Eﬁpﬂ St HiEs 2|0 L.
CE) work (1A S0]) Zsatct
> HEALZ} Bie(the way) Of ZH2AL howS 2Lt the
way howZ& MX| 921 howl} the way & oL £2C}

5 0|A2 W7t deg eI|5 7|0 Aol
» HEAHthe thing)E E&ct= BANHAH= whatO|Ch

6 EE) market A%

» ~olE SO QOIS 71X E4EHEARE whileO|T.



7

10

n

12

13

72

» Do you think? + Why does mom get angry with me?
#H0| do you think[believe / suppose S I

Helote 289 012 "2At + do you

01 + SAL7t EO,

tEoRRS

think[believe / suppose] +

v

‘HIE ~0IX|BHY| 9J0]E 7H B4 T &A= Although
(= Though)olct.

v
rx

&AL My friend KateOfl Thst 71501 MHE ©1
o022 A& SHOR ML} MeAK(Kate)7t A
EAMEAAM SA have knownQ| 2X0| I&g 5122

X7 BAUHBZA who(m)7t ZESHC,

el

30

> Hais + or: NgHEh IE;"'I| OtOH ...

3T

@ Lt= 4EHOIX ¢
x

Ezt

CE) emotional ZHHQ! / calm 2=t XpE6tH

» not A but B: A7t OfL|2t B

© et Lt = Cf sholct,

» both A and B: A%t B £

© Lk ZMS CHEXICE AR Skt = giRi01.

» A but B: A 12{Lt B

@ HI&Al0 1195 S2H J50| 25XE EWE 70k

5) dial st 20t / emergency HIAALE] /
ambulance 712t

» FHE + and: ~afi2f, 224 -

[27]] DW= Lol 24 Lol Z0I4E EXIE & A0]Ct,
» MEAL a ring0| BAUWZALHOIN 0 A S22
whiche 2 A ZEALOICE,
@ e JE7F gAE mol 4718
» MA@ houseZt AHBAFEOIM SX0] A& S22
that2 S2Z] BAMHALO|CE
® Thomase M| 15 SUE 1 WS AT
GE) be scare of ~2 FASICt /
bite £Ct (bite-bit-bitten)
» H3AL the dogZt EAHHALENM 0| &S ot22
that2 2 ZAHZALOICE
© 247t AlIE 3llhe Al
» that ..
Qooz =702 MO|

-

6[’_|—

A2 LS AL USACL

. accidentZt %9

e
A
FEEEN

At The newsS MHsta

t thatOICt.

@ f2l= 1890E0] X|ojT HrE S YRS A0|L,

D) build (A=,

» MHAF the museumO| AHZ0I22 EAHFEAF which
= thatE 2Lk (the museum who — the museum
which[that])

pa=Kk=)

_I_EE) 'Ef

G-ZONE

14

15

16

17

@ RE7H 07|12 Ol R EE A
@ W7t 110 deds floh ZHIgt A
CE) backpack Hi'g

> M Y2z HAAMES

(That — What)

@ L= S27F Ofd| 24T AlgS E0teith

> BARAE HAZE AN RAF 2t & of 220 0]
M BAAEOA HXIAL too]

Al MEA
2H™0| Hat3 it (the restaurant where we went to

H
gob

I3t ZAICHEAL whatS 2L

ro

t the restaurant=

2O
x
— the restaurant where we went £ the restaurant

which[that] we went to)
® 71 P27t 07|A Lst= 2AI0] OFLIOE,
» the wayt how= B7Al MX| 2711 & & SHLIDE 2L, (the

way how — the way & how)

, 1= 345 #e Aotk

@ F71 20A THEE Zotoete
» whoever: =7t ~otE2t= (Whatever — Whoever)

2 Wt %2 ot

@1s XIX[eH F=7 |2 of43HLt,

» whatever: ~ot= 210|Lt (whoever — whatever)

@ Ol Zg o2tz L= W MEis S3I6HK| ohs A0|Ct

@ J70| 2Ag Q0IRKEX| ZHofl Lh= J201 el 7120] £X|
OIUCE

CE) mean 2|05t (mean-meant-meant)
» whatever: 22 ~otH2t= (Whoever — Whatever)
TEIS 07|= Lt X{HE0tOF BHCt
> whoever: ~ote =Lt (Whenever — Whoever)
22| gtofl A= s
CE) personality 4%
» (1) =2 BAUHA who 40l QU
E4HAO0|EZ beSAE areS
(2) F0{7h BAHHARE who ..
studentsO|22 2% HH|Q| SAt=

e 870| 20t

rr
>
0@
>
_|
>
(0]
[%2]
Q
c
o
[0)
=)
2
w
N

\m
rs

Ct,
. class2| =4lg #h= The
haveE ALt
@ GAI0| LIojA 2L3HH TX|7F 017] UELIC
GE) magazine TX|
@ GAIO| LIOIA 2234 E TRt 67| UBLCE
> TRIAF CHZ0l= BAHHA thats & 2 12
HHSI,
Q@ FLt B4 &
CE) director 2
» MSHALS| A

B2 which7t

=0l 1 X172 0]20] HYLJ?

=

R2(your friend's)S THAIE £ U= A2 2R
EAHEAL whoseOIEh

@ 2o Z& FE Ul 212 01F0] #Y?

® U7t DI 2HEE U] F722] 01501 HU?

@ Lt= Donadi| 2Jah ZHE 0l At IHO|E ST A0,
(Lt= DonaZt BHE Aflh O[S 271 Al04)



18

19

20

21

> "7 BAHYAL + beSALE MEFs 4 Tt
@ 0] HIQE’%'EV" "WE ANBHELICE

introduce A7t} / author %7t/
bestseller HAEM2] ZF Laj= 2

Q@ M7t ZF THE H0|2E AU EML.

» 2R HHBEAN= Ai2kst 4 QICt

=17

@ AAA THeti= LIH X3S Stns & SHLo|Ch
university L&t / apply AIsHCH

» TRIALS BACHHAL 20|
ALt

6 3¢ H2E 712l

blond 22|

Mp1 D PACHRIANS M2E 4

ALIE BULI?

A AML?
B: crgstdal T o 7FE 7HHol 7H= Z2YUCE B M22
20] s 201210 40ofst= 7IXtE CHAER.
professor u=> / reporter 7| / theory 0|2,
> (1) who= MAPE MY O A= BAHEAO|ZZ a
reporter FOIA MHBME +A5H= BEAES
(2) whichs MlAPL A2 - S22 O &
he café Fl0fl X0{ BACHHALE Q1)

|
% Q.

s

0|& 2 QICt.
= HAHEAOIERZ
TXIAL toQ =X0{

—
(9]
—

a

12
ot

mjo
o

L7F ABC H#i2tE0IM A 11 HAIS2 0|Z2|orto|c,

CE) plate TAl / department store 815t

» MEA} The plates?t AF20|22 EAHHAF which E=
thatg 220t 2 TA|Q SAtE 019 01 LXIA7 =,
ZOI7H BACHEALE | ... store? a=AlS 8= The plates2
E40|22 areS 2Lt

—

+ R2j= =20 OfL2E AlZHE FH[ZH0]!
waste 'JHISIC
» B as well as A: A¥3t OtLI2t B (= not only A but also B)
+ = 3Y 30 MR OXIE UL,
» neither A nor B: A= BT ~ OfL|C}
< JlEE ANYES s ®Ot ot RAVHE EAV|=
» not only A but also B: A#gt OtL|2t B=
(= B as well as A)

52
il

® H|7t 420 210 7| R0 R2l= Foil AU0{oF

rain cats and dogs HI7t A4520] 2Ct

b 2A0INt ZTE LIEILD QIO asE= ~0[7| 202t
o|0|2 ML} (= because)

® 7t 57 ot Ag EUS W, L MEO| WEA HACL

beat 0|7|C}, FE2|CH ((&AHO) HCt

(beat-beat-beaten)
» IS LIEHHT QIOOZ ase ~& [f'2H= Q0|2 ML

o
inl

(= when)

22

23

24

25

26

27

28

29

30

© W 22 UMy I8 J2l= Xg 0t
CE) daughter @
» ase= ~F U2, ~ot50[2= 0|2 ML (= like)

ol

tc

» &AL The wallet0]1? 552 BEAHA which(that]7t
M2EC|0f HEZ HAHYALE( was looking for)0| 0|0{X|=
SEHE MOF STt

found ML}, E5ICH (found-founded-founded)
> QBAPE Qe QAR ER "ORAL + 0] + ALY HE{Z

===}

|. A2
’

aware of ~2 YCHQIX|s}
» ‘OlCIM ~otEat="2t= 20|
2 UL,

Ct] / toilet 2H&t4
= no matter wherezZ LIEfH

- 27t s E k=

get fired s =/t

- L] AR2 M7 ZE AIYO0| uSS #E 5 = XOICH

CE) receive 2Tt / education W<

> TAPES 0|T1= H&AL thatO|T thatZ=0| 2zt 2E0A
ZIF0], HO I&E it

20| -,

- L= O 0l¢ HHZS 21 =X 7] 20 a%sS U
AZEOAH| UL

CE) not anymore O 014 (~ %Ch) / cousin AFE

- REE MRS MS Y7| AR 0242 0| HaHgtol,
SEFEAL since?t 01RE LEHE ~0|22'2t= i,
AlZHS UEH= ~0[2 A& 02h= o2 22f ML,

U 21 AMEO[ 2t A 2HoF M U7

> TACHHAL ol
BANHAL whatS 201,

- 0] =2 2 A2 OfC]oi] AfL7F?

MeliAF the man0| ZACHZAPEOIA 01 A& 5122 F4

ZAHEAL whoE £LCt

o LS| SEYOMHX|7E AMRE XS U=25H ALt

YO K|

AZ LIEHE M3liAF the placeZt ZARAROIA SAL

£ ol22 A LA whereS L

MIHAZ} S
p A

great-grandfather &

b HAS

[eZ]
=

Mot

+Z / get a refund BERT
AUS LIEH)

receipt &
» as long as: ~ot= $t (FEQ| XX

» until(= till): ~& W7EX|

b 50 + HBAHA + that ... [HF] ~shAf --lCt

0x
i
g
gcl
X
N
w»



| R EE 2R CE e

EXERCISE

©00000000000000000000000000000000000000000000000000000 0

A

1 were 2 have 3 had helped 4 went 5 had had
6 would have arrived

1 U7t 22| OHthatH, I PASHK| &2 i
strict ¥t
> 7R DA IFES] SA beSAIY A2 QI 20
10| wereE Lt

U7t H 2ol Y3HtH, APt

i
o
Q
o
m

2 2 AU E

3 SV OEE TRoRtH, 4 558 e o AUS b

4 Stevelt w0 ZICHH, X229 KAlMS BHEE HIb|

5 LA 2137 URACHH, OlS fls A2 LS Hid|

6 U7t HAE EX|X| LRACHH, S0l HMAIZHO| =&7HS Hin.
on time AlZtg O7[X| 411, 20|

1, 4 » X At} BithElE 28 7HEE Me 7Y HAE

ALE5HH, 7HEE 19| FEfE 1f + R0 + SALS| THAE,

Z0{ + would[could] + SAHH 0|C,
2,3,5, 6 » I ARAD BITHE= US 7HEY = 7HEH
IAYARE Ao, 7H9E Btz ol Yele If
+ 20 + SAt| B AR (had v-ed), =01 +

would[could] + have v-ed,0|Ct.

1 were, would tell 2 were, could help
3 had, could take 4 would have bought, had been
5 would have been, had opened

o

1~3 » SXH AL BITHE = YE THEE e T
AHESHH, 7PEE IOl el If + 01 + SA
Z0f + would[could] + SAHIE.O0|CH

4,5 » 29 ARML} BHEE AS TS Te 7HEE IAJEE
AHEoHH, 7PEY AARO| SEHE MIf + FO + SAL
A28 (had v-ed), = + would[could] + h
v-ed,0|ct,

tHE
AY,

10

ave

74  G-IONE

C

1 had, could buy 2 had listened, wouldn't have gotten
3 had asked, would have gone

1 U S8 =0 s, JH0A M2 AE 4 8l
— Wl S8t =01 QULH, 20 HEE ME £ US HIH|
> M ARED EI0EE 2 7180k W02 JHEY IS

K| 20LM, ZZ0I &KL,

=X &
— U7t AEO| 15 SUCH, ZH0i| XK %ts HiH.
9

@E) warning @11 / get in trouble ZA0| X}t
3 TUTt Ui RESHR] 0N, L= Tt S THEIO] 7K
AACE
— JU7t Ui SERRCEM, Lie T 34 THEjo] 242 B,
2, 3 » 19| ARMDL BT = S THE6tE 20122 JHEY
WHRARE L,

D
160 20 3@

1 @ Leah7t 3RE O HA5| SHCHE ot
Ao|ct,
® Leah7t 32E O GA5| SC2tH oist AEH0| SoHE 4
UAAS Ao|ct,
> TAC| Ardit BiliE= &EE 7HYshke W02 7Y
W=7 HEGIC
2 @ Aaron0| 71
Zo|ct,

ol

HRIH Martin2 Z10i7] T TIESHA the

» HHE U T L(Aaron0] HYsHXl= A)S 7HEE M=
e ZUZS 20
3 @ Annalfl =4 20| HH JX0] 21HE #f5h SHE i

CE) assistant 2=, H|A]
> SiX Lo A 2R L2 LS JHESHE A0IEE 7HEY

A7} HESH.



GRAMMAR IN READING L.

A ® had used ® had known © would put 5 2 E'I'oot.%_l' %’EHQ-I 7}%;“:!.'
B 1F 2F 3F 47

Nancy @ SHEOI| &I5tA &, Ted! U HE EWF ISR

Ted @ T2, Li= of. stedof L4 @2 Q{01 28| He of ot
o EXERCISE

Nancy © £ Xigit] XIEIAIE 4VIS] ot T8 OB, 28 e
LUS ©id. A

Ted  : ZIeH, SHOL 2 a7t LH2IB Heks 28 LU, 1 | were tall 2| had blond hair

Al RIS S HOE 3 | had lived in a big house

Nancy : U7t L=, A=0fer AS & HE220L 4 | had driven a sports car to school
Ted @ Z2 MZf0Jor 22i0| L} MBS TFAIZR = S2t Zoi

IHM ;:EEI.E}I” 0 L7t 2771 EUTHE 2 i,
1 W7t717t 38 Z2 o).
» A @ © TP AMAD} sy |E MBS TERGHS T 2 Ut Y 02l 7IXE(EY H2|H) £ Hi).
WARtE 20D, fHo| EAMs Ip{tE8 (had 3 LH7F ACHE EolM AACHH £S5 Hig)|
v-ed)22 Mof éHit 4 U0 ARXIE S0 UAC0H Z2 G
© 7P TP 2R0|02, FHO| EAL= Twould + 1.2 »Twish + 7P89 27,5 WA & 012 2= Q= A0
EALE, 02 MO} BT}, Chet Of+lES LIEFHACE
B 1 = HISHIHE oot 0, 3, 4 » T wish + 718Y A=, E MA 40| O|RX] 2&
b SHEO|| ELA HISEZFRZ SO0t 20| Cfet OFl2S LIEHHCY

2 7= XM RIS WL
b HF2X| QIOFA] AlaHH| EtCH

3 = wBojHE WS waT) B
b RO HE HEE 2O

4 1= 0| LS 92 U,

1 had been 2 were 3 started

» Ted7} &5t Et O|R0ICH, 1 A: = X717 JARE AMY LotHz2t
B: AMY J= ZHSARAOL,
in fact At
78 If I were you, | would put some aloe vera gel on. » as if + 7P DR OFX| ~E MY
> 'SA+ RALE OIR0IT SAL SH017F AT (some FHE0 SHH0| LIEH = AR IMEE as if Fol
aloe vera gel)0|® EAZE SS9 &, Hof 2F 2 4= QUL 7189 LA Rt=s HEsH,
(= ..., | would put on some aloe vera gel.) 2 A UE MESIAdhs A2 FE 20t
88 I'll put some on [when | get homel]! B: 8. JUE Ol A7t tHE B! A S,
» [ = ME LEHHE SAFEZ SMSS WA 0219 22 shake hands with ~2 f==5iCt
LIEFLHCY, » as if + 7P W7 ORR| ~Q1 22

FEL ZLHO0| LIEHHE AIZHHIL 2282 as if Holl 7-8
IAZF ESICE 7P HAHUIM beSAts F012F AEglo]
wereE £LCt
3 A: OlH| 2|7t AJZFE AlZtoIC,
B: Z0t MFEXL
» It's time + 7P&¥! 0t7: O|X| ~aHOF & WHCH

0x
o
g
glz
[

75



C

1 had done 2 were 3 had 4 got
5 hadn'tlhad not] slept

1 > 2A0f 0|2 X] 5t AY0| T3t Of+ES LIEHHEZE | wish
Foll 7PeY mH @t (had v-ed)S MOF BHCL

2 »asthough + 7HE8 T2 OpX| ~Q1 ZiME
FEn Z47H0| LIEH = AL 2982 as if FHof
78 AS 200 7P 0N beSAtE 3019 Q1
20l &28L0| wereS 2L

3 > B0l 012 = Gl= AYS LIEHHEZ | wish Foil 7HeE

o b
v v
Q=
L w
- o
+ &
\nr

e DR um ~HC] ZiR{2
ZFHYC S4H0| LEE AZIC7H AMEZ as if FHol

D

1 it were not for plants

2 it had not been for her guidance
3 it had not been for Yuna Kim

4 it were not for his injury

0 mutelttd Rl & & £ QS Hid|
lung T / breathe &2 #Ct
A =]l

1 AES0| gt f2l= 2

2 19 X7} OFL|UCI2IH OI0|E2 ALLEX7L 8 & UUS
Bl
€E) guidance X%, QfLl / troublemaker AIZEX]

3 ot orliEEtH f2l= 1A AA0”E A RO
ZOI5HY U2 Hi.
CE) figure skating 7 A70[E

4 EX0| g0t Jamies 47IE € HiO).
) injury 24

1,4 » If it were not for: ~7t QICHH

2, 3 » If it had not been for: ~7t O*O*Efﬁ, ~7} OFLIUACI2H

0~4 » Without & But for2 BHL0| & 4= QICH

S = o
MMet S71E 22 4 ®

~7} OfL=tH

GRAMMAR IN READING

A ® were ® were © went @ had
B 1F 2T 3F

Sera : Tim, H OfZl& 11 BHIY A 5t UL?

76 G-ZONE

Tim : %! B|A! Lt ZI=6H0F 2!
Sera : HIO0Il. L= OFX| 42| 21440] YIERE7 |2t B AXH
=

Tim : & 0|l &2 al, Sera. 0|4 & S5t

Sera ! Z2I|0|H2tE Hi= AXY LSHX| OH OFME, X2 710F &
AlZHOI2f] HZHSER| ©0F?

Tim @ & AJOF? OF A AFHOIH|! AlZt0] T T Z5 Hib|!

Sera @ AL, O1Af, & AJZIO[OF. LHY & & 5= QUEOL,

» A ® 0 asif + 7F8 34 OFX| ~Q1 243
© It's time + 7Fg% T4 OIH| ~a{OF & mHCt
@ | wish + 7P opA: ~2tH £ Hid)|
B 1 Tim2 Z270|0{o|Ct,
» SeraZt TimO{IZ| OFX| Z2AH0|HQI X LUt
ooz IZH 0|7t OfLC,
2 Sera= Tim&| FT AJZHO] R|ATHLL M2f5HCt,

» 539 ... it's time you went to bed, ...

=
4 9l
3 Time 27t AYS st o £28 AZHS 4ok
M2tict

» 7819 ‘| wish | had more time!'S Salf & 2= QUL

53

EXERCISE

©00000000000000000000000000000000000000000000000000000 0

A

1 were 2 needs 3is 4 agrees 5was 6is 7 live

1 Pattykz J49 ZFEE 1 20 EAGHK| QAL
» meither A nor By= B0l 5 LX|AIZICH
2 ZE X, O4RL J2|1 020|= AtEe QR STt
» everyQ| £AlS Bh= A= O HEIE M0 and2
LIGSICRte Ha SAHS 20
3 0| M JHolel = 227t M2tshs =0 20 O Eh
» "the number of + SFAhE ~9f Af2ts S£O=2 H
Fasth.
4 2| 8 AFLSEO OfLIRE MMEHMME LY 2ol S2IaHAC
» B as well as A= BOf
5 EIX| 107HE &% X7t ZEOIA TR0
» 2HQ F0js 2 BAMWHAPE who stole ten rings7t



THF= The man2 & H4=0|Ct,

6 Lt= 80YE7 EAME B St O 2 & S HIMOTT
MZESICE

> AIZh A2, 2AU2 =Xt =

20|C2tE BiLte] JHEO 2 Hot

T T — .
7 U ZTE 3 HSH0| 25 AR OIEQ A}
» FF| 5 Y (hall1Z LIEKS T of CHSQ| BADH B0/
EH SA, B40[B B4 SAIS 20

1 like 2is 3 understand 4is 5 are

1 » both A and B.= &4 24 FFsiCh

2 > AZH 72|, FAE AL E40|02tE SHte] JHEO 2 HOot
H= FGSioh

3 »not only A but also B,i= Bl &5 UX|AIZICE

4 » 2O 0= SHZ HAHIAE | bought at the
florist’s7t HZE The flower2 =4:0|Ct,

5 spectator &2 / cheer 2tS5lCt, S5

» "a number of + S4FAhEs B2 ~0j2ts EO8 24

FZstt,

C

1 that he had enjoyed the jazz concert
2 she would get here within two hours
3 he had lived alone

4 she might sell her house

5 that snow is[was] white

1 05 O X 2AMET} OFF STk TSIt 23]
2 b= JU7t 5 AR Q10 07|12 8 Z0[2k MZEsict
[~ Mz

GED within ~OIL{OI[2101]

Lbe 17} BXt AOISICHS S OITH— ALY,

Lhe I} Hg BT RECH 21 QTH— UUTH,
1 7= 20| Blcts 242 of
M| EA} HTAIRIOIA 2
£H0| SALE S AIK M O 2 HHHCEH

20| AR HYYARHS IHYARHO R HHPICE
_/_.|\_

S

aN = -0 s
. b o
o O v ¥ v
I JB- OB OR O -Ii
l_S

2| HMY ASAME IAY ZSA= HHE,
49| LISO| EAHol= AMH(=0] STt )2l 32

| — —
29| SAE AMAIM, BAAM 25 2 & UCL

D

1 That rumor about their fights is well known.

2 Four years is a long time to wait.

3 The tomatoes in the basket look fresh!

4 Yesterday, he said he could come back by ten,

1 59 W20 thet T AR & dafx ot
» 2H9| F0j= MAIAE about their fightsZt
That rumor2 ©=01C}. (are — is)

2 492 7|CHE|7|off 71 AlZto|ct,

P A2 APF 5:0|C2tE SHLe JHE o2 Hot Ha

FFSC. (are — is)

3 HHFL Qto] EOEES0]| Alal HICH
» 2Z9| 0= TXIA in the basketO] HFEE The
tomatoes& £=0|ct. (looks — look)

4 OH 1= 10A7HX| S0ta 4 UL Y3l

RoFE

> FEO| HAAINOIEZ SHE0= IAY ZSAHE MOF 2ICf.

(can come — could come)

® Both, and ® neither, nor

Lo| 9} L= & Cf
y3aeol orad FCOIC

Z MOIC}. 2247t 7t =
2HH0, Lol RRHE HEdE

20| & [ Y=ot LB

CE) on the other hand 30|

@ » both A and B(A%t B & Cf): &4t 24 3 :
ot only A but also Bi= BOll SAte| 45 LRIAF|I22
go| 2 2 gt

® » neither A nor B(A= Bx OfL|CH): BOj| =2 UX[A|ZICH,

GRAMMAR IN READING

©00000000000000000000000000000000000000000000000000000 0

® are ©is

Mark : otg, ZIs|of B ¢iX|?

TG 1 Of Lt TS| OfLIOF, TIFO|OF Flsl= Wi (540] 2

Mark : 2, DjoH 1 1| S4 & Cf #7t M=5 1 AU0A
LR

TG 1 OA L7 MO 22 FYS 21T 7| =200, LT
A 22 3RoVIE ol

Mark : AHY, 3|7t R0 OtL|2} Y= 20| #2040 S04,

Y 1 SOt e 20| A= M A ST

g uay 77



Mark : L= o
Y CHS|= CHS 0 22| £ 5 otLi7L T2 Yo =2 g7,

7 O L7ZIOIX| UXK| SmSt ot OfLjg} WS Lf

9
Mark : ZIT? 2.

4

@ both A and B(AQ t B £ Oh): &4 =4 FFSIC
® one of + 24HAL onel| FO0{0|22 T FZFIC;

54 =

EXERCISE

©00000000000000000000000000000000000000000000000000000 0

A

1 she looked, asked, she hadn't done 2 would be

3 he didn't think, would allow her

Mike SallyoiZl J2E7t 217101 24501 Rl A 2ot
HOICHT 2ot 2& oLl S0t Sallye 2E7H Fof
=M|S SHK| LUTHT L3HCE
> =HO| M7t told2 HHOIEZ, MYE= 25 O SALY
AIMIE SRl A2 (look — looked), 20N
HAZHOZ(didn't do — hadn't done) HHYOF ST,

X|
s

HatH0lIAQ] You?t = Sallyoll LXIA7 sheZ HILH,

2E2S UM OR HHE FQ MIots SAk: 7 asks

Ct.

Sally= 49| MAMEMAM XE7|0IA St Z30(2400 H3HCE

> =HO| AN|7t said2 UHO|D2 ML= 25 Qe ZEA
will& would2 HtE#Lt

Mike= Sallyol = I 426K 2o MMM TS

o =HE MEot=S sl = 3

GB) allow A to-v: A7} ~5t= g 5=t

hand in XZ&3atct

> | N7t toldZ HHOIZE MYEE= 25 2t
SAE BHAKIZ(don't think — didn't think) BHECE
E-SHHAML = Mikedl YXIAA heZ HHLLL, yous
Sallyol 2XIAI74 her2 HRL}

1o

rx

=
P
o
o
k=l
i
]
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0
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1 said to, met 2 asked, Did you go 3 said to, Be
4 said to, Don't play

78 G-ZONE

1 JE= UOiPA 260t & AES BReTi 2t
— JEE LA "7 8 AES 2RO 20 2SHCt
> AR AT J—W*IHIE HERICE.
2 s W7 ol S0 AUSK SACL
— JEE LA " oS0l S| A2 SUCE
o

» asked= HHSIHNAM T askedO|Ch B 2ARHS
ZESHEOIM TAAMZ HHACL AS THECZ LIEH =
(last night)0] UL Z HYABHS & 4 Ut

3 = 119 oS0l £&3| stk LRCt
— Ji= 19| oS0 “£83] of."2t LY
» ZFESHE Ol toR M AN TS0 SAFIEC R HHHO]

0| =t
4 0t WA A= HIHR AYE ofk| &2t
— 0k= WAl "TAlE HIUR HYS oAl Ofef
» ZHESHES Tnot to-vis HERIENM 28 Y222 HHRCL
1,3, 4 »told + A2 ZFSH0IA Tsaid to + AlRLC2
BRI

C

1 He said that he would watch the movie the next day.
2 | asked him if he had been at school the day before,
3 He asked me what made me think so.

1 Je'esUWg IGSE S
— e 03 € 1 93t & 202k Y3t
> FHO AIMIZL 20|22 ZEA willg A wouldZ MOk
st (will watch — would watch)
2 Lb= J0I7A 4 Of| Stwof QLAL? 24T S UL
L= JI0iIA M stulol AU SAUC
» O|2AP} Ql= Q220|122 ffwhether] + F0 + SALS)
2=0|0{0F otH, 2Tt 9| yous heZ HHHOF Bk,
et BAMME HYSHHOIM LARte Q= HHRICE

ﬂJIﬂI

(if were you — if he had been)
3 = U “RA0] HE A M2s RIEL? 2k SUC
— Ti= U 20| LS T2 42top| gL SUCk
» ZITEHO] yous meZ HHYOF BT O|2APt Q229
FO{0|22 YR ER "YBAHFO) + SALE 2O,

(what made you — what made me)

1) whetherl[if] there was a fast food restaurant
2)
3)

4) they were[are] bad for her health

not to eat too many French fries
what was wrong with them

(
(
(
(



Akina: 0] Z&0f| THAEZEFO| ULI?

Larry : 2220, 220 U2 H2 AAEZAS A= O
Akina: 2201 £& 2H2tE 2017

Larry @ 2274 Ul 2Z4Z01] Lt

Akina= LarryOil7 2X0| HAEZEHM0| Q=X SUCE. =

d

00 Rt 2= JE0H U B2 FAEEE YA et
OR7ICt, JE= a0A JA0 ££& EH2tE AU S0 =

70| T1159] HZ0i| LiECn CHERHCE
CE) nearby ZX0l| / French fries ZXHEZ

(1) » A2APL gl= R ES 7HHeEO 2 HhE W= "whether(if]
+ 30| + SALE 20 AH LRI 2loh besAls LHAIKZ

[ M= SAIEYES toRPAIR
20|22 Mot to-v,E 20

0
inl
2
~
Pt
rir
i
oA
08 o
o

(4) » MEoh= ISR FIZI0] L0l LI Z4)o] SHxtole
AFHO|2 2 HTHAIM|, LAHAK| 25 £ 4= UCH Z1-sHo|
your= Akinalll ZXIAIA herZ HiELY

GRAMMAR IN READING

©00000000000000000000000000000000000000000000000000000 0

A told

B ® What is she[Jessica] doing
© whether[if] she had
@ I'll call you

Bill  :0I&h Jessical L1 0iC| Q101? Y0Pt 1 ) 5111 QX
LISH 24101,

Jessica : Lt 017] Q0! 2 & 24 Qi

Bill S OF, 124, S, L AZHoll & 9
H| SOHM™stet MOt T UFOL,

Jessica : OFL|OF, K| §lof,

Bill 2 00|, Sarah7t 25 U0 LIS L 2T EQICtT
L0l R LojoF?

Jessica : &, AHAE2 Matt THZ0|OF.

=
30
rr
X
O
rE
N
my
ro
il

—_

Bill - Matt? 1 Of7F 94?11 Of S22 2R Q047

Jessica : OF| T19 Of7[3H=0| 1 Of7} @5 LIste| M3tsHCtD
A=

Bill : 30| OFX| LiSHE| Mat2 O it JZX|?

Jessica @ 8, 2F 304,

» A HTsHES 7SO HEE M, E& tAHEX0)0]
LIEILE Q12 We tellS, THA0] SIS M= sayE 2Lk O]
AL A me)O| LIEHLE QOO 2 told7t MESICY,

Ab whatO] 012 MACB 2 beSAIE IHAKZ HHHY

H TOIZAL + 0] + SAL2| RAIR MOUE
SRS 22 0201 TIRA + BAF + F0{ ~2,2

HHECE Billo] 23t yous 20| URUIA she[Jessical

© SR} Gl YRR "whether[if] + 0 + AL
UHOAZESZ HHELE. AIM| LXI0f 2o SA=
WAANIE L

@ ESAt= 21 wouldolA will 2 HERICE,

53 Sarah told me that you looked sad earlier today.
» Sarah said to me earlier today, “Jessica(She) looks
sad."9| Z|Hsty 2O HIE 4 QlCh

_
55 =38 weE
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EXERCISE
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A

1 Not everyone 2 never 3 None of

1 $7f QAS TIXl= Y=Lt
Pl QAS 71 A2 OB E "RE ARHO| ~5lK|=
°=*l'—f( —Er H)2h= 5229| Not everyone0| HHsiLt,
2 Jim2 320 & M FAMSHA Qi
» JimO| & ¥ EMGIX| PRUC B2 “HA ~6IX| UCHet=

9| never/t MEGILY,
3 15 50| +7= Rachael2Ct 7|7t O 32X ¢t
» Rachael0| 7|7t 7} 3B 2 ‘O ~& --5}K| QL= =9
None of7t HH5|C},

1 little 2 Few 3 every day 4 hardly

1 > miks 2+ 8l= BA0IT ~7t 79 §itt= S8 LIEHHOF
SIEZ |ittleS 2L+,

people2 M £ Q= BAO[L ~7t A9 gitf
LIEHLHOF SI2 2 FewS 2L,

ot ~ every day,= ‘IHY ~&t 22 OfLCIEl= BEEHO
550|C

N
v

rr

@
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4 » hardly= ‘79| ~6X| Tt 9|D|0|Ef. o £g2f ejplg
2471 QIO O 2 notd} BHA MX| =L}

C

1 wasn't he 2 are they 3 doesn't she 4 did he 5 can
you

1 BobS A1 UAX|, 1'% | e2L?
» =0{ Bob0| 32/1& H==0|11 ZAPt was0|2& wasn't heS
20t
2 X5 =40 0tLo

f,
» 201 Those actors7t 391% 20|11

J™X)?
SAZt aren't0|22
are theyS L1
3 U3 fli= A4 S= XS Z06IX], J—X| §LL?
» 201 Your sister?t 3012 T4=0|11 AP} likes0|22
doesn't sheE £LCt.
4 Bill2 HolA 2Z30f thah 0l0F7[SEA| 4RUKI, JZX|?
» 301 Billo] 321& H=~0|1 SAZt didn't tell0|22 did
heS 2Lt
5 U=dogde
» 2017} YouOl|dd, MO
1~5 » 3FE Hoil= 259 2I22e, BEE Hol= 25

SIoIEE2E 20

X, IZA?

4

1sodid | 2 neither is my boyfriend

1,2 » A0IM S Zoi| Ciol ~& E5F DHOHOMLT 2h= THES
% If =012t SAZHEXIE So[Neither] + SAF + 301,

1 It was John that[who] paid for the meal yesterday.
2 My mom and | did enjoy hiking.

3 It is vitamin C that | take every morning.

4 Sophia does like to talk with her cousin.

5 It was on the beach that they built a sandcastle.

1 JohnO| O{X| AAHIS X|234C.
— OfH| AAMHIE X|28t 242 JohnO|ALH.
> FOE ZUEE O Tt is[was] ~ that, F2S ALZ5HH,
2 YU that 0l =Lt *E*OIJoh 2 Yxote

02 HHY 2 4 QC

ESAF can't7t MO B2 can yous L

- '—H7f i OF He= 22 HIER
= It islwas] ~ that, 12E AHSo}H,
LRSI o YS that ol ELCk
4 Sophias 1149 A=t
— Sophias 149
CE) cousin A&
> SAE ZZXE H= 'dosSAt + SAHAE, QR L0t 07t

{THAIHI0|2 2 doesE #L1

B
(@)
=
i}

> EATEE ZXE T Tt islwas] ~ thaty T2 AFESHT,
a

oy
%%
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B>
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U
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o
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Q
—
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GRAMMAR IN READING
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A @ weren't we
B ® few © did enjoy @ did

x
o, 2 we Ara@ ol G012, ci2ol A1
IARS: 4Y0f BI3H OFaHCtT 4213
2 wolx| 23012, AR HEGE HEE
O XIDIQVH 012, HRISL Xl FRE of
o 2T 2SR UUT, HE DRI,
"QATHA: DIZUIM O AT Fatof Cish 40iaHs 4,
192940] ASEIZOB OP7HHDIOIRITLE SRIL,

|
~
1o
|>
N
0z
uo

» A @ Y 20| We wereZ AIXIGIE 2 EIIOI222 weren't

weE 20t
B ® people2 4 = QU= HAIO|SZ few?} HHsILY,
© SAE 228 M= "doSA + SAHNY,.OR £L1
FSHE = A2 U712 Y(enjoyed)0|2 2 did enjoy7t
XHolrt
@ Yoi| L2 2HEN 59F I} A= Neither + SAt

=
T o
+ —’FOL TECR %* —Er’é*oilﬁ LUISAE e ER



53 As a result, it enjoyed little success.
» success= & 2= Q= BMOIZZ littleS MM ~7t 72
UCt= S LIEHHCE

REVIEW TEST 06

lcome 2Is 3are 4@ 50 6@ 70 8® 90O

10 little 11 said to, | will 12 @ 13 ® 14 @ 15 it were
not for my car, | couldn't go to Busan 16 @ 17 @
18 19©@ 200 21® 22 @ 23 @ 24 One of them
25 |t was my face that 26 ® 27 ® 28 @ 29 @, @
30 @

1 S & 329 10] Sful0 ZO{A 2L
» I & LRE UEHlE= & + of + HALY ER of 32

YURIAIZICE students?t S4+FAt0|22

2 M AIZHOIE WA S&otH?
> AIZE2 APE E4-0[CIRtE ofLte] JHE2 2 HOt EHe
Fgett. F0{7F ©4-0|22 |s7} XEsIT,

3 DXt Mz £ of st= EA0IC
» both A and Bi= &4 24 FZ0I2 2 are’t M=ot

4 -5 AYRO|OF JIZX| 4LI?
firefighter A2
- W2 SF0 M= 2 4 0], 2ZX?
Arctic 23
» SR Fol= £ BIIRES, 2R Fol= 28
BIIORES L0 BIIZ R besSAts BMEO| 4~
AIH[Ol] LX|AIZICE

- John, Hi X5 DX 94X, 2ZX|?

Jone @AM, Li= XHE ZO0t6fl. SHRITH H A= ORAIX] 2L0F,
Liz @ L= QF OMM. & & ORARE L 50| Oi=AHE,

John : Lt&= Jaf, 7txH

@ Lizke E3H XHE OAX] Q=L
@ Lizke GA| AHIE OAIX] =L
Q® Lize =L ALE O Z0t6H
@ Liz= 7S HokX[Ct John2 XIS BHCL

® Lize 7HIIE Z0IoHX| EUXL XIF2 %O@EL
» Neither + SAF + F0{: ~ E5t -

10

n

12

b & OfNE AE BEAHEE O o2 S (s

[ [l

Gl

CE) cancer &
> 0 A0l BIthElE e 7Hgst JeEz TR
IAAZES 200 7P AR E If + O +

WA2RS(had v-ed), =0 + Would[could] + have
v-ed,Q| HEHZ 2L,

Norae OFX| Xt7(7t L Q1L
» as if + 7FEE 0p4: OFX| ~
74 0N beSAE

| 24X 0[0F7|3HL.
A

18, 20 A

r° ro I

it
S
=
D
@
-

in}

2| AOAY
AIZtO|OF.

» It's time + 7}

FO7tR1 A0, 22| 00|52 flall =S AlOF &

IA: O|R| ~oHOF 2 ufCt

o LEQ| OHIFER 77| Qfalf DY ATt Z0f 221710 ST LY
OMIE= 530] QICh A0 a|H|olE7 QoM £5 Hif|,
» | wish + 7F8 244: ~2tH £ Hig|

8 Qo ZH7H 42| AL,

furniture 7t3

> ~7t HO| Qittet= 289 2 LIEUL, A8 2= HARRI
furnitureZt M £ Gl HALO|ZZ littleS Lk

KellyZ7t LIIA FAE & 7EMQ2CHD L3HCE

= KellyZt LI “LH7t FAS & 7EMS7|. 20 2h3HCt

» told= ZTsH0IAN said to2 HHl“:f CHEARRE AIMIE
5|t QIZES(" ")2t0| ‘2L she: Kelly A4S

7127122 12, IS ZSAt Would‘— will2 HHRCE

rFotuU7t, MAF =14
=a

GeEH R 71K

U7, EHERSUMN?

awards ceremony Al&f4! / somewhat Cta

» Dafews Z3 UMtE 39| AD)0|H S+HAIS
A5t (a few quiz question — a few quiz
questions)

@ each?| 42 W= PANE O HEZ 20
(Each persons — Each person)

@ ~9 RA'E UEHE HE2 "the number of +
S23AL0ICE (A number of question — The
number of questions)

@ every?| A B HAE e EIE 2O

® "HH & YRE UEHLE H(Half) + of + AL B2 of

CH2ol FAOl SALS LXIAZIE (is — are)

rir

g

0x
i
g
%
X
©
-l



13 © JUE Mo, 2ZA 2Y? 20 » IHA9| Y& HiiE= ES JHgots A0I122 JHEH

= QAR
CE) pregnant 24let WHYARE 0
@ 9™ MHolof, OFX| eLL?
@ 4| ¥l ma|of UX| LX|, JHX|? 21 CE) participate in ~0il Z7foitt
@ Nick2 Zsts &t 104, JZX| 4L? » SEEHS ASI0 BE[E] ~8F A2 ofLCH = £S5
film Zgsict LIEF =~ QUCH everyQ| A1S Bh= HAts H HHIZE
® 1 3|9 o o, JZX| 4LI? 2o
» YR Fol= 289 RIRIRES, 28R FHol= 38Y
H2Il22S 20k (@2 is, LIHX|= isn't) 22 A H 7 LA AXNLS RHCHa Stblsh,
B: 2 M&0 Jls HoA 2 XA L3Hod!
14 JakeZt JHOIA "WYY 2oUS & A=0[L?"2 SUCH @ > SAE ZZ5HH 'doSAL + SAHRY,S 2Lt
= Jake7t 20| CHSY 2AE & AIEQIX| SAUCE IAAIMOIZZ didS L0k
» R ES THHSHO = Tetel I 'OIRAL + 0 + SAL
SEfO| ZHHOIREC R HEPCE ESL QIERES(" ") OF SAI 23 @ U7} O|Z2I0t0fM 4t i H2 OHSECE
AHIE YXIAIZ HHAMZ 2CE 2Atomorrowe the > FO7 XA LAUHBEAE | bought from ltalyel £412
next day £ the following day2 HHELY, Bt= The mugs0|22 £ SAtS 2L, (looks — look)
© QMOZ 7h= Hi 0[0] IHRIZIUCE
15 » If it were not for: ~7} QICHH, ~7} OHL|24E ) sold out 232
» Z0{E MXIATE for Incheon? =41 2h= The tickets
16 @ Lt= HAIZHo| 2E5] HOME EHCH 0|22 24 SAt were?t MESICL,
on time AlZt2 O{7|X| &1, F2foj| © OrAE 89l Lisaz &4 £ O010|C|0f7} QUL
@ ReEl= M2 79| Z2 K| Y=L » 07t MXIMT on the marketing team@| £=4lg =
@ Janet2 147t 04710l HAS EfTI & Zi0[2f 0 UFHCL Lisa0|22 SAte] 321 Ha3g 20t (have — has)
@ = 3|900f FAlgt o UCHD MZIHC) @ F2o O HES MFEES UELL
® W Hsdsl 93 S O 11 F3tE Z0I5HA| §h=L. CED scare @t
> @ FHEO| AMZE 20|22 BLHHO| ML BHZE MOF » 017t MX|AHT at the front gate? 412 & The
3tk (is — was) dogs0|22 54 SAIE 2L (scares — scare)
17 H|37| B 42 HIMCH JZ4S0] o ¢ O|gto|atH, 24 @B accuse ~ of ... ~S 2= 0|RE TLUSILH/ spy ATHO|
ZUDICH oetolof Z Sl » "one of + £4+FAhE ~S0| StLtEts SS0|C) 2X0i|A
> S S0 HtEE YE 78S 1Y 0B, one0| FO{0|22 wasS 204
FHO= "IN RSAF + SAHEY,S 20 7HEY A0IM
IfHo] beSAtE F0{2] =2+ QIE0| EA IOl wereZ £LF 25 » FOILt, SX0f, 2A(F)E LXE M= It is[was] ~ thaty
TE2S AM25IH, X5t A2 U that QH0fl £ct,
18 &f Lol 9oz Hl2|2f R&til 2EGER| UL 7L AlZtS UHAIKO|EE beSAtE wasE 2L,
UUCEIH, T S EY.
b POl AE0]| BITHElE US 7hESHE 71EY U AR0|1D R, 26 @ Kate’} ot #+&5t= H20IE XGHEANM & A2
IfHol= SAR IARRSS, FHE "HHY ZEA + ORI AL,
have v-ed,S 2Lt @ Kate?t 8t #+25t= H20IE OfX 2 22 X|SHEA0|UCE
@ OfHl X[GFEHIAM 3 F20[7t 125hk= A2 2 A2
19 A: Lt OfHl TVOILM F2 HAE|HES FH01. Kate®iCt.
B: J%H01? Ltz gt=d. @ Kate= OfM| X[SFEHOIA & 7 Z5H= F2012 HULCL
A O MZIZH01? 1 HUAHHO, T2 EX= EUO. ® X|5HES0IM KateZt #&ohk= XS 2 A2 & FH20|UCL
B: U&= J3=0. XIRiCz2t €D beg 7t
> AOIIA| BF L0l| CHo S0 S B2 So + SAL+ » ®= H20[7t OH KateZt #+Z3H= W82 E LIHX|2}
FOL2, BHEM 528 42 Neither + SAL + FO0L,2 CH=ct

LIEFUHL}

[l
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27 JimO| LIoj|2| M2totx] 2ATEHH, H @5
TS| JoiHFS H.
> LIEA J7HY IAtE X0 HO{0F StE2 s SA
WARZHE 20 (@ If Jim didn't — If Jim hadn't)

ol ojHLio| MAIS

28 A:

A:d2nd XE*EH |-H ”e*% AL AL W7F HeHE = o

> %%—E—% JHEo 2 HHE e FFE2 SAHE™ES

toFMALZ HHELY (drive — to drive)

29 » SN J&0 SitiE= Y
IFH0ll= SAtS] IAZE, FEOIE "™ S+
SARY. S 201 7P W0l IfH] bes

olZ ™
5ot QUZ0f 2AHRI0] wereZ 2L

30 @ 2| OMHX|7} O2HH L= 3571 2 Hi|.
© W7t 1 ofs HRACEE 7t O S Hiol.
Q@ U7t L &0t
7) position &, HX|
@ 2tof Taylor7t of& g MHZ|A| QACEIH L=
YAS =,

JEEH

promise 2f, WA

® 07t 1 BEOME O U8 AZCEIHE J= HMAIZH J2s
2 = AUAS i

> @ LAS HEo| BiE= Y 7HH5tE 4
AARTE HHGILE (took — had taken)

0|22 715

2 U7t Xig OfEA L771=X] ool B,

3 TEST 01

1

19,8, 203,®,6 3@ 4@ 5(1)®,®(2) ® ®
(3)©,@ 6@ 7 (1)rarely (2) often 8@ 9@

10 She can't be Nick's girlfriend 1@ 12® 13 ®

14 families whose houses were destroyed 15 ® 16 @
17 (1) is (2) likes (3) speak(s) 18 (1) To be (2) write

(3) (to) keep 19 ®, @ 20 @ 21 @ 22 was made fun
ofby 23@ 24® 25®

@ ottt @ A=t Q@ sttt @ RAl5IL ©
» @ cut-cut-cut
@ sing—sang-sung

el

® run-ran-run

o
>
100
o
ﬁ
o
B

Jn
=
(=}
c
0

i*%%‘% -S2 JEJLMEE 30*%* Ch FSBICE (are — is)

—’F—O1 tin the gallery9 Alg Y= The paintings0|22
=4 FFEt. (is — are)
@ 22| OfHX|2} L= HAIE St
» =0{ My father and 17} 240|222 SAFRIHS MOF SHCt,
( njoys — enjoy)
22| ORI e 01 So5| Lottt

—’F—O1 Our design team0| 391% H=~0|2 2 SAtS| 3013
H=3S MO St (work — works)

@ 11 Ars 1kgoll BT,
@ 22| L= F20| MLt

® 1 gslo| goe = Tt

@ HIR7(0f 7 412 2lof= RoUYLIF?

® = o 92 He A Hm ARZo|ICt

» @ HE Uiz} 0|2 Y0jl= theS 20[X| Q=Cf B 0f2] 7o
Ho|Lt F(states)7t B0 BILIQ| 27IE 0|R= HRE theS
goict

@lzl ®[s] ©[iz] @ [iz] ® [z2] © [s]

P 2450| 25 He)sE RAS FolME R4S 212, 242
Holss 248 [s]2 gy [s], [z, [y], [f], [ds]
SO| LSOE BLE= YAME 25 -esE [iz] 2 €33



6 @ Wendyol/l & 20| do{HEX|e 220, 10 » can'tlcannotle ~g 2|7t giCt2l= SO& i Zst
@ Wendyoil7| £& 20| Yolxts 2| Gich 23X £&5 LIEHIC
@ WendyOilAl £& 0| Y0i5tS0] SRIICE
@ WendyOi|lA| £& 20| Q0{t0{0F LTt N Zg S| ME0l, Lh= 2 A0 Ee S0{E UL
® WendyOi|Zll 2& 20| LOJLIX| LU0 FACH. EED direction Y&, fIx|
P TR2EAF+ have v-ed, FEIZ 10| CHEH FE0ILE MHS > EAE0| H0|| St 0|RE LEIHER 0|RE LiE=
LIEF 2= UCH @2 'must have v-ed;= ~0|AS0] T as EE because’t MEsIC.
ETQIClete SO I ARMO| CHEH 23St 2E[HH]S
LHEFEHTY, 12 ® AUE 2= AL E’SE.OIEL
GE) challenging =1
7 (1) Ards 7tE 3848 YU @ 1 Q= o= L9 ALEO|Ct
B: Ofl, Li= 558418 A HX| 20t 7IETI A2 & @ HHHA L= JHE o 4= AICE
HYELIA SHAE. @ LIOiI7 71 0|07 |E SHHA, = 2L
CE) greasy 7I50] %2 / upset one’s stomach HIZ0] ® XX MS0l HF AIE
LA ShCh > D2 2 FO0Z M1 SHAO|L, LK |= 25
P 7HE HEX| S0{E= 20 Noztd HE 1 & 9X| 2= BﬂHTAfOIEr. ©@, ®& 2127} HAHbaby, birds)E FHFE
0|RE 0|0p7|3t1 YL B2 sometimesELt B2 IS MZA0|L @, @= BAZO| 41 ﬁXHIAFOIEf.
LEHE rarelyZt MEstC,
(2) A: @F =7t ol HoilAl 7% Mkst? 13 - Tom2 MAV|EFS Qe 4= QiCh
B: BrandonO|2. 22| 1tx| MZ0i| Bhofl Xt MHsHR[T » be able to: ~& = ULt (58
IHYE otollL. — (28%) besSAt + not able to
P DU OFLIXICH A% Matotl AC B2 often0] HEGICE « U= XH2 71| Foj| AHLIS DIAIX] 2= Al E340]
» ought to: ~aH0f &Lk, ~5k= Al ECt (Y2 -E10)
8 @ U otofl 7|2I0] 7HE Eo| SULCE — (28%) ought not to
@ AR 201 T2 M7} UCE « 4 1 2K OAIX| &= 2 E301.
Q@ AL O He IE2t 220l UL » had better(= 'd better): ~st= 2l ECt (92 - 510)
@ S22 RALCE 28l Of M2 WHHE 2Q6t QI — (23%) had better not
® L2 o SSEO M07L O =5 ACh
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